% VELJAN

VTXBB

VT6BB

VT6CB

VT6CC

VT6CCSH

VT6DC

VT6DDS

VT6EC

VT6ED

VT6EE

VT6CCM

VT6CCZ

VT6GCC

VT6DCM

VT6ECM

VT6EDM

VT7BB

VT7QCC

VT7DB

VT7QDC

VT7DD
VT7EB
VT7QEC
VT7ED
VT67BB
VT67CB
VT67DB
VT67EB

VT6TEC




HIGH PERFORMANCE VANE PUMP VTXBB

VIXBB 1- B09-B11-1 R 00 - D 102 *

Series L Modifications
Mounting Port connections
1-SAEA
2. SAEB CODE S P1 & P2
. D41 O DA SAE 12 1 1/16"
Camring for "P1" & "P2 00 | 5 SAE 4 bolt 12 UNF-2B
Volumetric displacement cm® /rev (in® /rev) ol (UNC) 3/4" SAE 4 bolt
B02 = 5.8(0.35) (UNC)
Bo3 = 9.8(0.59) - 2"SAE 4 bolt | 3/4" SAE 4 bolt
Bo4 = 12.8(0.78) 0 (METRIC) (METRIC)
Bos = 15.9(0.97)
Bos = 19.8(1.21)
Bo7 = 22.5(1.37)
B08 = 24.9(1.52)
Bo9 = 28.0(1.71) Seal class
B10 = 31.8(1.94)
Bi1 = 34.9(2.13) 1 - S1 (for mineral oil)
B12 = 41.0(2.50) 4 - S4 (for fire resistant fluids)
B4 = 450(279) 5 - S5 (for mineral oil and fire
resistant fluids)
Type of Shaft
3 - Splined
Direction of rotation (view on shaft end) Porting combination
R - clockwise 00 - standard
L - counter-clockwise
00 01 02 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 P1 P1 P1 S-P1
—9 —3— —9 —3— —=— s —=- = —S—
@op | 9s (o) |s@od | (095 (O | s@OPr (Odre
S S
08 09 10 11 12 13 14 15
S-P1 P1 P1 P1 S-P1 P1 P1 P1
= —Ea— —o— —S —O— =) — —o—
f h : : H 7 i S @
P2 P2 S-P2 P2 S
S: Suction port P1 & P2 : Pressure ports
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
P’:ﬁ"e Series | Displacement Vp | 5= 0 bar (0 psi) |p = 140 bar (2000 psi)|p = 210 bar (3000 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)[p = 210 bar (3000 psi)
in’ /rev [cm® /rev| 9pm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
B02 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 21 - -
B03 0.59 9.8 3.88 14.7 29 11.9 - - 0.67 0.5 3.62 2.7 - -
B04 0.78 12.8 5.08 19.2 4.33 16.4 3.97 15.0 0.93 0.7 5.23 3.9 10.06 7.5
B05 0.97 15.9 6.31 23.8 5.55 21.0 5.18 19.6 1.00 0.75 6.64 49 11.2 8.3
P1 B06 1.21 19.8 7.85 29.7 7.12 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
A BO7 1.37 225 8.92 33.7 8.17 30.9 7.80 295 1.20 0.9 9.05 6.7 14.02 10.4
B08 1.52 24.9 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 7.5 15.69 11.7
P2 B09 1.71 28.0 11.11 42,0 10.37 39.2 10.00 37.8 1.47 1.1 11.94 8.9 23.60 17.6
B10 1.94 31.8 12.61 47.7 11.87 44.9 11.51 435 1.6 1.2 13.0 9.7 26.0 19.6
B11 2,13 34.9 13.85 52.3 13.09 49.5 12,72 48.1 1.7 1.3 14.0 10.5 28.0 21.0
B12 2.50 41.0 16.27 61.5 15.53 58.7 * * 1.8 1.4 15.02 11.2 * *
Bi4 2.75 45.0 17.86 67.5 17.12 64.7 * *x 2.1 1.6 15.42 11.5 * *x

-- Not to use because internal leakage greater than 50 of theoretical flow.

* B12= 210 bar(3000 psi) Max.Int
** B14= 175 bar(2500 psi) Max.Int




HIGH PERFORMANCE VANE PUMP VTXBB

INTERNAL LEAKAGE (TYPICAL)

(16 6
—— 24 cst
(135 —
—_ e 10 cst
E_ P1-P2
S
(11) 4
E .
2 e
£ V4 P1-P2
o (08 3 A
= /
x /|
3 /
— (0§
] ©6) 2 /
: yd
H /
.2 %
= (031 -
/
//
Yz
0 50 100 150 210 240
(725) (1500) (2000) (3000)  (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50 of theoretical flow.

Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

5
7777777777 n = 2500 rpm

4 | - n=1800rpm (24 cSt)
§. n = 1200 rpm E
< =
Qs z
a P1- P2 £
o w
= 2 — = = T
$ ] e - P1-P2 b
o -1
m -

L e —— -

e - P1-P2
0
35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

*¢ VELJAN

NOISE LEVEL ( TYPICAL)
VTXBB- B10-B09

70
N ‘
-
< Inlet pressure 0.9 bar abs
< Viscosity 32 ¢St L
Q & n = 1200 RPM -
- ———= 1 = 1800 RPM
£ Lw=Lp + 8db (A)
- //’
-~ e
—_ -
< w -
K-} -
T
-
°
>
2
(]
@ 55 e ——
[}
=
g
=
50
0 10 50 100 140 175 210 240
(145) (725) (1500) (2000)  (2500)  (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(350) 1540
1T
(300) 1335 L 1f

Shaft keyed N° 1

(250) 1100

(200) 900

(150) 660

(100) 440

(50) 222

600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)
Maximum permissible axial load Fa = 800N (180 Ibs)




*¢ VELJAN

a1
21]
:
o
=
=]
o
w
<
>
w
)
2
!
=
o
o
LL
o
w
o
T
S
T

gvl | 99°0 - - |SS'LOL/09°LOL| 66°€/00'1 8 cc'L | ¥'e8 | 9¢°€ 6 | LEO | LCh S0 vk | ¥L'S |SPLL | L8'9 |eaaxlA
Gcec | 98'8
- -- 2L | ¥P'0 | 0928/5528 v2'€/G2 € Ge 86’0 | 668 | €5°€ 19 ¥20 | CHL | ¥¥°0 |[290L ] 8LV | OEL | LL'S | LEEXLA
wiuw sayoul wuw sayoul ww sayoul ww sayoul wuw sayoul wuw sayoul ww sayoul wuwi sayoul wuw sayoul wuw sayoul
13AON
cao M 1do /A ) SY v €V (44 144
SNOISN3NIA
(00k1)
‘bseey (3vS uou pahey)
I 8p0D Yeys
! \”u)u w
sle Bla — I
5l 9 §|o
g8 Ny
298X LA 10} 8]4oid w 5|* h
D i Q e ]
\A\ K& L Q L
= —
. NEN
3|© 3R — IR
200 | - =|®
(2'89) (9'88)
v 622 N v ab'e
av
[
)
1 "eip Jofepy
a|bue ‘ssaid 08
uiest g1 d'p 2e/9k (.GPXS"1)
agevr-1 sselo (208) ™ SPX90°0
1eys paullds ainjoau) [
€ 9poD Yeus
(8°1€)
3
(sGtX5'1) S e
o Bl (€08)
GPXS0'0 ®
(£62) g a 0C
SLL m P
(r'1v) nl&
29t L

144




HIGH PERFORMANCE VANE PUMP VTXBB

Port Connection : 00

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

@77

2.0
(50.8)
1/2-13 UNCX0.94 (24) dp.
4 HOLES
Port Connection : 01
0.87 20.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

5| 8l 5|
2 =S 2|2
,
3/8-16 UNCx0.74 (19) dp. 3/8-16 UNCX0.74 (19) dp-
THOLES 220 4 HOLES
(50.8)
1/2-13 UNCX0.94 (24) dp.
4 HOLES
Port Connection : MO
0.87 20.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

¥|o o< ﬁ < |©
& |~ SIS YIS
- o 1
]
M10x19 dp. M10x19 dp.
4 HOLES

@2.0
(50.8)

4 HOLES

M12x24 DEEP 4-HOLES




HIGH PERFORMANCE VANE PUMP VT6BB

VT6BB -B09-B11 - 1 R 99 - 00 *
. L Modifications
Series
Port connections
Cam ring for "P1" & "P2"
Volumetric displacement cm® /rev (in® /rev) CODE S P1 & P2
B02 = 5.8(0.35) 00 SAE 12 11/16"
B03 = 9.8(0.59) 2" SAE 4 bolt 12 UNF-2B
B04 = 12.8 (0.78) (UNC) 3/4" SAE 4 bolt
BO5 = 15.9 (0.97) 01 (UNC)
B06 = 19.8 (1.21)
BO7 = 225 (1 37) MO 2" SAE 4 bolt 3/4" SAE 4 bolt
B08 = 24.9 (1.52) (METRIC) (METRIC)
B09 = 28.0 (1.71)
B10 = 31.8 (1.94) L Seal class
B11 = 34.9(2.13)
B12 = 41.0 (2.50) 1 - 81 (for mineral oil)
B14 = 45.0 (2.75) 4 - 84 (for fire resistant fluids)
5 - S5 (for mineral oil and fire
resistant fluids)
Type of Shaft
1 - Keyed (Non SAE) L Design letter
3 - Splined
Direction of rotation (view on shaft end)
R - clockwise
L - counter-clockwise

Porting combination
00 - standard

00 01 02 03 04 05 06 07
P1-pP2 P1-P2 S-P1-P2 P1-pP2 P1 P1 P1 S-P1
=y —o =y =y —o =9 —e— A
Oos S@ 0o O 0Pz sP2 =2
& > ©r @ @
S S
08 09 10 11 12 13 14 15
S-P1 P1 P1 P1 S-P1 P1 P1 P1
= —E— =2 =9 =9 =2 =9 S
((Ovs NE P2 o(O ¢
P2 P2 S-P2 P2 S
S - Suction port P - Pressure port

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Pr:iilre Series |Displacement Vp| p = 0 bar (0 psi) |p = 140 bar (2000 psi) |p = 210 bar (3000 psi){p = 7 bar (100 psi)|p = 140 bar (2000 psi) [p = 210 bar (3000 psi)

in® /rev [cm® /rev| gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

B02 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 2.1 - -

BO3 0.59 9.8 3.88 14.7 2.9 11.9 - - 0.67 0.5 3.62 2.7 - -

B04 0.78 12.8 5.08 19.2 4.33 16.4 3.97 15.0 0.93 0.7 5.23 3.9 10.06 75

B05 0.97 15.9 6.31 23.8 5.55 21.0 5.18 19.6 1.00 0.75 6.64 4.9 11.2 8.3

P1 B06 1.21 19.8 7.85 29.7 712 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
B07 1.37 225 8.92 33.7 8.17 30.9 7.80 29.5 1.20 0.9 9.05 6.7 14.02 10.4
& B08 1.52 249 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 7.5 15.69 1.7
P2 B09 1.71 28.0 11.11 42.0 10.37 39.2 10.00 37.8 1.47 1.1 11.94 8.9 23.60 17.6
B10 1.94 31.8 12.61 47.7 11.87 44.9 11.51 43.5 1.6 1.2 13.0 9.7 26.0 19.6
B11 2.13 34.9 13.85 52.3 13.09 49.5 12.72 48.1 1.7 1.3 14.0 10.5 28.0 21.0

B12 2.50 41.0 16.27 61.5 15.53 58.7 * * 1.8 1.4 15.02 11.2 * *

B14 2.75 45.0 17.86 67.5 17.12 64.7 *x ** 2.1 1.6 15.42 115 *x **

-- Not to use because internal leakage greater than 50 of theoretical flow.

*B12=210bar(3000psi)Max.Int
**B14=175bar(2500psi)Max.Int




HIGH PERFORMANCE VANE PUMP VT6BB

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
(1.6)6 VT6BB- B10-B04
70
——24 cst
(135 — ... 10 cst )
P1- P,Z":. Inlet pressure 0.9 bar abs
Viscosity 32 cSt
— (1.1)4 : 65 n = 1200 RPM
£ N n = 1800 RPM
& 3 Lw= Lp + 8 db (A)
c P1-P2 9
S (08)3 =
-a% - 60 e -
A I S—
g 5
3 (0.6)2 ﬁ
€ °
e 2 55 _—
£
(0.3)1 2
z
o
-
50
0 50 100 150 210 240 0 10 50 100 140 175 210 240
(725) (1500) (2000) (3000)  (3500) (145) (725) (1500)  (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow. at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5
(350)1540 L ==
————— n = 2500 rpm F
4 |- n = 1800 rpm (24 cSt) (3001335 I
—— n=1200rpm Fa /
(250)110( Shaft keyed N° 1
51
3 2
=
— P1-P2 | = (200)900
N Y B e z
2 I
o E— P1-p2 5 (150)660
s O R A e 8 /
g ------------------------- (100)440
31
o
(50) 222
0
0 35 70 105 140 175 210 240
600 1000 1200 1500 1800 2000 2500 2800

(500)  (1000) (1500)  (2000)  (2500)  (3000) (3500)

Speed n (rpm
Pressure in bar (psi) P (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs
Total hydromechanical power loss is the sum of each section at its P ( )

operating conditions.




*¢ VELJAN

HIGH PERFORMANCE VANE PUMP VT6BB

(€L

(S310H 2) 9500

~

(0°0LL)

‘0seer

\\\/

(0e2)
/82
(0'9r1)
v.'S
(SvL1)28'9
@vsoupsfey) [ ]
1 8pod yeys
(srxe'r) L
.GPXG0°0
=le -
o ©| S
2|E oS _(Skxs'L)
% 82 Tiewoo0
IO\ o °
M
\ y
(02%/52%) (818 -\
S81°0/481°0 Sel _.
.....
92)
620
(2'89)

Lee

(S5'101/09°10L)
866°€/000 ¥

(Zo1)

(20902) 9ves!L €

(00ev1L) 99921 L

14

(2d+1d) xew d x dp yeuys

(4eq x Asa/ju)isd x Aaa/,ul sywi enbao) yeys

1.

ey

(8'69)
v.2
(L'v2)
v6'2
(8'69)
v.2

(¥ 1p)

(1'8€)
Sl 6v'c

(2'88)
6v'€

[

W "elp sofey

a|bue ‘ssaid ,0e
yiesr g1 d'p gg/9l
ag6vr-| Sse|n

yeys paulidg anjoau|
€ 9po) yeys

ra

ity

(.StXg'L)

—roA AT .—

°S¥XS0°0
(e62)
Sk

(2'6)

8¢'0

(Z21)

S0



HIGH PERFORMANCE VANE PUMP VT6BB

Port Connection : 00

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

<
S
I,
2.0
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : 01
0.87 @0.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)
N 9= ﬁ N
o | N~ ~ |~
<=z S ==
I,
3/8-16 UNCx0.74 (19) dp. 3/8-16 UNCx0.74 (19) dp.

4 HOLES 2.0 4 HOLES

(50.8)

1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : MO
0.87 @0.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

N 8|S @ sle
@ | N~ ~ © |~
2= S 2=
)
M10x19 dp. M10x19 dp.
4 HOLES 2.0 4 HOLES
(50.8)

M12x24 DEEP 4-HOLES




Series

VT6CB - 022 - B08-1 R

Tﬂm?

Camring for "P1"

Volumetric displacement cm® /rev (in® /rev)

*003/B03/Y03 = 10.8 (0.66)
005/B05/Y05 = 17.2 (1.05)
006/B06/Y06 = 21.3 (1.30)
008/B08/Y08 = 26.4 (1.61)
010/B10/Y10 = 34.1 (2.08)
012/B12/Y12 = 37.1 (2.26)
014/B14/Y14 = 46.0 (2.81)

*10'- Uni- directional 'B'- Bi- directional

015/B15/Y15 = 50.5 (3.08)
017/B17/Y17 = 58.3 (3.56)
020/B20/Y20 = 63.8 (3.89)
022/B22/Y22 = 70.3 (4.29)
025/B25/Y25 = 79.3 (4.84)
028/B28/Y28 = 88.8 (5.42)
031/B31/Y31 = 100.0 (6.10)

Camring for "P2"

Volumetric displacement cm® /rev (in® /rev)

B02 = 6.5 (0.39)
B03 = 8.8 (0.54)
B04 = 12.8 (0.78)
B06 = 20.7 (1.26)
B08 = 26.1 (1.59)
B09 = 31.5(1.92)
B12 = 39.7 (2.42)

Type of shaft

1- keyed (no SAE)
3- splined

Porting combination

*¢ VELJAN

0-C1-02 *

1 Modifications

Mounting W/connection variables
S = 2 ;" SAE 4-Bolt Pad.

CODE P1 P2
o1 1" SAE 4 bolt | 3/4" SAE 4 bolt
Pad. (UNC) | Pad. (UNC)
M 1" SAE 4 bolt | 3/4" SAE 4 bolt
Pad. (Metric) | Pad. (Metric)
02 SAE 16,1 5/16" | SAE 12,1 1/16"
12 UNF-2B 12 UNF-2B
Seal class

1 - S1 (for mineral oil)

4 - 84 (for fire resistant fluids)

5 - S5 (for mineral oil and fire
resistant fluids)

Design letter

Porting combination
00 - standard

Direction of rotation
(view on shaft end)

R - clockwise

L - counter-clockwise

00 01 02
P1-S P1-S P1-S

t— t— po&——

o
P1-S

3 04 05 06
P1 P1 P1
= QP2 P2o—o— =
s s s

07

08 09 10 11 13 14 15
P1 AT P1 P, P1 P1 P1 P1
=9 29 |G =9 =9 =0 99 P2 =93 =9
P2 P2 P2 P2

12

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
port Series | Izisplacementa Vp [ p = 0bar (0 psi)|p = 140 bar (2000 psi) | p = 240 bar (3500 psi) [p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
in’/rev cm’/rev_| gpm lpm gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 4.29 16.2 2.96 11.2 2.04 7.7 1.74 1.3 711 5.3 11.26 8.4
005 1.05 17.2 6.83 25.8 5.50 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 12.2
006 1.30 21.3 8.44 31.9 7.11 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 14.7
008 1.61 26.4 1048 | 396 | 9.15 34.6 8.22 31.1 2.15 1.6 14.35 | 10.7 | 22.93 | 17.7
010 2.08 34.1 13.52 51.1 12.19 46.1 11.26 42.6 2.28 1.7 18.64 13.4 29.90 22.3
012 2.26 371 14.71 55.6 13.36 50.6 12.46 471 2.28 1.7 19.31 14.4 32.32 241
P1 014 2.81 46.0 18.25 69.0 16.93 64.0 16.00 60.5 2.55 1.9 23.60 17.6 39.56 29.5
015 3.08 50.5 20.00 75.6 18.73 73.2 19.02 67.5 2.68 2.0 25.61 19.1 42.91 32.0
017 3.56 58.3 23.12 87.4 21.79 82.4 20.87 78.9 2.82 2.1 29.37 21.9 49.48 36.9
020 3.89 63.8 25.32 95.7 23.99 90.7 23.07 87.2 2.95 2.2 31.92 23.8 53.91 40.2
022 4.29 70.3 27.88 105.4 | 26.56 100.4 25.63 96.9 3.08 2.3 35.00 26.1 59.14 441
025" 4.84 79.3 31.46 | 118.9 | 3013 [1139 | 2921 | 1104 | 335 | 25 39.16 | 29.2 | 66.38 | 49.5
028"%| 542 88.8 35.24 | 133.2 | 3392 |128.2 | 3328 | 125.8 3.75 2.8 43.85 | 32.7 | 65.04 | 485
031"? | 6.10 100.0 39.68 | 150.0 | 38.35 |145.0 | 37.72 | 1426 3.75 2.8 48.95 | 365 | 7295 | 54.4
p = 0 bar (0 psi) |p = 140 bar (2000 psi)| p = 210 bar (3000 psi) |p = 7 bar (100 psi)|p = 140 bar (2000 psi)[p = 210 bar (3000 psi)
B02 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 2.1 - -
B03 0.59 9.8 3.88 14.7 2.9 11.9 - - 0.67 0.5 3.62 2.7 - -
B04 0.78 12.8 5.08 19.2 4.33 16.4 3.97 15.0 0.93 0.7 5.23 3.9 10.06 7.5
B05 0.97 15.9 6.31 23.8 5.55 21.0 5.18 19.6 1.00 0.75 6.64 4.9 11.2 8.3
B06 1.21 19.8 7.85 29.7 712 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
P2 B07 1.37 225 8.92 33.7 8.17 30.9 7.80 29.5 1.20 0.9 9.05 6.7 14.02 10.4
B08 1.52 24.9 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 7.5 15.69 1.7
B09 1.71 28.0 11.11 42.0 10.37 39.2 10.00 37.8 1.47 1.1 11.94 8.9 23.60 17.6
B10 1.94 31.8 12.61 47.7 11.87 449 11.51 43.5 1.6 1.2 13.0 9.7 26.0 19.6
B11 2.13 34.9 13.85 52.3 13.09 49.5 12.72 48.1 1.7 1.3 14.0 10.5 28.0 21.0
B12 2.50 41.0 16.27 61.5 15.53 58.7 * * 1.8 1.4 15.02 11.2 * *
B14 2.75 45.0 17.86 67.5 17.12 64.7 *x ** 2.1 1.6 15.42 115 ** okl

1) 025-028-031 = 2500 RPM. max. 2) 028-031= 210 bar (3000 psi) max. int,

*B12 = 210 bar (300 psi) max. int

**B14 = 175 bar (2500 psi) max. int.

- Not to use because internal leakage greater than 50 of theoretical flow.



HIGH PERFORMANCE VANE PUMP VT6CB

Internal leakage Qs in Ipm (Gpm)

Power loss Ps (KW)

INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)

N
™
< VT6CB- 014-B03
(6.5) 24 ¥ 75
—— 248t O ‘ ‘ ‘
----------- 10 6St @
(5.3) 20 : £ Inlet pressure 0.9 bar abs
P - Viscosity 32 cSt
-~ 70 n=1200RPM [ = o
42 16 . [ O n=1800RPM | L7 /
' s Lw=Lp+8dbA) |
= P /
(8.2) 12 3 85— E——
>
P1 2 /
1) 8 9
) // o S 60
(1) 4 o e = —
] - P2 o
- -
0 b= 55
0 35 70 105 140 175 210 240 275 300 0 10 50 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350) (145) (725) (1500) (2000) (2500)  (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow. . at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
(350)1540 —
L
’ (1]
----- n = 2800 rpm (300)1335
6 |~ n = 1800 rpm (24 cSt) Fa /
——n = 1200 rpm —_
g 250)1100 Shaft keyed N° 1
5 =
N
4
4 = (200) 900
s T
T (150) 660
........ o
2 - /
(100) 440
1
0 (50) 222
0 35 70 105 140 175 210 240 275
(500) (1000) (1500) (2000) (2500) (3000)  (3500) (4000)
600 1000 1200 1500 1800 2000 2500 2800
Speed n (rpm)
5
------- n = 2800 rpm Maximum permissible axial load Fa = 800N (180 Ibs)
----------- n = 1800 rpm (24 cSt)
4 n = 1200 rpm
3
P2
E I R B B e TR I —
T P2
T S e A N —
N I —
----------- e M ey L P2
%% 35 70 105 140 175 210 240 275 300

(500) (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section
at its operating conditions.




*¢ VELJAN

B 3
L@
c (o)
6 182
W (09 1)
v.'G
(SvL1)
W 189
=
o (62)
1] LE0
m (pakey)
NS } 8P0D Yeys
> N
o L5
»| 8 Bls u
A_._-% ,m m 3 m (.G¥XG" 1)
> Z S5p%900 N
5 Al
(L2v/SLY) (0°2g) L
_R_l G81°0/281°0 AIM sel
1]
o (2'89)
T 1€
o
I

1 "eIp Jofey
9|Bbue "ssaid ,0¢
uoesl g} d'p 2e/9t

qagevr-| sse|o
yeys pauyds ainjoAu|

(WN 651

(WNOEH)

SAI'y L 3N0OYO0L ONILNNOW

sAlI'y 96

3INOYOL ONILNNOW

€ 9po) Heys v
e L 1]
=| T oo R M)
2| s N N
e ( _ )
=9 =
2|e r [ u
a8 / L
2| ® (0'62) m
vEE
1 ! _ _ | \ﬁ M/ ,
i
| S /)
i ! (50'610)
(se'9) (1-8¢€) (9'101) “ (zg8)
XY 520 Sr o Tre
(Svp) (8'152)
Sl 16'6
(d330 02X0 L)
ST10H ¥ d330 G2 '0X2-ONN 91-8/€
MM.MV (r'52Q) (s'e90)
— 0o (SSO9 OBNIHO 2k IVS)
..... W/O ANNZL-9H/1-L
b G|
e s w_
.
me (e (4330 voxz W)
S0 (d330 0'61X0LIN) STTOH ¥ 4330 ¥6'0Xg2-ONN €1-2/+

SITOH ¥ d334 S2'0Xg2-ONN 91-8/€



HIGH PERFORMANCE VANE PUMP VT6CC

VI6CC W - 022 - 008 -1

Series m m
Use for severe duty shaft only

Cam ring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

*003/B03/Y03 = 10.8 (0.66) 015/B15/Y15 = 50.5 (3.08)
005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56)
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 (2.81) 031/B31/Y31 = 100.0 (6.10)
*0'-  Uni-directional 'B'- Bi - directional 'Y'- Bi- directional

for cold start

Type of shaft
1- keyed (no SAE)
3- splined (SAE BB)
5- splined (SAE B)
W version

2- keyed (SAE BB)
S-splined (DIN 5462)

INTERNAL LEAKAGE (TYPICAL)

(65) 24
24 cSt
— (55) 21 | - — — 10cSt
£ -
[} _ -
S 50 18 >
£ -
2 wo s
£ -
8 (3.0) 12 =
g P1-p2_~
s (2.0) 9 - I
2 (15) 6 - =1
T P1-P2_—
£ e _—
9 (10 4
E ]
0
0 35 70 105 140 160 175 190 210 240 275

(500)  (1000)  (1500) (2000) (2500) (3000)

(2175)  (2700)

(3500)  (4000)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2800rpm
— —— n=1500rpm (24 cSt)
n = 1000 rpm
4
s
3
=
w 3 T——
o L=
P P1-P2 _ — -
7] I
2 - —_
5 ° i ==
= PiP2 | ——T 77 B
S - -
e P1-P2____——
1
L —
0
0 35 70 105 140 160 175 190 210 240 275

(500) (1000)  (1500)  (2000) (2500) (3000)
(2175) (2700)
Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its

operating conditions.

(3500)  (4000)

'3

|

*¢ VELJA

Modifications

Mounting W/connection variables

P1=1"-8=3" |P1=1"-S§=2%""
P2 1" 3/4u 1) 1" 3/4:-1)
coqe Unc | 00 | of 10 | 11
IMetrid] om | wo | 1m [ wi

1) for 46 ml/rev max.

2) for 126 ml/rev max.

The large cartridge must be always
mounted in the front.

————————— Seal class

1 - 81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

- Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

Load F in N (Lbs)

(view on shaft end)
R - clockwise
L - counter-clockwise

NOISE LEVEL (TYPICAL)

VT6CC - 022 - 022
75

Inlet pressure 0.9 bar abs
‘N_ Viscosity 32 cSt
g n = 1000 RPM
o — — n = 1500 RPM ///
» 0 Lw = Lp + 8db (A) -
- _ - —
£ -
- PR
= —
< Pl
S 65 ———
2
©
>
2
o 60
2 ~—_
[<]
4
-3
-

55

10
(100)

50
(725)

100
(1500)

140
(2000)

175
(2500)

210
(3000)

240
(3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(318) 1400 —

(272) 1200 |- Fa

Shaft keyed N° 1

(227) 1000

(182) 800

(136) 600

(90) 400

(45) 200

600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)
Maximum axial load permissable Fa = 800 N (180 Lbs)



*¢ VELJAN

3/8-16 UNCx0.75 DEEP -4 HOLES

(M10x19.0 DEEP) 2.81
0.50 M4
12.7) 031 VT6CCW
. 1.60
- 1.79
E-4 HOLES E-4 HOLES 4.031, 9 (45.5) (40.7)
(26.2) 0.31 031 |
T KEY 0.250/0.248 (7.9) (7.9)
- ~ _ (6.35/6.30)
N : @ : @ 1.50 M8x0.63 DEEP

N

@8.1) {160) 0.965 FB 0.965
: (245 (24.5)
8 ?:, N | o | == | _
oflE i
é} 0.06x45° 0.06x45°

o ‘ g5 % (1.5x45°) (1.5x45°)
:E? 3 ols =g
17 == 006x5° | 8| T[a
b e > 3k
21.00 \; (1.5x45%) a8 % Shaft code 3 Shaft code 5
LE.J B 25 4 SAE BB splined shaft SAE B splined shaft
00 (25.4) Shaft code 2 Class 1-J498b Class 1-J498b
ac (Keyed SAE BB) 16/32 dp. 15 teeth 16/32 dp. 13 teeth
30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
10.46 2.29
(265.6) (58.2) 6.87
3.47 4.00 1.50 (174.5)
(88.2) (101.6) 38.1) 0.38 5.75
9.7) (146.0)
0.31 2.875
79 11l o smax. | KEY 0.1875/0.1855 (73.0)
(6.35) / (4.762/4.712)
o 3 1.25 ol&
s o 31.7) s ol
/ g
8a 92
i | o w Sz gk _ B
<5 of ~
= [ — | — Q|2
2 g 0.06x45° || . = g ;
o2 (1.5x45°) ¥le z S|=
BN S|
Sy gIB
05 :
0.05%45° | 58 3|8
MOUNTING TORQUE 45 ft.lbs (1.3x45°) gla MOUNTING TORQUE 117 ft.lbs
61 Nm) 8 (159 Nm)
Shaft torque limits in3/rev x psi(ml/rev x bar) slt‘afz Cog& 1
Shaft Vp x p max. (P1+P2) (KevedlnolSae) 563
1 12666 (14300) W
2 18972 (21420)
3 28937 (32670) 218 0.234/0.233
5 18246 (20600) (65.0) (5.96/5.93)
2,
PORT A B Cc D E ii
S | 419(106.4) | 244(619) | 3.0 (76.2) 5/8-11UNCx1.12 DEEP —— ©1.255/1.254
(M16x28.4 DEEP) e (31.89/31.87)
(=]
1/2-13UNCx0.94 DEEP 5|2
S | 350(889) 2.00 (50.8) 2.50 (63.5) M12x24.0 DEEP =|®  Shaft code S
- 3 DIN 5462
P2 | 1.874(476) | 0874(222) | 075(190) | 3.00(762) | 3/8-16UNCx0.75 DEEP 2l B8x 32x36
Q ~
P2 | 2.06(52.4) 1.03 (26.2) 1.00 (25.4) | 2.94 (74.7) (M10x19.0 DEEF)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
t Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)[p = 7 bar (100 psi)[ p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
por In¥/rev cm3rev | 9PmM | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 4.29| 162 | 2.96 11.2 2.04 7.7 1.74 1.3 7.11 5.3 11.22 8.4
005 1.05 17.2 6.83| 25.8 5.50 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 12.2
006 1.30 21.3 8.44| 31.9 711 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 14.7
008 1.61 26.4 | 10.48| 39.6 | 9.15 34.6 8.22 31.1 2.15 1.6 14.35 10.7 2293 | 17.7
010 2.08 34.1 13.52| 51.1| 12.19 46.1 11.26 42.6 2.28 1.7 18.64 13.4 29.90 22.3
012 2.26 37.1 14.71| 55.6 | 13.36 50.6 12.46 471 2.28 1.7 19.31 14.4 32.32 241
P1 014 2.81 46.0 18.25| 69.0 | 16.93 64.0 16.00 60.5 2.55 1.9 23.60 17.6 39.56 29.5
& 015 3.08 50.5 20.00| 75.6 | 18.73 73.2 19.02 67.5 2.68 2.0 25.61 19.1 42.91 32.0
P2 017 3.56 58.3 23.12| 87.4 | 21.79 82.4 20.87 78.9 2.82 2.1 29.37 21.9 49.48 36.9
020 3.89 63.8 25.32| 95.7 | 23.99 90.7 23.07 87.2 2.95 2.2 31.92 23.8 53.91 40.2
022 4.29 70.3 27.88|105.4 | 26.56 100.4 25.63 96.9 3.08 2.3 35.00 26.1 59.14 441
025" 4.84 79.3 31.46|118.9 | 30.13 113.9 29.21 110.4 3.35 25 39.16 29.2 66.38 49.5
028"?| 542 88.8 | 35.24[133.2 | 33.92 | 1282 |3328 | 1258 | 375 | 2.8 43.85 327 | 6504 | 485
0312 6.10 100.0 | 39.68[150.0 | 38.35 145.0 | 37.72 142.6 3.75 2.8 48.95 36.5 72.95 | 54.4

1) 025-028-031 = 2500 RPM. max.  2) 028-031= 210 bar (3000 psi) max. int.




HIGH PERFORMANCE VANE PUMP VT6CCSH

VT6CCSH * W - 022 - 008-1 R 00-C 1-00 *

Series m P2
Modifications
One letter can be added to
specify special parts in series Mounting W/connection variables
—1".S=31P{=1"-S = 2"?
Use for severe duty shaft only RIS :f, P1=1".5 21)
P2 1" 3/4" 1" 3/4"

Cam ring for "P1" & "P2" |cn,,,J Unc| 00 [o1 [ 10 11

Volumetric displacement cm3/rev (in3/rev) |Metricg oM [wo [ 1M Wi
*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08) 1) for 46 ml/rev max.

005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56) 2) for 126 ml/rev max.

006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89) The large cartridge must be always

008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29) mounted in the front.

010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84) L——————— Sealclass

012/B12/Y12 = 37.1 (2.26) gg?ﬁ:ﬁ?ﬁi? = 1222 (2':'? 1-S1 (for mineral oil)

014/B14/Y14 = 46.0 (2.81) - 0(6.10) 4 - S4 (for fire resistant fluids)

*10'- Uni - directional '‘B'- Bi-directional 'Y'- Bi - directional 5 - S5 (for mineral oil and fire resistant fluids)

for cold start )
Design letter
Type of shaft -
1 - keyed (no SAE) MW version P version Porting combination (see page BM-1-5)
3. splined (SAE BB) 2 - keyed (SAE BB) 3 - splined (no SAE) 00 - standard
5 - splined (SAE B) R - keyed special 4 - splined (SAE BB) Direction of rotation
X - keyed special 6 - splined (no SAE) (view on shaft end)

W version W- keyed spec!al (See Page No. BM-1-3 ) R - clockwise
2- keyed (SAE BB) V - keyed special L - counter-clockwise

T - splined (SAE J718c)

S-splined (DIN 5462) .
Q - splined (SAE C)

NOISE LEVEL (TYPICAL)

Internal leakage Qs in Ipm (Gpm)

INTERNAL LEAKAGE (TYPICAL) VT6CCSH - 022-022
70
(6.5) 24 Inlet pressure 0.9 bar abs
24 cSt ‘N_ Viscosity 32 cSt
(65 21| — — 10cSt 3 n =1000 RPM
P — —n = 1500 RPM
- 8 Lw = Lp + 8db (A) -7
(5.0) 18 > @ -
~ s 65 = =
4.0 15 - -7
- g - -
(3.0) 12 -~ E< -
P1-p2_~ g _ -7 /
@20 9 - L= g -
60
- - /// % - -
(15 6 P1-P2_— 2 r
- 3
(1.0 4 5 L
// / ]
0 55
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(5000 (1000) (1500) (2000) (2500) (3000) (3500) (4000) (100) (725) (1500) (2000) (2500)  (3000)  (3500)
(2175) (2700)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5
- — n=2800 rpm (318) 1400 —
— —— n=1500 rpm (24 cSt)
n = 1000 rpm
4 (272) 1200
s @ Shaft ket
E 3 @ 10
&° I z
2 PPz — - £ (82 00
o = L
T 2 == e = k:
) _ -
g P1P2 | _ ——— 3 (136) 600
H - A
a - Pl-P2 | —— |
1 (90) 400
—
(45) 200
0
0 35 70 105 140 160 175190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
(500)  (1000)  (1500) (2000) (2500) (3000) (3500)  (4000)
(@175)  (2700) Speed n (rpm)
Pressure in bar (psi) Maximum permissible axial load Fa = 800 N (180 Lbs)

Total hydromechanical power loss is the sum of each section at its
operating conditions.



*¢ VELJAN

3/8-16 UNCx0.75 DEEP-4 HOLES 229
(M10x19.0 DEEP) 0.50 58.2)
(12.7) 160
E-4HOLES 1.031 0.31 1.79 /
-~ E-4HOLES 45.5 (40.7)
6.2 (7.9) 031 (45.5) 031
i (7.9) (7.9)
'E 125 KEY 0.1875/0.1855
H | e (4.762/4.712)
é}\ 0.965] 0.965
o / , (045 T ess
«<| | |— 4 — JE— {_ ] —
o <8 % |, 0.06x45° _| ooexas>
- @ Bl g (1.5x45%) (1.5x45°)
sy o3
T Blg 2l
. Q) &
R - o100, L 8la Shaft code 3 Shaft code 5
= (25.4) 0.06x45° | SAE BB splined shaft SAE B splined shaft
ac (1.5x45°) " Class 1-J498b Class 1-J498b
oc Shaft code 1 16/32 dp. 15 teeth 16/32 dp. 13 teeth
(KevedlnoniS2s) 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
10.59 2.81
(269.0) (71.4) 6.87
3.85 ‘ 4.05 1.5 (174.5)
(98.0) (103.0) (38.1) 038 (154(7;50)
©.7) -
?7'_?;;) KEY 0.250/0.248 27'37:
0.25 MAX (6.35/6.30) (73.0)
| (6.35)
‘ J ‘ L 1.50 M8x0.63 DEEP 0
= | - @8.1) / (16.0) @ A
2 go E ‘ / _ ‘ = 3
! g[8 -
‘ ga g2
I I ) A B = e g2 T ‘
28 — g5 2 82 ga ‘
e | sl g g2
\ 8lg rla | I
s ! 0.06x45° || SIF T|&
(1.5x45°) als
Shaft code 2 MOUNTING TORQUE 138 ft.lbs
MOUNTING TORQUE 57 ft.lbs 0.05x45° (Keyed SAE BB) (187 Nm)
(80 Nm) (1.3x45°)
PORT A B @ D E
S |419(106.4) | 2.44(61.9 | 3.00(762) 5/8-11UNCx1.12 DEEP
(M16x28.4 DEEP) Shaft torque limits in3/revxpsi(ml/revxbar)
1/2-13UNCx0.94 DEEP Shaft Vp x p max. (P1+P2)
S | 350(889) | 2.00(50.8) 2.50 (63.5) (M12x24.0 DEEP) - 12666 (14300)
P2 | 13874 (476) | 0.874(22.2) | 0.75(19.0) | 3.00(76.2) | 3/8-16UNCX0.75 DEEP ; ;gggz g;‘e‘?g;
7 (3267
P2 | 2.06 (52.4) | 1.03 (26.2) 1.00 (25.4) | 2.94 (74.7) (M10x19.0 DEEF) 5 18246 (20600)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure . Volumetric Flow q & n = 1500 rpm | Input power p & n = 1500 rpm
rt Series|Displacement Vp|, = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
po inrev_ | cm3rev | gpm | Ipm [ gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 429 16.2 2.96 11.2 2.04 7.7 1.74 1.3 711 5.3 11.22 8.4
005 1.05 17.2 6.83| 25.8 5.50 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 12.2
006 1.30 21.3 8.44| 31.9 711 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 14.7
008 1.61 26.4 10.48| 39.6 9.15 34.6 8.22 31.1 2.15 1.6 14.35 10.7 22.93 17.7
010 2.08 34.1 13.52 51.1] 12.19 46.1 11.26 42.6 2.28 1.7 18.64 13.4 29.90 22.3
P1 012 2.26 37.1 14.71| 55.6| 13.36 50.6 12.46 471 2.28 1.7 19.31 14.4 32.32 241
& 014 2.81 46.0 18.25| 69.0| 16.93 64.0 16.00 60.5 2.55 1.9 23.60 17.6 39.56 29.5
015 3.08 50.5 20.00| 75.6| 18.73 73.2 19.02 67.5 2.68 2.0 25.61 19.1 42.91 32.0
P2 017 3.56 58.3 23.12| 87.4| 21.79 82.4 20.87 78.9 2.82 2.1 29.37 21.9 49.48 36.9
020 3.89 63.8 25.32| 95.7| 23.99 90.7 23.07 87.2 2.95 2.2 31.92 23.8 53.91 40.2
022 4.29 70.3 | 27.88| 105.4| 26.56 100.4 | 25.63 96.9 3.08 | 23 35.00 | 26.1 59.14 441
025" | 4.84 79.3 | 31.46] 118.9] 3013 | 1139 | 2921 | 1104 | 3.35 | 25 39.16 | 29.2 66.38 | 495
028"%| 5.42 88.8 | 35.24| 133.2| 33.92 | 1282 | 3328 | 1258 | 3.75 | 28 4385 | 327 65.04 | 485
031"?| 6.10 100.0 39.68| 150.0| 38.35 145.0 37.72 142.6 3.75 2.8 48.95 36.5 72.95 54.4

1) 025-028-031 = 2500 RPM. max. 2) 028-031= 210 bar (3000 psi) max. int.




HIGH PERFORMANCE VANE PUMP VT6DC

VIéeDC W - 038 -022 1 R 00 - B 1 00 *
Series = Modifications
severe duty shaft only m P2 Mounting W/connection variables
: upqn UNC METRIC
Cam ring for "P1 00 | 01 | Mo M1
Volumetric displacement cm3/rev (in3/rev) P2 | 1" [3/4" | 1" [3/4"

*014/B14 = 47.6 (2.90)  035/B35 = 111.0 (6.77)
017/B17 = 58.2 (3.55)  038/B38 = 120.3 (7.34)
020/B20 = 66.0 (4.03)  042/B42 = 136.0 (8.30)

Seal class
1-S1 (for mineral oil)

024/B24 = 79.5 (4.85) 045/B45 = 145.7 (8.89) 4 - S4 (for fire resistant fluids)

028/B28 = 89.7 (5.47) 050/B50 = 158.0 (9.64) 5 - S5 (for mineral oil and fire resistant fluids)
031/B31 = 98.3 (6.00) 061/B61 = 190.5 (11.62) L Design letter

*0'-  Uni-directional  'B'- Bi- directional Porting combination (see page BM-1-5)

00 - standard

Cam ring for "P2"

Volumetric displacement cm3/rev (in3/rev) Direction of rotation
*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08) (view on shaft end)
005/B05/Y05 = 17.2(1.05)  017/B17/Y17 = 58.3 (3.56) R - clockwise
006/B06/Y06 = 21.3 (1.30)  020/B20/Y20 = 63.8 (3.89) L - counter-clockwise

008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 (2.81) 031/B31/Y31 = 100.0 (6.10)

Type of shaft

1 - keyed (SAE C)
2 - keyed (no SAE)
3 - splined (SAE C)

*0'- Uni-directional 'B'- Bi-directional 'Y'- Bi- directional 4 - splined (no SAE)
for cold start Sever duty (VT6DCW only)
5 - keyed (no SAE)
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6DC- 038-022
(8.0) 32 80
- — — 10cSt Inlet pressure 0.9 bar abs
s N Viscosity 32 ¢St
£ o2 24 cSt - 5 n = 1000 RPM
o P ; — — n = 1500 RPM
S (6.0) 24 > @ 75 Lw = Lp + 8 db (A)
£ . 4 £ o
c 60 P = - - -
— e P2 - 2 -
) —~
O (o) 16 d — 5 -
(%) Pid _ - - A -
g’ 7 P °© _ - /
X (30) 12 - — a>, - /
g s - -~ — — 2 [ P -
2 ~ — P2 — o 65
§ (2.0) 8 P - e — 3
| @2
£ P 4 % — 2 /
€ (1.0) 4 ~ . /
Bt = — §
0 60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000) (1500)  (2000) (2500) (3000)  (3500)  (4000) (145) (725) (1500) (2000) (2500) (3000) (3500)
(2175) (2700)

Pressure in bar (psi)
Double pump noise level is given with each section discharging at
the pressure noted on the curve.

Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating

conditions.
HYDROMECAHNICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 - — n=2400 rpm [
— —— n=1500rpm (24 cSt)
5 —— n=1000rpm (454) 2000
4 T T T = — P1__
(409) 1800 —
3 P
< Shaft keyed N° 1
363) 1600 —
§ % I R R R P1_ | _
5 M
—— P1
2 ] 8 (318) 1400
P =
2 . z
T o0 35 70 105 140 160 175 190 210 240 £ (@72) 1200
g (5000  (1000) (1500)  (2000) (2175)(2500)2700)(3000)  (3500) w
5 ‘7 - — n-2100mm \ B (227) 1000
o 4 ——— n=1500mpm (2acsy S
n = 1000 rpm L P2__ | —+ (181) 800
2 - — - — 71" P2 — ==
_—______._-——-—--—"‘————— , P2 (136) 600
1 P —
0 (91) 400
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000) (1500)  (2000)(2175) (2500§2700(3000)  (3500)  (4000) 600 1000 1200 1500 1800 2000 2500
Pressure in bar (psi) Speed n (rpm)
Total hydromechanical power loss is the sum of each section at its Maximum permissible axial load Fa = 1200 N (270 Lbs)

operating conditions.



7/16-14 UNCx0.88 DEEP- 4 HOLES

5/8-11 UNCx1.12 DEEP4 HOLES

(M12x22.3 DEEP)

*¢ VELJAN

2.88
M16x28.4 DEEP VT6DCW
(M16:28 ) 0.62 (73.2) .
(15.7) 217 (83.3)
26'3‘:)1 1.188 0.31 031 _| (552
A (62.0) (30.2) = 79 7.9 (07-%1)
] =i . KEY 0.3126
{ | 150 | KEY0.3126 F 7 0.3106
q . N (38.1) 0.3106 i 2.36
H é (7.94/7.89) 9 y (7.94/7.89)
T
0.0\
\ 00|t - =
ol + H— 9 — - —F — —
o ,
Gl 25 % 0.09x45° 0|8 %
i bl 1 (2.3x45°) L
H . S22 olN < N
0.09x45° e ga 52 83
ac | 23.00/ | 21.25/ | (2.3x45°) z z - 58 218
(76.2) (31.8) Shaft code 3 Shaft code 4 MSX(??(S))DEEP 8|3
3/8-16 UNCx0.75 DEEP-4 HOLES Shaft code 2 SAE C splined shaft no SAE splined shaft ’
(M10x19.0 DEEP) (keyed no SAE) Class 1-J498b Class 1-J498b
12/24 Dp. 14 Teeth 12/24 Dp. 14 Teeth Shaft code 5
30° Pressure angle 30° Pressure angle (keyed no SAE)
11.26 3.29 Flat root side fit Flat root side fit
83.6
4.31 (286.0) 450 1.50 (83.6) 8.365
(109.5) (114.3) [(38.1 0.50 (2'1 2.4)
(12.7) 7.125
0.31 (181.0)
3.563
(7.9 0.25 MAX. KEY 0.3126/0.3106 (90.5)
/L ‘ T 6.39) (7.94/7.89)
‘ 1.94 M10x0.79 DEEP =
= (=]
35 |8 Qo (49.3) 20.0) — &l
i~ |0 ™|
[ S R ~ >
oo =
- Bm Y
LI = — - - A — - N2 Sl
- ge g3 S
~ a N -
53 (d 000x5° | s ol —  8E gl
qlE \H (2.3x45°) S s g siE
32 a2}
0.05x5° &I &g
> e =2
MOUNTING TORQUE 50 ft.lbs (13459 &§le _ i
(68 Nm) Shaft torque limits in3/revxpsi(ml/revxbar)
Shaft code 1 — Shaft Vp x p max. (P1+P2)
MOUNTING TORQUE 1 13: ft';llbs (Keyed SAE C) Alternate 1 38299 (43240)
031 (262) [0.874 (222) 3 54207 (61200)
B|2.06 (52.4) [1.874 (47.6) 2 54207 (61200)
C|1.00 (25.4) |0.75 (19.05) 5 49247 (55600)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm

Series|Displacement Vp| p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)| p = 7 bar (100 psi)[p = 140 bar (2000 psi)|p = 240 bar (3500 psi)

port in%/rev cm3/rev gpm | Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
014 2.90 47.6 18.88| 71.4| 16.42 62.1 14.78 559 | 3.08 2.3 24.81 18.5 41.03 30.6
017 3.55 58.2 23.1| 87.3| 20.6 78.0 18.99 718 | 3.35 25 29.77 22.2 49.62 37.0
020 4.00 66.0 | 26.19| 99.0| 23.73 89.7 22.08 835 | 3.75 2.8 33.39 24.9 55.92 4.7
024 4.80 79.5 | 31.56| 119.3| 29.10 110.0 27.46 | 103.8 | 4.02 3.0 39.69 29.6 66.78 49.8
028 5.50 89.7 | 35.58| 134.5| 33.12 125.2 31.48 | 119.0 | 4.29 3.2 44.52 33.2 74.96 55.9

P1 031 6.00 98.3 39.00| 147.5| 36.53 138.1 34.89 131.9 4.42 3.3 48.54 36.2 81.80 61.0
035 6.80 111.0 | 44.04| 166.5| 41.58 157.2 39.94 | 151.0 | 4.69 3.5 54.58 40.7 92.13 68.7
038 7.30 120.3 | 47.72| 180.4 | 45.26 171.1 43.62 | 1649 | 4.96 3.7 58.87 43.9 99.64 74.3
042" | 830 136.0 | 53.96| 204.0| 51.50 194.7 49.86 | 188.5 | 5.36 4.0 66.25 49.4 [ 112.24 83.7
045" | 8.89 145.7 | 57.80| 218.5| 55.34 209.2 53.70 | 203.0 | 5.50 4.1 70.81 52.8 | 120.02 89.5
050"?| 9.64 158.0 62.69| 237.0 | 60.23 227.7 59.25 | 224.0 | 5.90 4.4 76.44 57.0 |113.98 85.0
061"%] 11.62 190.5 | 76.25| 285.7 | 73.54 278.0 -- - 6.16 4.6 81.26 60.6 - -
003 0.66 10.8 4.29| 16.2| 2.96 11.2 2.04 7.7 1.74 1.3 7.11 5.3 11.22 8.4
005 1.05 17.2 6.83| 25.8| 5.50 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 12.2
006 1.30 21.3 8.44| 31.9| 7.11 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 14.7
008 1.61 26.4 10.48| 39.6| 9.15 34.6 8.22 31.1 2.15 1.6 14.35 10.7 22.93 17.7
010 2.08 34.1 13.52| 51.1| 12.19 46.1 11.26 426 | 2.28 1.7 18.64 13.4 29.90 22.3
012 2.26 37.1 14.71| 55.6 | 13.36 50.6 12.46 471 | 2.28 1.7 19.31 14.4 32.32 24.1
014 2.81 46.0 18.25| 69.0| 16.93 64.0 16.00 60.5 | 255 1.9 23.60 17.6 39.56 29.5

P2 015 3.08 50.5 | 20.00| 75.6| 18.73 73.2 19.02 67.5 | 2.68 2.0 25.61 19.1 42.91 32.0
017 3.56 58.3 | 23.12| 87.4| 21.79 82.4 20.87 78.9 | 2.82 2.1 29.37 21.9 49.48 36.9
020 3.89 63.8 | 25.32| 95.7| 23.99 90.7 23.07 87.2 | 295 2.2 31.92 23.8 53.91 40.2
022 4.29 70.3 | 27.88| 105.4 | 26.56 100.4 25.63 96.9 | 3.08 2.3 35.00 26.1 59.14 441
025 4.84 79.3 | 31.46| 118.9| 30.13 113.9 2921 | 1104 | 3.35 25 39.16 29.2 66.38 49.5
028" | 542 88.8 | 35.24| 133.2| 33.92 128.2 33.28 | 1258 | 3.75 2.8 43.85 32.7 65.04 48.5
031 | 6.10 100.0 | 39.68| 150.0| 38.35 | 145.0 3772 | 1426 | 375 | 2.8 | 4895 365 | 7295 | 544

1) 042-045-050-061=2200 RPM max.

2) 028-031- 050=210 bar (3000 psi) max. int,

3) 061 = 120 bar (1740 psi) max. int,

061 = 80 bar (1160 psi) cont.



HIGH PERFORMANCE VANE PUMP VT6DDS

Series - SAE C 6 bolts
Mounting flange J744c

Cam ring for "P1" & "P2"

VT6DDS

Volumetric displacement cm3/rev (in3/rev)

*014/B14 = 47.6 (2.90)
017/B17 = 58.2 (3.55)
020/B20 = 66.0 (4.03)
024/B24 = 79.5 (4.85)
028/B28 = 89.7 (5.47)
031/B31 = 98.3 (6.00)

*.0. .

Type of Shaft

Uni - directional

035/B35 = 111.0 (6.77)
038/B38 = 120.3 (7.34)
042/B42 = 136.0 (8.30)
045/B45 = 145.7 (8.89)
050/B50 = 158.0 (9.64)
061/B61 = 190.5 (11.62)

'‘B'- Bi - directional

- 038 - 028 -1

1 - Keyed (SAE C)
2 - Keyed (SAE CC)
3 - Splined (SAE C)
4 - Splined (SAE BB)
5 - Keyed (non SAE)

INTERNAL LEAKAGE (TYPICAL)

(8.0) 32

— — 10cSt
24 cSt

(7.0) 28

24

(6.0)

20

(5.0)

16

P1-P2_

(4.0)

12

3.0)

20 8

- P1-P2

(1.0) 4

/

Internal leakage Qs in Ipm (Gpm)

35
(500)

70
(1000)

105
(1500)

140
(2000)

Pressure in bar (psi)

(2500)

175 210

(3000)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating

conditions.

HYDROMECHANICAL POER LOSS (TYPICAL)

- — n=2400 RPM
- — — n=1500 RPM (24 cSt)
n=1000 RPM
5
< il S R .
= 4 T ==
=
[’
o
[/}
@ 3
°
S
o —_
2 2 T e ——
o - [ E——
. P2
; I
0

35
(500)

70
(1000)

105
(1500)

140
(2000)

Pressure in bar (psi)

(2500)

170 210

(3000)

Total hydromechnical power loss is the sum of each section at its

operating conditions.

Load F in N (Lbs)

*¢ VELJA

R00-A1-00 *
L Modifications
Mounting W/connection variables
SAE 4 bolt flange (J518c)
P1 & P2=1-1/4" S=4"
UNC |[METRIC|
VT6DDS 0 | Mo
Seal cl
1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)
Design letter
Porting combination (see page BM-1-5)
(00 = Standard)
Direction of rotation
(view on shaft end)
R - Clockwise
L - Counter - clockwise
NOISE LEVEL (TYPICAL)
VT6DDS - 038 - 038
N 80
; Inlet pressure 0.9 bar abs
< Viscosity 32 cSt
] n = 1000 RPM ‘
@ | -—— n=150RPM -
£ Lw = Lp + 8 db (A) _ -
5 T - /
5 7 =
T —
- —_———
T>, /
% 65
=z
8 e
0 40 70 105 140 210 240

(600) (1000) (1500) (2000) (3000) (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

(454)

(409)

(363)

(318)

(272)

(227)

(181)

(136)

©1)

2000

1800

1600

1400

1200

1000

800

600

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed N° 1

600 1000 1400 1800 2200

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)




*¢ VELJAN

7/16-14 UNCx0.94 DEEP-4 HOLES

5/8-11UNCx1.18 DEEP 4-HOLES (M12x24.0 DEEP)
(M16x30.0 DEEP)
7/16-14UNCX0.94 DEEP 4 HOLES )
(M12x24.0 DEEP) 110
119 119 3.30
(30.2) (30.2)) — (84.0)
: — 0.31 KEY 0.394/0.315
— - 9 (7.94/7.89)
+ , I~ — 2.36
— ™~ A (60.0) M8x0.62 DEEP
(16.0)
Ao 5 © / ,
e
S @ IR |
N o
- ™
0P 0.09x45°
N~ o© —
o O (2.3x459) % jE %
] P P
/_ Shaft code 3 . 52 efF
% : T —1 | SAE C splined shaft = 009ds | LIS big
| 1 Class 1-J498b (2-3x45%) a2 SR
o125/ 12/24 dp. 14 teeth att code
21.16 - — 30° I (No SAE)
. (318) 075 pressure angle
(295) (1016 5.0 flat oot side fit
8.386
3.31 (213.0)
7.12
84.0
5.28 (84.0) (181.0)
(134.2) 4.508
‘ 8'207) KEY 0.3126/0.3106 (114.5)
' 7.94/7.89) —
| | 0.31 (7.94/7.89) J ; l
‘ (N (7.9) M10x0.79 DEEP |
82 (20.0) 11 [T
gl® + ' < .94 ¢
<2 - | (49.3) /
Z g3
s :-! & o
et e I e N - S2 Sz B
Q= 8 E <=
o|l§ -
B 0.09x45° ol
p (2.3x45°) SR g
Tl S& g
N 0.051x45° N8 2
(1.3x45°) als
MOUNTING TORQUE 140 ft.lbs MOUNTING TORQUE 140 fib
.1DS
(190 Nm) (190 Nm) Shaft code 1
(Keyed SAE C)
3.58
(;3;1 0.31 1.0 KEY 0.375/0.373 S— .
(7.9) (7.9) 2.00 (9.52/9.47) Shaft torque limits in3/rev x psi (ml/rev x bar)
M (50.8) Shaft Vp x p max. (P1+P2)
M1°>E(2’gg)DEEP- 1 38299 (43240)
’ 3 54152 (61200)
a 31780 (35880)
+IH— - — <= 5 40035 (55600)
0.06x45°
(1.5x45°) j 33 g
~|® o
0.09x45° 3|18 3=
L — Shaft code 4 = 23459 32 ey
SAE BB splined shaft a8 T
Class 1-J498b Shaft code 2
16/32 dp. 15 teeth (Keyed SAE CC)

30° pressure angle
flat root side fit

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)p = 140 bar (2000 psi)[p = 240 bar (3500 psi)[p = 7 bar (100 psi)| p = 140 bar (2000 psi)[ p = 240 bar (3500 psi)
port in3rev_| cm¥rev | 9gpm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
014 2.90 47.6 | 18.88| 71.4 | 16.42 62.1 | 14.78 55.9 3.08 2.3 24.81 18.5 41.03 30.6
017 3.55 58.2 | 231 | 87.3| 206 78.0 | 18.99 71.8 3.35 2.5 29.77 22.2 49.62 37.0
020 4.00 66.0 | 26.19| 99.0 | 23.73 89.7 | 22.08 83.5 3.75 2.8 33.39 24.9 55.92 41.7
024 4.80 79.5 |31.56]119.3 | 29.10 110.0 | 27.46 103.8 4.02 3.0 39.69 29.6 66.78 49.8
P1 028 5.50 89.7 | 35.58[134.5 | 33.12 125.2 | 31.48 119.0 4.29 3.2 44.52 33.2 74.96 55.9
031 6.00 98.3 | 39.00 [147.5 | 36.53 138.1 | 34.89 131.9 4.42 3.3 48.54 36.2 81.80 61.0
& 035 6.80 111.0 | 44.04 [166.5 | 41.58 157.2 | 39.94 151.0 4.69 3.5 54.58 40.7 92.13 68.7
P2 038 7.30 120.3 | 47.72[180.4 | 45.26 1711 | 43.62 164.9 4.96 3.7 58.87 43.9 99.64 74.3
042" 8.30 136.0 | 53.96 [204.0 | 51.50 194.7 | 49.86 188.5 5.36 4.0 66.25 49.4 112.24 83.7
045" 8.89 145.7 | 57.80 |218.5 | 55.34 209.2 | 53.70 203.0 5.50 4.1 70.81 52.8 120.02 89.5
050"?| 9.64 158.0 | 62.69 [237.0 | 60.23 227.7 | 59.25 224.0 5.90 4.4 76.44 57.0 113.98 85.0
061 "% 11.62 190.5 | 76.25|285.7 | 73.54 278.0 - - 6.16 46 81.26 60.6 - -

1) 042-045-050-061=2200 RPM max.

2) 050=210 bar (3000 psi) max.

3) 061 = 120 bar (1740 psi) max. int, 061 = 80 bar (1160 psi) cont.




HIGH PERFORMANCE VANE PUMP VT6EC

VT6EC * - 066 - 022

Series J m %
Y- Metric port connection, Omit for UNC

Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)

042 = 132.3 (8.07) 062 = 196.7 (12.00)
045 = 142.4 (8.69) 066 = 213.3 (13.02)
050 = 158.5 (9.67) 072 = 227.1 (13.86)
052 = 164.8 (10.06) 085 = 269.8 (16.46)
057 = 180.7 (11.02)

Cam ring for "P2"
Volumetric displacement cm3/rev (in3/rev)

1
|
1

1 00

*¢ VELJA

|
1

Modifications

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

(view on shaft end)

R - clockwise
L - counter-clockwise

*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08)
005/BO5/Y05 = 17.2(1.05)  017/B17/Y17 = 58.3 (3.56)
006/B06/Y06 = 21.3 (1.30)  020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61)  022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08)  025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26)  028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 2.81)  031/B31/¥31 = 100.0 (6.10)
*0'- Uni-directional 'B'- Bi-directional 'Y'- Bi- directional

for cold start

INTERNAL LEAKAGE (TYPICAL)

(©.0) 36

- — — 10cSt
7
__©0 %2 24 cSt P1
£ -
3 (7.0) 28
e -
E (6.0) 24 z
- 7
£
w (5.0) 20 P —=
(] - P21
S (40 16 e // P1
] - P
§ -~
3.0) 12 >

)
= -7 = _
g (20) 8 = = — P2 L —
= _ L

0 4
- Vs L —

~ L —
0
0 35 70 105 140 160 175 190 210 240

(500)  (1000)  (1500)  (2000)(2175)(2500)2700)(3000)

Pressure in bar (psi)

(3500)

Do not operate pump more than 5 seconds at any speed or

viscosity if internal leakage is more than 50% of theoretical flow.

Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

275

(4000)

(454)

(409)

(363)

(318)

(272)

(227)

Load F in N (Lbs)

(181)

(136)

@1

8 [ - —n=2200 rpm I
5 | T T~ n = 1500 rpm (24 cSt)
=1
n = 1000 rpm e -
. = -
3 I I P1 —
= 2 P1 L — —
z
=
) 1
o
B o
=] 35 70 105 140 160 175 190 210 240
- (500)  (1000) (1500) (2000) (2500)  (3000)  (3500)
g . (2175) (2700)
[ - — n=2200 rpm I
o — — n = 1500 rpm (24 cSt)
3 n = 1000 rpm
ezl o —
2 — == —_ - — —
-—'———__________—-————— P2 [
1 P —
0
0 35 70 105 140 160 175 190 210 240 275

(500)  (1000)  (1500)

Pressure in bar (psi)

(2000)(2175)(2500)2700)(3000)  (3500)

(4000)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

Lp. Noise level {db(A)} 1m ISO 4412

2000 —

1800 —

1600 —

1400

1200

1000

800

600

400

Type of shaft

1 - keyed (SAE CC)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (SAE CC)

NOISE LEVEL (TYPICAL)

VT6EC- 050-022
80

Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1000 RPM
— — n = 1500 RPM
Lw = Lp + 8db (A) -

75

70 -

65

60

10 50
(145) (725)

100
(1500)

140
(2000)

Pressure in bar (psi)

175
(2500)

210
(3000)

240
(3500)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed N° 1

600 1000 1200 1500 1800 2000 2200

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



1/2-13 UNCx0.92 DEEP-4 HOLES

*¢ VELJAN

(M12x23.4 DEEP) 2.44
3/8-16 UNCx0.75 DEEP 4 HOLES (‘1)-762) (61.9) 2.20 2.45
(M10x19.0 DEEP) 2.75 : . (55.9) (62.2)
(69.8) 1.406 7'9 0.31
1.031 35.7) (7.9) (7.9)
(26.2) | ‘ - ]
‘
(111 H 1.50
(38.1) | KEY 0.313/0.311 (;-12‘;)
/ (7.94/7.89) :
[N L
8(\1‘ T - - - — <4 — F|l—————=
e [ =
& ‘ 3 % 0.09x45° 0.09x45°
(V] L T
= -z S (2.3x45%) (2.3x45°)
| : t} ooouase | DR 8 b
- | (2.3x45° =g I
T Q= L L
23.50 M t Shaft code 3 Shaft code 4
(88.9) (37.1) Shaft code 2 SAE C splined shaft SAE CC splined shaft
(Keyed non SAE) Class 1-J498b Class 1-J498b
5/8-11 UNCx1.16 DEEP-4 HOLES 12/24 dp. 14 teeth oo o 1 taeth
(M16x29.5 DEEP) p
30° pressure angle 30° pressure angle
13.06 358 Flat root side fit Flat root side fit
5.38 (8316) 4665 2.06 (90.9) (2'13:5?))
136.7, 1185 52.3 :
‘ (136.7) (1185) (523) ((1, _253) 1o
. (181.0)
‘ 0.31 KEY 0.375/0.373 3.563
| ; (79) c;ézlgsl;nAx. (9.52/9.47) (90.5)
‘ j 2.00 M10x0.79 DEEP
; - . s0.8) | /  (200)
PR oS F
<«| < s 2|8 E ; ‘ / /
S5 g <2 | —_
o| R =~ ‘ / | ©
= o| @
; 23
- . gla £
{”77 ”””””” - - I — - — g 88 §8. - |-
S BN —
o|N = Q= 3o
Clw (=1 _ = ]
oE N\ i 8la x 8=
= <o —
: e |
S|
| 3l ¢ 9
0.09x45° 5‘ s =
2.3x45° [
MOUNTING TORQUE 50 fl.bs _0.05x45° | ( : MOUNTING TORQUE 138 ft.lbs
(68 Nm) (1.3x45°) Shaft code 1 :

(Keyed SAE CC)

(187 Nm)

Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)| p = 140 bar (2000 psi)] p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)p = 240 bar (3500 psi

e in3/rev cmrev | 9Pm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
042 8.07 132.3 | 5250|1985 | 49.87 | 1885 | 47.96 181.3 | 6.97 52 | 66.25 49.4 | 11077 | 826
045 8.70 142.4 | 5651|2136 | 53.86 | 203.6 | 51.98 196.5 | 7.24 54 | 70.94 52.9 | 11895 | 887
050 9.67 158.5 | 62.88|237.7 | 60.24 | 227.7 | 58.36 2206 | 7.64 57 | 7845 58.5 | 131.82 | 983
052 | 10.00 164.8 | 65.40 | 2472 | 6275 | 237.2 | 60.87 2301 | 7.78 58 | 8153 60.8 | 136.92 | 102.1
P1 057 | 11.02 180.7 | 71.71| 271.1| 69.07 261.1 | 67.19 2540 | 818 6.1 | 89.04 66.4 | 143.35 | 106.9
062 | 12.00 196.7 | 78.04 | 2950 | 75.40 | 2850 | 73.52 2779 | 858 6.4 | 96.42 719 | 162,67 | 121.3
066 | 13.00 213.3 | 84.63|319.9| 81.98 | 3099 | 80.11 3028 | 8.98 6.7 | 104.20 77.7 | 17594 | 131.2
072 | 13.86 2271 | 90.11|340.6 | 8746 | 330.6 | 85.58 3235 | 9.25 6.9 |110.77 82.6 | 187.07 | 139.5

085"?| 16.40 269.8 [107.00 | 404.7 | 10521 | 397.7 - - 978 | 73 | 8756 | 653 - -
003 0.66 10.8 429| 162 296 11.2 2.04 77 | 174 1.3 711 5.3 11.22 8.4
005 1.05 17.2 683 | 258| 550 20.8 4.57 173 | 1.88 1.4 | 10.06 7.5 1636 | 122
006 1.30 21.3 8.44| 319 711 26.9 6.19 23.4 | 201 1.5 | 11.94 8.9 19.71 | 147
008 1.61 264 |10.48| 39.6| 9.15 346 8.22 311 | 215 | 1.6 | 1435 10.7 2293 | 177
010 2.08 341 | 1852 51.1| 1219 461 | 11.26 426 | 2.28 1.7 | 18.64 13.4 29.90 | 22.3
012 2.26 37.1 | 14.71| 55.6| 13.36 50.6 | 12.46 471 | 228 1.7 19.31 14.4 32.32 | 24.1
014 2.81 460 | 18.25| 69.0| 16.93 64.0 | 16.00 60.5 | 2.55 1.9 | 23.60 17.6 39.56 | 29.5
= 015 3.08 50.5 | 20.00| 756| 18.73 73.2 | 19.02 67.5 | 2.68 2.0 25.61 19.1 4291 | 320
017 3.56 58.3 |23.12| 87.4| 21.79 824 | 20.87 78.9 | 2.82 21 | 29.37 21.9 49.48 | 36.9
020 3.89 63.8 | 25.32| 95.7| 23.99 90.7 | 23.07 872 | 295 22 | 31.92 23.8 53.91 | 40.2
022 4.29 70.3 | 27.88| 1054 | 2656 | 1004 | 25.63 96.9 | 3.08 23 | 35.00 26.1 59.14 | 44.1
025 4.84 79.3 | 3146|1189 3013 | 1139 | 29021 1104 | 3.35 25 | 39.16 29.2 66.38 | 49.5
028” | 5.42 88.8 | 35.24|133.2| 33.92 | 1282 | 33.28 125.8 | 3.75 28 | 43.85 32.7 65.04 | 485
03 | 6.10 100.0 [39.68|150.0| 3835 | 1450 | 37.72 1426 | 375 28 | 4895 36.5 72.95 | 54.4

1) 085 = 2000 RPM max. 2) 085 = 75 bar (1100 psi) cont. 085 = 90 bar (1300 psi) max. int. 3) 028-031= 210 bar (3000 psi) max.



HIGH PERFORMANCE VANE PUMP VTG6ED

|
1

*

|
1

[

*¢ VELJA

Modifications

Seal class

1-S1 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

VT6ED * - 066 - 038 1
Series m P2
Y -Metric port connection, Omit for UNC
Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)
042 = 132.3 (8.07) 062 = 196.7 (12.00)
045 = 142.4 (8.69) 066 = 213.3 (13.02)
050 = 158.5 (9.67) 072 = 227.1 (13.86)
052 = 164.8 (10.06) 085 = 269.8 (16.46)
057 = 180.7 (11.02)
Cam ring for "P2"
Volumetric displacement cm3/rev (in3/rev)
*014/B14 = 47.6 (2.90) 035/B35 = 111.0 (6.77)
017/B17 = 58.2(3.55) 038/B38 = 120.3 (7.34)
020/B20 = 66.0 (4.03) 042/B42 = 136.0 (8.30)
024/B24 = 79.5 (4.85) 045/B45 = 145.7 (8.89)
028/B28 = 89.7 (5.47) 050/B50 = 158.0 (9.64)
031/B31 = 98.3 (6.00) 061/B61 = 190.5 (11.62)
*10'-  Uni - directional '‘B'- Bi - directional
INTERNAL LEAKAGE (TYPICAL)
©0 %6 joest
E 8.0) 32 24 cSt —
& -
€ 70 28 Pz =
E e
L 60 24 g
c O o7 ~Te2
- re
8 (5.0) 20 _ /// ]
Q e _ -
D (40) 16 P Pl -
§ P - /// —
S 6o 12 — —— 57 |
T eos P ]
c . -
g 27 /
E (1.0) 4 Z
-
Z
0
0 35 70 105 140 160 175 190 210 240

(500) (1000) (1500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or

(2000)(2175)2500)(2700)(3000)

(3500)

viscosity if internal leakage is more than 50% of theoretical flow.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- —n=2200 rpm
— — n=1500rpm (24 cSt)
5 n = 1000 rpm ] R E——
. e
- T I U A ——
3 S — —|_P1
P1 4 L ——
2 —
s 1
=
=
") 0
[- % 0 35 70 105 140 160 175 190 210 240
0 (500) (1000) (1500) (2000)  (2500) (3000) (3500)
k-] (2175) (2700)
™ 6 [ = — n=2200rpm
g — — n=1500 rpm (24 cSt)
° 5 n = 1000 rpm
o
4 [ S I - ) PR S S S
3
5 S S S I
P2 | _ ——
1 e ——
0
0 35 70 105 140 160 175 190 210 240

(500) (1000) (1500) (2000Y2175)2500) (2700(3000)

Pressure in bar (psi)

(3500)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

Load F in N (Lbs)

Lp. Noise level {db(A)} 1m ISO 4412

80

75

70

65

60

Type of shaft

1 - keyed (SAE CC)
2 - keyed (no SAE)
3 - splined (SAE C)

4 - splined (SAE CC)

NOISE LEVEL (TYPICAL)
VT6ED- 050-038

Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1000 RPM
n = 1500 RPM
Lw = Lp + 8db (A)

10
(145)

50
(725)

100
(1500)

210
(3000)

140
(2000)

170
(2500)

240
(3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

(863)

(772)

(681)

(590)

(500)

(409)

(318)

(227)

(136)

3800

3400

3000 —

2600

2200

1800

1400

1000

600

PERMISSIBLE RADIAL LOAD

__|.Fa

Shaft keyed N° 1

600 1000 1200 1500 1800 2000 2200

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



5/8-11 UNCx1.18 DEEP-4 HOLES

(M16x30.0 DEEP)

7/16-14 UNCx0.94 DEEP4 HOLES

(M12x24.

1.19
(30.2

0 DEEP)

2.44
0.69 (61.9)
(17.5)

0.31

1.406

3

E:J 1
G,

o160

(29.5)

0.09x45°
(2.3x45°)

KEY 0.3126/0.3106

(7.94/7.89)

24.00/

(101.6)

©1.46
@7.1)

1/2-13 UNC x0.92 DEEP 4 HOLES,

(M12x23.5 DEEP)

©1.250/1.248
(31.75/31.70)

1.389 MAX.

(35.27)

Shaft code 2

(Keyed no SAE)

2.20
(55.9)

0.31
(7.9)

1.50

(38.1)

(2.3x45°)

Shaft code 3
SAE C splined shaft
Class 1-J498b
12/24 dp. 14 teeth
30° pressure angle
Flat root side fit

*¢ VELJAN

2.45
(62.2)

0.31

HJ 0.09x45°

(7.9)

1.24
(31.5)

H

0.09x45°

g IR

(2.3x45°)

Shaft code 4
SAE CC splined shaft
Class 1-J498b

12/24 dp. 17 teeth
30° pressure angle
Flat root side fit

14.21 3.58
(361.0) (90.9)
5.84 5.26 2.06
(148.2) (133.5) (52.3) 0.50
0.31 (12.7)
7.9 KEY 0.375/0.373
| ‘ (z-iz)MAX- (9.52/9.47)
/ ‘ N 2.00 M10x0.79 DEEP
s - = < j— (50.8) (20.0)
o™ o Y g
Sz S|y %z /
= (2 |0
— [ / g
. 88 =
] -4 - — - — - —_ - — - - — - —] * — - .z 8 8 §
8
] =) 3 = Q
5% | o —|—
| |0 Qe %
~ V1 e |15
0.09x45° 58 2@
(2.3x45°) g2 §ld
0.05x45° 5|8 ~I¥
MOUNTING TORQUE 138 ft.lbs T(1.3xa5% <
187 Nm|
( ) Shaft code 1

(Keyed SAE CC)

(127.00/126.95)

8.386

(213.0)
7.125

(181.0)

MOUNTING TORQUE 138 ft.lbs

20.69

(17.5)

(187 Nm)
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement VpJ, — o bar (0 psi)]p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)| p = 140 bar (2000 psi)| P = 240 bar (3500 psi)

port in3/rev cm3/rev | 9pm | Ipm gpm Ipm | gpm Ipm hp kw hp kw hp kw
042 8.07 132.3 | 52.50| 198.5| 49.87 188.5 | 47.96 181.3 6.97 5.2 66.25 49.4 110.77 82.6
045 8.70 142.4 56.51| 213.6| 53.86 203.6 51.98 196.5 7.24 5.4 70.94 52.9 118.95 88.7
050 9.67 158.5 | 62.88| 237.7| 60.24 | 227.7 | 58.36 220.6 7.64 5.7 78.45 58.5 131.82 98.3
052 10.00 164.8 65.40( 247.2| 62.75 237.2 60.87 230.1 7.78 5.8 81.53 60.8 136.92 102.1
St 057 11.02 180.7 71.71] 271.1] 69.07 261.1 67.19 254.0 8.18 6.1 89.04 66.4 143.35 106.9
062 12.00 196.7 78.04| 295.0| 75.40 285.0 73.52 277.9 8.58 6.4 96.42 71.9 162.67 121.3
066 13.00 213.3 84.63| 319.9| 81.98 309.9 80.11 302.8 8.98 6.7 | 104.20 77.7 175.94 131.2
072 13.86 2271 90.11| 340.6| 87.46 330.6 85.58 323.5 9.25 6.9 | 110.77 82.6 187.07 139.5

085"?| 16.40 269.8 |107.00| 404.7| 105.21 | 397.7 - - 9.78 7.3 | 87.56 65.3 - -
014 2.90 476 | 18.88| 71.4| 16.42 62.1 | 14.78 55.9 3.08 2.3 24.81 18.5 41.03 30.6
017 3.55 58.2 23.1| 87.3 20.6 78.0 18.99 71.8 3.35 25 29.77 22.2 49.62 37.0
020 4.00 66.0 26.19| 99.0| 23.73 89.7 22.08 83.5 3.75 2.8 33.39 24.9 55.92 41.7
024 4.80 79.5 31.56| 119.3| 29.10 110.0 27.46 103.8 4.02 3.0 39.69 29.6 66.78 49.8
028 5.50 89.7 | 35.58| 134.5| 33.12 125.2 | 31.48 119.0 4.29 3.2 44.52 33.2 74.96 55.9
P2 031 6.00 98.3 | 39.00| 147.5| 36.53 138.1 | 34.89 131.9 4.42 3.3 48.54 36.2 81.80 61.0
035 6.80 111.0 44.04| 166.5| 41.58 157.2 39.94 151.0 4.69 3.5 54.58 40.7 92.13 68.7
038 7.30 120.3 47.72| 180.4| 45.26 1711 43.62 164.9 4.96 3.7 58.87 43.9 99.64 74.3
042 8.30 136.0 53.96| 204.0| 51.50 194.7 49.86 188.5 5.36 4.0 66.25 49.4 112.24 83.7
045 8.89 145.7 | 57.80| 218.5| 55.34 | 209.2 | 53.70 203.0 5.50 41 70.81 52.8 120.02 89.5
050" 9.64 158.0 | 62.69| 237.0| 60.23 | 227.7 | 59.25 224.0 5.90 4.4 76.44 57.0 113.98 85.0

0614) 11.62 190.5 76.25| 285.7| 73.54 278.0 -- - 6.16 4.6 81.26 60.6 -- --

1) 085 = 2000 RPM max.

4) 061 = 120 bar (1740 psi) max. int,

2) 085 = 75 bar (1100 psi) cont. & 085 = 90 bar (1300 psi) max. int.

061 = 80 bar (1160 psi) cont.

3) 050=210 bar (3000 psi) max. int,



HIGH PERFORMANCE VANE PUMP VTGEE/ VTG6EES

VT6EE / VT6EES - 066 - 045 -1
Series ‘
VT6EE Series - 250 B4AHW m m
ISO 3019-2 mounting flange
VT6EES Series - SAE 4 bolts
Mounting flange J744c

Cam ring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

042 = 132.3 (8.07)

045 = 142.4 (8.69)

050 = 158.5 (9.67)

052 = 164.8 (10.06)

057 = 180.7 (11.02)

062 = 196.7 (12.00)

066 = 213.3 (13.02)

072 = 227.1 (13.86)

085 = 269.8 (16.46)
Type of Shaft VT6EE
2 - Keyed (G45N ISO 3019-2)
VT6EES

1 - Keyed (SAE CC)

3 - Splined (SAE CC)
4 - Splined (SAE D&E)
5 - Keyed (SAE D&E)

INTERNAL LEAKAGE (TYPICAL)

(.0) 36
- — — 10cSt

24 cSt

©0) 32

(7.0) 28

24

(6.0)

e
20
p1-p2 .~
7

(5.0)

4.0) 16

@.0) 12

e P1-P2

P

20) 8

Internal leakage Qs in Ipm (Gpm)

(1.0) 4 ~

0 35
(500)

70
(1000)

105
(1500)

Pressure in bar (psi)

140 160 175 190 210
(2000) (2175)(2500)(2700)(3000)

240
(3500)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2200 rpm
— — — n = 1500 rpm (24 cSt)

5 n = 1000 rpm
E P1-P2 L -
I - 1"
[
o
» P1-P2 [ P I B
& 3 —————==== ——==1
=
[ —
H P1-P2 .
o 2 ——
s P —

1

0

0 35 70 105 140 160 175 190 210 240

(500) (1000) (1500) (2000) (2175) (2500) (2700) (3000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

(3500)

Load F in N (Lbs)

¢8[VELJAN

- 00 *

L Modifications

Port connection variables
SAE 4 bolt flange (J518c)

UNC|METRIC
Mo

Mo

=)
K=}
o

VT6EE
VT6EES

00

Coupling adaptor
0 - None

2 - SAEB

3 - SAEBB

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)
Design letter

Porting combination (see page BM-1-5)
00 = Standard

Direction of rotation
(View on shaft end)
R - Clockwise

L - Counter - clockwise

NOISE LEVEL (TYPICAL)

VT6EE - 050 - 050
90

Inlet pressure 0.9 bar abs
Viscosity 32 ¢St
n = 1000 RPM
— — n =1500 RPM
Lw = Lp + 8db (A)

85

80

75 -

70

65

Lp. Noise level {db(A)} 1m ISO 4412
\

60

50
(725)

100 150
(1500) (2000)

Pressure in bar (psi)

200
(3000)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(909) 4000

(795) 3500

. _|.Fa
Shaft keyed N° 1

—

(681) 3000

(568) 2500

(454) 2000

(340) 1500

7

(227) 1000

(113) 500

600 800 1000 1200 1400 1600 1800 2000 2200

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



1/2-13 UNCx0.92 DEEP- 4 HOLES

¢#[VELJA

1/2-13 UNCx0.92 DEEP- 4 HOLES

(M12x23.4 DEEP) (M12x23.4 DEEP)
3.94 M12x1.10 DEEP
(100.0) (28.0) 16.84 ) 2.45
:)7-?;1) (427.8) 0.31 | (62.2)
] ' KEY 0.437/0.435 1.41 3.06 9
LA (11.11/11.06) (35.7) (77.8) g
250 |/ * {
(63.5) %
1/2-13 UNCx0.94 DEEP (35.7)
(24.0) ‘
' 0) > 1€
e 39 2@ 1| (A2 gla
IS RN ) \ oS
; — olle | ooomse
0.09x45! 28 % I I
(2.3X45°) ~ S 0|[® (2.3x45°)
. i s 1. o||8
gz 3@ = ‘ Shaft code 3
NS
| - o5 T SAE CC splined shaft
8|12 b 'Z’Q 46 (?giog) / R
@ - .
Shaft code 5 8T @7.1) 01.5 12/24 dp. 17 teeth
(Keyed SAE D&E) 5/8-11UNCx1.18 DEEP 4 HOLES (38.1) (635  30° pressure angle
(M16x30.0 DEEP) Flat root side fit
10.75
(273.0)
. 8.84 ‘ ) 6.22 ‘ 6.59 1.69 3.58
’ (224.5) ‘ ©0.81 1.83 (157.9) (167.3) [(a2.9)] o031 (90.9)
‘ ‘ [ ] 20.6) (465 ——=11(7.9)
0.31 —— I— iy 250 KEY 0.375/0.373
7.9) ~ 1 ©35) | / (9.52/9.47)
il L gl
|l 8|g / M10x0.79 DEEP
T B| T e (20.0) s
S 5| D ol S = o|@
_ _g¢ & Qe Sg
2l e g9 |2 T = g
S|R AY Sl | e — - — T T o o\ o 3|e
-l q o|@ 1] [ o[98
<5 | %l g 0.09x45° Q=
Qs pn 7o) ol © — _0.09x457 |
< 38 z ~|® (2.3x45°) 8z % S
e |:|J s S2 g
z | ©
SlS ¥lm
i — slc 8lg
0 0.61 { N s S
(16.0) 1| 0.05x45° o
T[T (s5xso Shaft code 1
COUPLING ADAPTOR 0o (Keyed SAE CC)
MOUNTING TORQUE 65 ft.lbs 0.87 ©0)
MOUNTING TORQUE 222 ft.Ibs (88 Nm) (22.0)
(300 Nm)
3.62
0.39 (92.0) 0.09x45° VT6EE
2.95 (10.0) (2.3x45°) imits i i
— - Shaft torque limits in3/rev x psi (ml/rev x bar)
_71:’ 248 Shaft Vi x p Max. Copling Vi x p Max.
- ©3.0) || REY0.561/0.354 1 80053 (90380) | SAEB | 18246 (20600)
- 14.0/9.0
™ (14.0/9.0 2 | 101506 (114600) | SAE-BB | 28937 (32670)
M12Xg~f‘é DEEP & 3 | 112312 (126800)
| (24.0) 2/8 a4 | 112312 (126800)
NS al2 5 | 104818 (110840)
N — =T R
=8 38
— Ol s -
N ) Q § Code | Coupling adaptor
0.12x45° E g % = 0 Without coupling
(3.0x45°) B sy 2. SAE B -13 teeth -pitch 16/32
Slg Sl 2 Major dia (min) 0.875 (22.225)
Shaft code 4 LIS ": S - < Minor dia (min.) 0.753 (19.126)
N SAE D&E splined shaft ] SIK3 SAE BB -15 teeth -pitch 16/32
Class 1-J498b NS 0.06x45° 3 Major dia (min) 1.00 (25.4)
oy o Minor dia (min.) 0.877 (22.275
8/16 dp. 13 teeth g8 (1.5x450) Shaft code 2 (min.) (: )
80° pressure angle 0.35 (Keyed G45N ISO 3019-2)
e < . eye y
Flat root side fit 0.86 (9.0)
(22.0)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|, = o bar (0 psi)p = 140 bar (2000 psi)lp = 240 bar (3500 psi)|p = 7 bar (100 psi)| p = 140 bar (2000 psi) | p = 240 bar (3500 psi)
port in?rev_| cmrev| gpm [ Ipm | gpm Ipm gpm Ipm hp | kw hp kw hp kw
042 8.07 | 1323 | 5250|198.5| 49.87 | 1885 | 47.96 | 181.3 6.97 | 52 | 6625 | 49.4 110.77 | 82.6
045 8.70 | 1424 | 5651|2136 53.86 | 203.6 | 51.98 | 1965 724 | 54 | 7094 | 529 118.95 | 88.7
050 9.67 | 1585 | 62.88|237.7| 60.24 | 227.7 | 58.36 | 220.6 764 | 57 | 7845 | 585 131.82 | 983
P1 052 10.00 | 164.8 | 65.40|247.2| 62.75 | 237.2 | 60.87 | 230.1 778 | 58 | 8153 | 60.8 136.92 | 102.1
& 057 11.02 | 180.7 | 71.71|271.1| 69.07 | 2611 | 67.19 | 254.0 8.18 | 6.1 89.04 | 66.4 143.35 | 106.9
062 12.00 | 196.7 | 78.04|295.0| 75.40 | 285.0 | 7352 | 277.9 858 | 64 | 9642 | 71.9 162.67 | 121.3
= 066 13.00 | 2133 | 84.63|319.9| 81.98 | 309.9 | 80.11 | 302.8 898 | 67 | 10420 | 777 175.94 | 131.2
072 13.86 2271 | 90.11/340.6| 87.46 | 330.6 | 85.58 | 323.5 925 | 69 | 11077 | 826 187.07 | 1395
085"?| 16.40 | 269.8 [107.00|404.7|105.21 | 3977 | - - 978 | 7.3 | 8756 | 653 - -

1) 085 = 2000 RPM max.

2) 085 = 75 bar (1100 psi) cont.

085 = 90 bar (1300 psi) max. int.



HIGH PERFORMANCE VANE PUMP VT6CCM

*¢ VELJA

VviéCC *W - B22 - B0O8-1 R 00 -D 1-00 *
Series I Modifications
M = Mobile /
Mounting W/connection variables
P = Mobile with double shaft seal m m 9 o
P1=1"-S=3"[P1=1"-S=21"
Use for severe duty shaft only P2 1" 34" 1" 3/4""
. voan o womn codel Unc [ 00 [01 | 10 11
Cam ring for "P1" & "P2 IMetric] o [wo | M | w1
Volumetric displacement cm3/rev (in3/rev)
*BO3/R03 = 10.8 (0.66) BI15R15 = 505 (3.08) 1) for 46 ml/rev max.
BO5/R05 = 17.2 (1.05) B17/R17 = 58.3 (3.56) 2) for 126 ml/rev max.
BOG/ROS = 21.3 (1.30) B20/R20 63.8 (3.89) The Iargde.car;n(:ge must be always
BO8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29) mounted in the front.
B10/R10 = 34.1 (2.08) B25/R25 =  79.3 (4.84) Seal class
B12/R12 = 37.1 (2.26) B28/R28 = 88.8 (5.42) 1-81 (for mineral oil)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10) 4 - 84 (for fire resistant fluids)
*B'- for Mobile 'R'- for Mobile - spring assisted 5 - S5 (for mineral oil and fire resistant fluids)
Type of shaft :
M version MW version P version Design letter
1- keyfed (no SAE) 2 - keyed (SAE' BB) 3- spI!ned (no SAE) Porting combination (see page BM-1-5)
3 - splined (SAE BB) R - keyed special 4 - splined (SAE BB) 00 - standard
5 - splined (SAE B) X - keyed special 6 - splined (no SAE)
W - keyed special Direction of rotation
V - keyed special (view on shaft end)
T- splined (SAE J718c) R - clockwise
S- splined (DIN5462) L - counter-clockwise
Q- splined (SAE C)
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
65 2 w0 VT6CCM - B22 - B22
- Inlet pressure 0.9 bar abs
E (55) 21 24 cst - g Viscosity 32 cSt
s — — 10cSt < n = 1000 RPM
153 Pid o — — n = 1500 RPM
‘g (5.0 18 P @ 75 Lw = Lp + 8db (A) -
2 w0 s - £ -~
Y - -
@ - g g - /
O @0 12 P1-P2 o 7 o
) - —~ S -
o Ve - bl -
8 o o - ] - /
] e | a
o e // 2
5 (9 6 e P1-P2 g 6
goos o~ = \/
- -
0 60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240

(500)  (1000)

(1500)

Pressure in bar (psi)

(2000) (2175)(2500)(2700) (3000)  (3500)

(4000)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2800rpm
— — n=1500rpm (24 cSt)
n = 1000 rpm

4
=
= 3 =
s I —
o PIP2 _ — - T
n =
] - —

— _|

2 > - _ _
o N
ﬂ;> P1-P2 | —— B
o |- L —
o - Pilp2 | ——

1

L —
0
0 35 70 105 140 160 175 190 210 240 275

(500)  (1000)

(1500)

Pressure in bar (psi)

(2000) (2175)(2500)(2700) (3000)  (3500)

(4000)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

Load F in N (Lbs)

(318) 1400

(272) 1200

(227) 1000

(182) 800

(136) 600
(90) 400

(@5 200

(145)

(725)

(1500)
Pressure in bar (psi)

(2000) (2500) (3000)  (3500)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Shaft keyed N° 1

|.Fa

600

1000

1200 1500 1800 2000 2500 2800

Speed n (RPM)

Maximum axial load permissable Fa = 800 N (180 Lbs)



3/8-16 UNCx0.75 DEEP -4 HOLES

(M10x19.0 DEEP)

*¢ VELJAN

2.81
0.50 (71.4)
[2.7) o1 VT6CCMW
1 031 7.9 1.79 1.60
E-4 HOLES E-4 HOLES e (@55) (40.7)
(26.2) 0.31 0.31_|
KEY 0.250/0.248 (7.9) (7.9)
/ (6.35/6.30)
N 1.50 M8x0.63 DEEP
(38.1)
(5) (16.0)
< 1 1 - — - — =y - —]
o) s % 0.06x45° 0.06x45°
. o S ~(1.5x45°% = (1.5x459)
:E - S Z|¥
88 Tls
jE B 0.06x45° || 2|5 <l
(1.5x45°) SIRg Shaft code 3 Shaft code 5
B B SAE BB splined shaft SAE B splined shaft
@c Shaft code 2 Class 1-J498b Class 1-J498b
art code 16/32 dp. 15 teeth 16/32 dp. 13 teeth
MOUNTING TORQUE 45 ft.Ibs (Keyed SAE BB) 30° pressure angle 30° pressure angle
(61 Nm) o e
Flat root side fit Flat root side fit
10.46 229
(265.6) (58.2)
3.47 .00 1.50
(88.2) (101.6) (38.1) 0.38
(9.7)
0.31
(7.9) 0.25MAX.| KEY 0.1875/0.1855
(6.35) / (4.762/4.712)
I S 1.25
©lo O / |(31.8) &
@/
[ / e
] g g2
e 1 - ge §8
T
8l — 0.06x45° || . <8 8=
A|E E— 0905 3% %
o8 2
J 58 g¥
0.05x45° | 88 2 MOUNTING TORQUE 117 ft.lbs
(1.3x45°) < o= (159 Nm)
Shaft code 1
(Keyed no SAE)
PORT A © D E
S [419(1064) | 244619 | 3.00(76.2) 5/8-11UNCx1.12 DEEP
(M16 x 28.4 DEEF) Shaft torque limits in3/rev x psi (ml/rev x bar)
s , 1/2-13UNCx0.94 DEEP Shaft Vp x p max. (P1+P2)
3.50 (88.9) .00 (50.8) 2.50 (63.5) M12 x 24.0 DEEP 1 12666 (14300)
P1 1874 (47.6) |0.874 (22.2) 0.75 (19.0) | 3.00 (76.2) 3/8-16UNCx0.75 DEEP : ;23; g;;‘ig}
P2 | 206(524) |1.03(262) | 1.00(25.4) | 2.94 (74.7) (M10x19.0 DEEP) 5 18246 (20600)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

3.00
(76.2)

Pressure Volumetric Flow g & n = 1500 rpm | Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)| p = 240 bar (3500 psi)| p = 7 bar (100 psi)jp = 140 bar (2000 psi)[p = 240 bar (3500 psi
port indrev__ | cm3/rev gpm Ipm | gpm Ipm_| gpm Ipm hp kw hp kw hp kw
B03 0.66 10.8 429 | 162 | 2.83 10.7 - - 174 | 1.3 7.11 5.3 - -
B05 1.05 17.2 6.83 | 25.8 | 537 20.3 4.17 15.8 1.88 | 1.4 | 10.06 75 | 16.36 12.2
B06 1.30 21.3 8.44 | 31.9 7.01 26.5 5.82 22.0 2.01 1.5 | 11.94 8.9 19.71 14.7
B0O8 1.61 26.4 1048 | 39.6 | 9.02 3441 7.83 29.6 215 | 1.6 | 14.35 10.7 | 22.93 17.7
P1 B10 2.08 34.1 1352 | 51.1| 12.08 457 | 10.89 41.2 228 | 1.7 | 1864 13.4 | 29.90 22.3
B12 2.26 37.1 14.71| 55.6 | 13.28 50.2 | 12.08 45.7 228 | 17 19.31 144 | 32.32 241
& B14 2.81 46.0 18.25| 69.0 | 16.79 63.5 | 15.60 59.0 255 | 1.9 | 23.60 176 | 39.56 295
B15 3.08 50.5 20.00| 75.6 | 18.62 70.4 | 17.46 66.0 268 | 20 25.61 19.1 | 42.91 32.0
P2 B17 3.56 583 | 23.12| 87.4 | 21.69 82.0 | 20.50 77.5 282 | 21 | 29.37 219 | 4948 | 36.9
B20 3.89 63.8 25.32| 95.7 | 23.86 90.2 | 2267 85.7 295 | 2.2 | 31.92 23.8 | 53.91 40.2
B22 4.29 70.3 27.88 [105.4 | 26.45 100.0 | 25.26 95.5 3.08 | 2.3 | 35.00 261 | 59.14 441
B25" 4.84 79.3 31.46 [118.9 | 30.02 1135 | 28.83 | 109.0 335 | 25 | 39.16 292 | 66.38 495
B28"?| 5.42 88.8 35.24 [133.2 | 33.78 127.7 | 3293 | 1245 375 | 2.8 | 43.85 32.7 | 65.04 48.5
B31"?| 6.10 100.0 39.68 [150.0 | 38.22 1445 | 37.38 141.3 3.75 2.8 48.95 36.5 72.95 54.4

1) B25-B28-B31 = 2500 R.PM. max.

2) B28-B31= 210 bar (3000 psi) max. int.

-- Not to use because internal leakage greater than 50% theoretical flow.



*¢ VELJA

HIGH PERFORMANCE VANE PUMP VT6CCM

1.92 3.50
(48.7) (89.0)
0.35 3.63
(?-14_% (9.0) (92.2)
KEY 0.394/0.3393
KEY 0.250/0.248 2.00 (10.00/9.985) 2.16
(1412 g) (6.35/6.30) 608 60 0.234/0.233
M8x0.63 DEEP M12’nggf DEER (5.96/5.93)
(16.0) ' .
8l ] & [~ 01.255/1.254
ol -] Be % NS
] ~
g 8 S R . ; Se 52 (31.89/31.87)
sls =l 1.5x45°)" s2 aF o
g2 g (o g B 3%
|0 -I= : A
0.06x45° | Q| a & a8
(1.5x45°)
Shaft code R Shaft code V Shaft code S
DIN 5462
B8x32x36
2.19
55.5
( ) 2.52
0.31 (64.1)
(7-9) _KEY 0.312/0310 0.46 KEY 0.250/0.248 %«>
1.50 (7.94/7.89) (11.7) (6.35/6.30) :
Ll (38.1)
M8x0.63 DEEP 1.94
(16.0) (49.2) Me?fée“;’) DEEF 0.34/0.33
- (8.64/8.58)
o _ o e 1
[ — @ -
el —
R 2 g8 %
o gd <& 58 o8
Qv @9 =5 R ol
N — 2 © - o —st
=5 0.06x45° Qg -le o3
0.06x45° | gl 0.06xa8%_J , — —IQ al&
(1.5%459) © (1.5x45°) 8¢ 219
Qe
1.10/1.09
(28.14/27.89)
Shaft code W Shaft code X Shaft code T
SAE J718C
540 rpm power take-off
For Farm Tractor application
117 3.07
(45.00| VT6CCP (1-57 g) VT6CCP (78.0) VT6CCP
0.46 _ ' 031 |
RERA) 0.46 (7.9)
(11.7)
1.02
(26.0) 0.96
(24.5)
0.06x45° 0.06x45° 0.09x45°
(1.5x45°) (1.5x45°) (2.3x45°)
(8.8) (8.8)
Shaft code 3 Shaft code 4 Shaft code 6 Shaft code Q

no SAE splined shaft
Class 1-J498b

16/32 dp. 13 teeth
30° pressure angle
Flat root side fit

*Drain hole between double Shaft seals

SAE BB splined shaft
Class 1-J498b

16/32 dp. 15 teeth
30° pressure angle
Flat root side fit

non SAE splined shaft
Class 1-J498b

12/24 dp. 14 teeth

30° pressure angle
Flat root side fit

SAE C splined shaft
Class 1-J498b
12/24 Dp. 14 Teeth
30° Pressure angle
Flat root side fit

Shaft torque limits in3/rev x psi (ml/rev x bar) Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2) Shaft Vp x p max. (P1+P2)
R 16032 (18100) 3 18246 (20600)
VT6CCMW \i 28937 (32670) MEECCH 4 28937 (32670)
w 28937 (32670) 6 28937 (32670)
X 22500 (25400)




HIGH PERFORMANCE VANE PUMP VT6CCZ

VvT6CCzZz * - B22 - BO8 -

Series - SAE B 2 bolts
Mounting flange J744 c

One letter can be added to specify
special parts in series

Cam ring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

*BO3/R03 = 10.8 (0.66) B15/R15 = 50.5 (3.08)
BO5/R05 = 17.2(1.05) B17/R17 = 58.3(3.56)
B0O6/R06 = 21.3 (1.30) B20/R20 = 63.8 (3.89)
BO8/RO8 = 26.4 (1.61) B22/R22 = 70.3 (4.29)
B10/R10 = 34.1 (2.08) B25/R25 = 79.3 (4.84)
B12/R12 = 37.1 (2.26) B28/R28 = 88.8 (5.42)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10)
*B'-  for Mobile

'R'- for Mobile - spring assisted

Type of shaft

X - keyed

W - keyed

V - keyed

S - Splined (DIN 5462)

R O

Direction of rotation (view on shaft end)
R - clockwise
L - counter-clockwise

INTERNAL LEAKAGE (TYPICAL)

(65) 24
24 cst -7
E 692 - — — 10cSt
aQ -
e (5.0) 18 -
E 7
a -
= 40 15
c (4.0) >
»
G @o 12 p1-p2 -~
[ ' —~
o - _
g oo =
© e |
[} - L
Z (15 6 - P1-P2 ]
©
£ il /
o
(1.0) 3
35 //,/ //_,,—”"”
0 =
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000) ~ (1500)  (2000) (2175)2500)(2700) (3000) (3500) (4000)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
5
- — n=2800 rpm
— —— n=1500rpm (24 cSt)
n = 1000 rpm
4 (800)
s —  (700)
g 2
» 3 +—= = (600)
e L -
=" z
P1P2 | —
§ o c 60
T 2 == " — == L o
o - o
3 P1-P2 __ — ] 8
S =T - 9 oo
= P1P2 | —
1 (200)
—
(100)
0
0 35 70 105 140 160 175190 210 240 275
(500)  (1000)  (1500)  (2000) (2175)2500)(2700)(3000) (3500) (4000)

Pressure in bar (psi)
Total hydrodynamic power loss is the sum of each section at its
operating conditions.

0

*¢ VELJA

-00 *

-E Modification

Mounting W/connection variables

P1=1".5=3P1=1"-S=2%"

P2 1" 3/4u1) 1" 3/4u 1)
codel Unc | 00 | of 10 | 11
Metricc OM | WO M Wi1

1) for 46 mi/rev max.

2) for 126 ml/rev max.

The large cartridge must be always
mounted in the front.

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

4000

3500

3000

2500

2000

1500

1000

500

0

Lp. Noise level {db(A)} 1m ISO 4412

Porting combination (see page BM-1-5)
00 - standard

NOISE LEVEL (TYPICAL)
VT6CCZ - B22 - B22

80
Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1000 RPM
— — n = 1500 RPM
75 Lw =Lp + 8db (A) =
-
_ -
-
_ - /
- -
—
70 "
_ -
- /
65
60
10 50 100 140 175 210 240
(145) (725) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD
Shaft code X

Shaft code X

1 LFT

N |

Fa

~ ~ S FA< 500N

_Fa= 750N

~ ~ ==~ - _ [FA=1000N

400

600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)



HIGH PERFORMANCE VANE PUMP VT6CCZ

PERMISSIBLE RADIAL LOAD PERMISSIBLE RADIAL LOAD
Shaft code V Shaft code W
(800) 4000 Shaft code V 4000 Shatt code W
F '_’_|
(700) 3500 LI 3500 \\ Ll F
- S R - R
Q (600) 3000 ~ 3000 >
=3 AN ST
Z (500) 2500 N 2500 SN o~ oS3
= S oS TTE AN N Seel T
T @00 2000 RN 2000 NN S R —— FA<500N |
= So TS Tl S FA<500N S o~ R FA= 750N
S S -~ To - A= T50N = S~ S ST
g (300) 1500 ST T 1500 STt === [Fa= 100N
S R Seol TR i Fa= 1000N B e N
( 1000 Tk “~—~_‘EA_1250N 1000 Tl Tte-ol__ FA= 1250N
(100) 500 T ==~ —__EA=1500N 500 B 1500N]
0 0
400 600 1000 1200 1500 1800 2000 2500 2800 400 600 1000 1200 1500 1800 2000 2500 2800
Speed n (rpm) Speed n (rpm)

These curves permit to simultaneously check the maximum permissible radial and axial load on the shaft involved. Those load value are determined
for 10000 hours bearing lifetime at operating under Fa and F given. To get information for a different lifetime the radial load corrected is.

If Fa is smaller than minimum axial force on the curves then

Correct F = %1 LH = Lifetime in hours

L H Required \3.33
10000
If Fa is higher than minimum axial force then F radial load is :

F curve

1

L H Required Y3
10000

Porting Diagrams

Correct F =

53%?¢¢p%i%q
anu»aﬁ.ai£-
;iﬁ%ﬁéﬁaﬂt

VT6CC/VT6CCM -VT6CCSH-VT6DC/VT6DCM -VT6EC/VT6ECM-VT6CP-VT6GCC
VT7BB/VT7BBS-VT7QCC-VT7DB/VT7DBS-VT7QDC
VT7EB/VT7EBS-VT7QEC
VT67CB-VT67DB-VT67EB-VT67BB-VT67CB-VT67EC

P1-P2  P1-P2 S-P1-P2 P1-P2 S-P1 S-P1 S-P1

Q ’ Q =) 40D
P2
P1 P1 P1 P1 P1
[——] [——] [——] [——] [——]
P2 S P2 g P2 g P2
. C <€D .
S P2 S
1 12 13 14 15

VT6DDS-VT6ED/VT6EDM-VT6EES
VT7DD/VT7DDS-VT7ED/VT7EDS
VT7EE/VT7EES




*¢ VELJAN

3/8-16 UNCx0.75 DEEP -4 HOLES

(M10x19.0 DEEP) 3.50
0.50 (89.0)
(12.7) 0.35 2.19
o0 [ (55.5) -
. E-4 HOLES 1.031
E-4 HOLES 62) - 0.31
/ - KEY 10.000/9.985 (7.9) KEY 0.312/0310
_____ 1.97 (0.394/0.393) 150 (7.94/7.89)
M (50.0) b [ (38.1)
N M12x0.94 DEEP M8x0.63 DEEP
V} ) _é\\ (24.0) (16.0)
‘ ol
< + - Oflai -} —- — - = —-|4r -
oif[o
A ole s
:Ev & g8 2 3% o
- A s <[ e oY
ol <21 (=1} n
jE‘ ‘ S 0.06x45° g8 8 S
/S o sxas T SE T 0.06x45° | |z
5 B ©1.00 o= (1.5x45°) Slhe
o6 (25.4)
Jole)
MOUNTING TORQUE 45 ft.Ibs Shaft code V Shaft code W
(61 Nm)
10.46 252
(265.6) (64.1)
3.47 4.00 1.50
(88.2) (101.6) (38.1) 0.38
©.7)
0.46
(1.7 0.25MAX. KEY 0.250/0.248
(6.35) (6.35/6.30)
M8x0.63 DEEP
(16.0)
== 1.94 =N
sl o 49.2) _ =
- 7 g[8 =
ale 23
e S|@ o2 —
E e 3z
— R g2 8ls
£ 0.06x45° | oo = Sl¥
NS (1.5x45% g2 % Q=
-l ==
5w 108
. o2 <o
_005x45 | gl& -I= MOUNTING TORQUE 117 ft.lbs
(1.3x45%) 263 (159 Nm)
Shaft torque limits in3/rev x psi (ml/rev x bar) Shaft code X (02.2)
Shaft Vp x p max. (P1+P2) 2.16
X 22500 (25400) (55.0)
v 28937 (32670) ?s'i,%‘}é?ﬁ;s
w 28937 (32670)
PORT A B c D E -
5/8-11UNCx1.12 DEEP 'S ©1.255/1.254
S |419(106.4) | 244 (619 3.00 (76.2 N -255/1.
(106.4) (61.9) (76.2) (M16 x 28.4 DEEP) 5 g (31.89/31.87)
s 1/2-13UNCx0.94 DEEP e
3.50 (88.9) | 2.00 (50.8) | 2.50 (63.5) (M12 x 24.0 DEEP) B
1S
P2 11874 (47.6) | 0.874(22.2) | 0.75(19.0) | 3.00 (76.2) | 3/8-16UNCx0.75 DEEP
Shaft code S
P2 |206(524) | 1.03(262) | 1.00(25.4) | 2.94 (74.7) (M10x19.0 DEEP) s
B8x32x36

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm [ Input power p & n = 1500 rpm

Series|Displacement Vp[, = 0 bar (0 psi) [p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)lp = 240 bar (3500 psi)

port ind/rev_| cm¥rev | gpm | Ipm | gpm Ipm gpm Ipm | hp kw hp kw hp kw

BO3 0.66 10.8 429 | 162| 2.83 10.7 - - 1.74 1.3 7.11 5.3 - -

B05 1.05 17.2 6.83 | 258| 537 20.3 417 15.8 | 1.88 1.4 | 10.06 75 | 16.36 12.2

B06 1.30 21.3 844 | 319| 7.0 26.5 5.82 220 | 2.01 1.5 | 11.94 89 | 19.71 14.7

B08 1.61 264 | 1048 | 396| 9.02 34.1 7.83 296 | 2.15 1.6 | 14.35 10.7 | 22.93 17.7

P1 B10 2.08 341 |1352| 51.1| 12.08 45.7 10.89 412 | 2.28 1.7 | 18.64 184 | 29.90 22.3

B12 2.26 37.1 | 1471| 55.6| 13.28 50.2 12.08 457 | 2.28 1.7 19.31 144 | 32.32 24.1

& B14 2.81 46.0 | 18.25| 69.0| 16.79 63.5 15.60 59.0 | 2.55 1.9 | 23.60 17.6 | 39.56 29.5

B15 3.08 505 | 20.00 | 75.6| 18.62 70.4 17.46 66.0 | 2.68 2.0 | 2561 191 | 42.91 32.0

P2 B17 3.56 58.3 |23.12| 87.4]| 21.69 82.0 20.50 775 | 2.82 21 | 2937 21.9 | 4948 36.9

B20 3.89 63.8 | 2532 | 95.7| 23.86 90.2 22.67 85.7 | 2.95 22 | 31.92 238 | 5391 40.2

B22 4.29 70.3 | 27.88 | 1054 | 26.45 | 100.0 25.26 955 | 3.08 23 | 85.00 26.1 | 59.14 44.1

B25" 4.84 79.3 |31.46 | 1189 30.02 | 1135 28.83 109.0 | 3.35 25 39.16 29.2 | 66.38 49.5

B28"?| 542 88.8 [35.24 | 133.2| 33.78 | 127.7 32.93 1245 | 3.75 2.8 43.85 32.7 65.04 48.5

B31"?| 6.10 100.0 | 39.68 | 150.0 | 38.22 | 144.5 37.38 1413 | 8.75 2.8 | 48.95 365 | 72.95 54.4

1) B25-B28-B31 = 2500 R.PM. max. 2) B28-B31= 210 bar (3000 psi) max. int.

-- Not to use because internal leakage greater than 50% theoretical flow.




HIGH PERFORMANCE VANE PUMP VT6GCC

Internal leakage Qs in Ipm (Gpm)

VTI6GCC - B22 - B08 - 6 R 00- A 1-00 *
Series m m
Modifications
Cam ring "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev) Mounting W/connection variables
BO3 = 10.8 (0.66) B15 = 50.5 (3.08) P1=1"-S=3{P1=1"-5=212"
B0O5 = 17.2(1.05) B17 = 58.3 (3.56) P2 184 1 3/4""
Bo6 =213(1.30) B20 = 63.8(3.89) codelUnc | 00 J01 | 10 | 11
B08 = 26.4 (1.61) B22 = 70.3 (4.29) [Metric] om [Mo | 1M | M1
B10 = 34.1 (2.08) B25 = 79.3 (4.84) 1) for 46 ml/rev. max.
B12 = 37.1 (2.26) B28 = 88.8 (5.42) 2) for 126 ml/rev max.
B14 = 46.0 (2.81) B31 = 100.0 (6.10) The large cartridge must be always
mounted in the front.
Type of shaft ——— Seal class
6 - splined (DIN 5462) 1-81
Design letter
Direction of rotation (view on shaft end) 9
R - clockwise Porting combination (see page BM-1-5)
L - counter-clockwise 00 - standard
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6GCC - B22-B22
65) 24 80
Inlet pressure 0.9 bar abs
24 cSt 7 o Viscosity 32 cSt
(5.5) 21 g n = 1000 RPM
T T 10t ~ ° — — n =1500 RPM
5.0) 18 _ - @ Lw = Lp + 8db (A) -
E -
@0 15 - - e
- = -
ad < P —
3.0) 12 > 8 70 =
e —_— ] had -~ -
@0) 9 < r 3 S /
e | 5 - T
e // K] —
(15 6 L g 6
P e / ‘©
(1.0) 3 = = /
0 60
0 35 70 105 140 160 175190 210 240 275 10 50 100 140 175 210 240
(500)  (1000)  (1500) (2000) (2175)(2500)2700) (3000) (3500) (4000) (145) (725) (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5 (1900) 9000
- — n=2800 rpm — =
— —— n=1500rpm (24 cSY) (1800) 8500 F
. n = 1000 rpm e
(1700) 8000 — i
~ @
= o
x = (1600) 7500
o 3 ==
g 1= z
» - £ (15000 7000
@ I =
a R
2 o _ =
o —— @  (1400) 6500
o L — o
g R s
s - L — (1300) 6000
i [
4
—— (1200) 5500
0 (1100) 5000
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800

(500)  (1000)  (1500) (2000) (2175)2500)(2700)(3000) (3500)  (4000)

Speed n (rpm)
Pressure in bar (psi)

Life time 3000 hours when 70% of the time at 500 N and 30% at max. load.

Total hydromechanical power loss is the sum of each section at its
operating conditions.



*¢ VELJAN

E-4 HOLES
E-4 HOLES
3/8-16 UNCx0.75 DEEP-4 HOLES
B (M10x19.0 DEEP)
0.59 Max.
(15)
©, ©
ol
- (=] (\i - — -
|
@ @ .
1.03 91.00
(26.2) (25.4)
MOUNTING TORQUE 45 ft.Ibs
61 Nm) MOUNTING TORQUE 117 ft.Ibs
(159 Nm)
js13
12.56 216"
@19.1) (55.0) 1 124300
11.00 140 (3.0x30°)
281.7 }
(281.7) 7,602 (37.85) 0.08/0.07
M12x0.79 DEEP (193.6) (1.95/1.85)
(20.0) i (3'263) 1.022/1.021
‘ . (25.96/25.95)
!
a ©0.323/0.316
3 § ! — (8.20/8.05)
& g a
(] d —_
= 23
5|5 : I
S we TIrg T T B — B 0|8
+|ma ~ &9
eI _ 8§
< (N NE]
[ Lol it
N L _ : S —"
( ) js13 2|S
00.55 = 5 " — (g-g) & S
(14.0) 4 HOLES ~__ ) X o8
o +0.1 |, 145 |
3.5 36.8)
(80.0)
Shaft Code - 6
DIN5462B8x32x36
PORT A B c D E

5/8-11UNCx1.12 DEEP
(M16 x 28.4 DEEP)

1/2-13UNCx0.94 DEEP

S |4.19(106.4) | 2.44(61.9) | 3.00(76.2)

S : . 2, . 2. .

3.50 (88.9) 00 (50.8) 50 (63.5) (M12 x 24.0 DEEP) Shaft torque limits In%/rev x psl (ml/rev x bar)
P2 | 18847.7) | 0.88(222) | 075(19.0) | 3.00(76.2) | 3/8-16UNCx0.75 DEEP Shaft | Vp x p max. (P1+P2)
P2 | 206(524) | 1.03(262) | 1.00(254) | 2.94 (74.7) (M10x19.0 DEEP) 6 | 36921 (32670)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure . Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm |
Series| Displacement Vp [ = o bar (0 psi)[p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psifp = 240 bar (3500 psi)
port in3/rev_| cm3/rev | gpm Ipm| gpm Ipm gpm Ipm hp kw hp kw hp kw
B03 0.66 10.8 | 429 | 162| 283 10.7 - -- 1.74 1.3 7.1 5.3 - -
B05 1.05 172 | 6.83 | 258 | 537 20.3 4.17 15.8 | 1.88 1.4 10.06 7.5 16.36 12.2
B06 1.30 21.3 | 844 | 319| 7.01 26.5 5.82 220 2.01 1.5 11.94 8.9 19.71 14.7
B08 1.61 264 1048 | 39.6| 9.02 34.1 7.83 296 | 2.15 1.6 14.35 10.7 | 22.93 17.7
P1 B10 2.08 341 [1352| 51.1| 12.08 457 | 10.89 412 | 228 1.7 18.64 13.4 | 29.90 22.3
B12 2.26 371 |14.71| 556 | 13.28 50.2 | 12.08 457 | 2.28 1.7 19.31 14.4 | 3232 241
& Bi4 2.81 460 |18.25| 69.0| 16.79 63.5 | 15.60 59.0 | 255 1.9 23.60 17.6 | 39.56 29.5
B15 3.08 50.5 |20.00 | 75.6 | 18.62 70.4 | 17.46 66.0 | 2.68 2.0 25.61 19.1 4291 32.0
P2 B17 3.56 583 |23.12 | 87.4| 21.69 82.0 | 20.50 775 | 2.82 2.1 29.37 219 | 49.48 36.9
B20 3.89 63.8 [|25.32 | 95.7 | 23.86 90.2 | 22.67 85.7 | 2.95 2.2 31.92 23.8 53.91 40.2
B22 4.29 70.3 |27.88 | 105.4 | 26.45 1000 | 25.26 955 | 3.08 2.3 35.00 26.1 | 59.14 44.1
B25" 4.84 79.3 |31.46 | 118.9 | 30.02 1135 | 2g8.83 109.0 | 3.35 25 39.16 29.2 | 66.38 495
B28"? 5.42 88.8 [35.24 | 133.2| 33.78 127.7 | 32.93 1245 | 8.75 2.8 | 43.85 32.7 | 65.04 48.5
B31"? 6.10 100.0 [39.68 | 150.0 | 38.22 1445 | 37.38 1413 | 3.75 2.8 | 48.95 365 | 72.95 54.4

1) B25-B28-B31 = 2500 R.PM. max. 2) B28-B31= 210 bar (3000 psi) max. int.
-- Not to use because internal leakage greater than 50% theoretical flow.




HIGH PERFORMANCE VANE PUMP VT6DCM

*¢ VELJA

VviéeDC* W - B38-B22 1 R 0 - C 1 00 *
Series = Modifications
M= Mobile 1 shaft seal Mounting W/connection variables
P= Mobile 2 shaft seal UNC METRIC
00 |01 [ MO| M1
severe duty shaft only P2 | 1" [3/4"| 1" [ 3/a"
Cam ring for "P1" Seal class
Volumetric displacement cm3/rev (in3/rev) 1-S1 (for mineral oil)
*
B14/R14 = 47.6 (2.90) B35/R35 = 110.0 (6.77) 4 - S4 (for fire resistant fluids)
B17/R17 = 58.2 (3.55) B38/R38 = 120.3 (7.34) ) . ) . .
5 - S5 (for mineral oil and fire resistant fluids;
B20/R20 = 66.0 (4.03) B42/R42 = 136.0 (8.30) . ( )
B24/R24 = 79.5 (4.85) B45/R45 = 145.7 (8.80) Design letter
B28/R28 = 89.7 (5.47) B50/R50 = 158.0 (9.64) Porting combination (see page BM-1-5)
B31/R31 = 98.3 (6.00) B61/R61 = 190.5 (11.62) 00 - standard
*'B'- for Mobile 'R'- for Mobile - spring assisted Direction of rotation
i (view on shaft end)
Cam ring for "P2" R - clockwi
Volumetric displacement cm3/rev (in3/rev) - clockwise )
BO3/R03 = 10.8 (0.66) B15/R15 = 50.5 (3.08) L - counter-clockwise
BO5/R05 = 17.2 (1.05) B17/R17 = 58.3 (3.56) Type of shaft Type of shaft
BO6/R06 = 21.3 (1.30) B20/R20 =  63.8 (3.89) P version 1- keyed (SAE C)
BO8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29) 3 - Splined (no SAE) 2 - keyed (no SAE)
BIO/R10 = 34.1 (2.08) 225/225 = 7930484 MW severe duty 3 - splined (SAE C)
) y = 46.0 (2.81) = 100.0 (6.10) T - Splined (SAE J718c)
'‘B'- for Mobile 'R'- for Mobile - spring assisted
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6DCM- B38-B22
©.0) 32 80
- — — 10cSt Inlet pressure 0.9 bar abs
24 ¢St P~ N Viscosity 32 cSt
E (7.0) 28 - g n = 1000 RPM A
a P o — —n = 1500 RPM _ -
S (60 24 _ @ " Lw = Lp + 8 db (A) e
£ . _ E e
E (5.0) 20 > : _ | -
.‘7’ P o /Pz/ — g 1 _ — — /
O o) 16 2" =
o e - - . 3 IR
g - i ha _—
£ ©o 12 P [ /
g e - - — — 2
2 — T P2 - — ® 65
T (0 8 - = —— 7} a—
£ 4 - L °
2 o 4 > ’/ | =
c (. 7 -
- e //// 5 o
0
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000) (1500)  (2000)(2175) (2500)2700)(3000) ~ (3500)  (4000) (145) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECAHNICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 - — n=2400 rpm I
— —— n=1500rpm (24 cSt)
5 ——— n=1000rpm (454) 2000 —
4 T T T s = = Pl
(409) 1800
s L=
<3 L Shaft keyed N° 1
P 5 _ P1_ (363) 1600
n- - T ——‘—-—_—_--P_“ "’T
2 1 —T ] S (318 1400
2 z
B
2 i 35 70 105 140 160 175 190 210 240 £ (@72 1200
S (500)  (1000) (1500)  (2000) (2175) (2500(2700)(3000)  (3500) w
4 B (22n) 1000
- n = 2400 rpm I 3
- — —— n=1500rpm (24 cSt)
8 n = 1000 rpm g — (181) 800
B — ._-——-'—"______32 —
il I I B S e . (136) 600
I I O A
T | ©1) 400
0
0 35 70 105 140 160 175 190 210 240 275

(500) (1000) (1500)  (2000) (2175) (2500)2700)(3000)

Pressure in bar (psi)

(3500)

(4000)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

600 1000 1200 1500 1800 2000 2500

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)



*¢ VELJAN

7/16-14 UNCx0.88 DEEP- 4 HOLES
(M12x22.3 DEEP) 2.88

5/8-11 UNCx1.12 DEEP 73.2) VT6DCMW
(M16x28.4 DEEP) 4 HOLES 0.62 -
(15.7) 3.06 3.28
: (83.3)
2.441 1.188 0.31 (77.7) KEY 0.3126/0.3106
A (62.0) Bo ] (7.9) 0.31 (7.94/7.89)
150 | KEY0.3126/0.3106
(38.1) (7.94/7.89) 1.925 M8x0.63 DEEP
(48.9) (16.0)
—-— et I
o
@ ~ Ol
oc// ‘@300 | o125 ' [ Hg-gxigz L s de Shaft code 4 58 ls
(76.2) 31.8) - (23459 ale no SAE splined shaft alg
Shaft code 2 Class 1-J498b Shaft code 5
3/8-16 UNCx0.75 DEEP-4 HOLES (keyed no SAE) 12/24 Dp. 14 Teeth (keyed no SAE)
(M10x19.0 DEEP) 30° Pressure angle
11.26 3.29 Flat root side fit
(286.0) (83.6)
4.31 4.50 1.50
(109.5) (114.3) @8.) (1)5’"; KEY 0.3126/0.3106 217
0.31 (12.7) (7.94/7.89) 0.31 (55.2)
7.9
7:9) | |l0.25 max M10x0.79 DEEP 79
[ |(6.35) (20.0) F
. rasy 7 82 s
AT |H (493) 28 o8 38.1)
= { R|©
- 8@ g=
—_ B iNg
52 |n 0.00xa5° | 25 % S 0.09x45°
iz \H (2.3x45°) Y T (2.3x45%)
)= S 8lg
Z 0.05x45° S~ 1= Shaft code 3
MOUNTING TORQUE 50 ft.Ibs (1.3x45°) ale Shaft code 1 SAE C splined shaft
(68 Nm) (Keyed SAE C) Class 1-J498b
MOUNTING TORQUE 138 ft.lbs 2.32 SHEICHET 12/24 Dp. 14 Teeth
- (187 Nm) (59.0) 0.31 aft code 30° Pressure angle
—A"e’gg‘&e f,,‘(’)""“—"";"g':}ﬁs 050 | VT6DCP 7.9 SAE J718C Flat root side fit
(12.7) 540 rpm power take-off s
Al 1.03 (26.2) | 0.874 (22.2) [P0 [2 el ©|@
B| 206 (52.4) | 1.874 (47.6) For Farm Tractor application 2 §";
c| 1.00 (254) | 075 (19.05 0.34/0.33 NN
(25.4) (19.05) 0.09x45° ?7'207) (8.64/8.58) -|%
Shaft torque limits in3/revxpsi(ml/revxbar) (2.3x45°) . | Qo
Shaft Vp x p max. (P1+P2) ) N }»(Z"} é
1 38299 (43240) Shaft code 3
2 30638 (34590) . T
34 54207 (61200) no SAE splined shaft
2 Class 1-J498b
5 49247 (55600) 12/24 dp. 14 teeth ©1.107/1.098
T 58990 (66600) . 1_ (28.14/27.89)
30° pressure angle
Drain hole between double shaft seals (10.3) flat root side fit
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
ort Series|Displacement Vp|p = 0 bar (0 psi)|p = 140 bar (2000 psi)lp = 240 bar (3500 psi)p = 7 bar (100 psi)p = 140 bar (2000 psi|p = 240 bar (3500 psi
[PLelr in3/rev | cm¥rev| 9gpm| Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
Bi4 2.90 476 | 18.88| 71.4 16.42 62.1 14.78 559 | 3.08 2.3 24.81 18.5 41.03 | 30.6
B17 3.55 58.2 23.1| 87.3 20.6 78.0 18.99 71.8 3.35 2.5 29.77 22.2 49.62 37.0
B20 4.00 66.0 [26.19] 99.0 2373 | 89.7 22.08 835 [ 3.75 2.8 33.39 24.9 55.92 | 41.7
B24 4.80 79.5 31.56| 119.3 29.10 | 110.0 27.46 103.8 4.02 3.0 39.69 29.6 66.78 49.8
B28 5.50 89.7 | 35.58| 134.5 33.12 | 125.2 31.48 | 119.0 | 4.29 3.2 44.52 33.2 7496 | 559
P1 B31 6.00 98.3 | 39.00| 147.5 36.53 | 138.1 3489 | 131.9 | 442 3.3 48.54 36.2 81.80 | 61.0
B35 6.80 111.0 | 44.04| 166.5 4158 | 157.2 39.94 | 151.0 | 4.69 35 54.58 40.7 92.13 | 68.7
B38 7.30 120.3 | 47.72| 180.4 45.26 | 17141 43.62 | 164.9 | 4.96 3.7 58.87 43.9 99.64 | 743
Ba2" 8.30 136.0 | 53.96| 204.0 51.50 | 194.7 49.86 | 1885 | 5.36 | 4.0 66.25 49.4 11224 | 83.7
B45" 8.89 1457 | 57.80| 2185 55.34 | 209.2 53.70 | 203.0 | 5.50 441 70.81 52.8 120.02 | 89.5
B50"?| 9.64 158.0 | 62.69| 237.0 60.23 | 227.7 59.25 | 224.0 | 5.90 4.4 76.44 57.0 113.98 | 85.0
Be1"¥ | 11.62 190.5 | 76.25| 285.7 73.54 | 278.0 - - 6.16 | 46 81.26 | 60.6 - -
B03 0.66 10.8 4.29| 16.2 283 | 107 - - 1.74 1.3 7.1 5.3 --
B05 1.05 17.2 6.83| 25.8 5.37 | 203 417 15.8 1.88 1.4 10.06 7.5 16.36 12.2
B06 1.30 21.3 8.44| 31.9 7.01 | 265 582 | 220 2.01 15 11.94 8.9 19.71 14.7
B08 1.61 26.4 | 10.48| 39.6 9.02 | 3441 7.83 | 296 | 2.15 1.6 14.35 10.7 22.93 17.7
B10 2.08 341 | 1352| 51.1 12.08 | 45.7 10.89 | 412 | 228 1.7 18.64 13.4 29.90 | 223
B12 2.26 37.1 14.71| 55.6 13.28 | 50.2 12.08 | 457 | 2.28 1.7 19.31 14.4 32.32 24.1
- B14 2.81 46.0 | 18.25| 69.0 16.79 | 63.5 15.60 | 59.0 | 2.55 1.9 23.60 17.6 39.56 | 295
2 B15 3.08 50.5 | 20.00| 75.6 18.62 | 70.4 17.46 | 66.0 | 2.68 | 2.0 25.61 19.1 4291 | 32.0
B17 3.56 58.3 23.12| 87.4 21.69 82.0 20.50 77.5 2.82 21 29.37 21.9 49.48 36.9
B20 3.89 63.8 25.32| 95.7 23.86 90.2 22.67 85.7 2.95 2.2 31.92 23.8 53.91 40.2
B22 4.29 70.3 | 27.88| 105.4 26.45 | 100.0 2526 | 955 | 3.08 2.3 35.00 26.1 59.14 44.1
B25 4.84 793 | 31.46| 118.9 30.02 | 1135 | o883 |109.0 | 3.35 | 25 39.16 | 29.2 66.38 | 495
B28? 5.42 88.8 | 35.24| 133.2 33.78 | 127.7 3293 [1245 | 375 2.8 4385 | 32.7 65.04 | 485
B31? 6.10 100.0 | 39.68| 150.0 38.22 | 144.5 37.38 [ 1413 | 3.75 2.8 48.95 | 365 7295 | 54.4

1) B42-B45-B50-B61=2200 RPM max.  2) B28-B31- B50=210 bar (3000 psi) max. int 3) B61 = 120 bar (1740 psi) max. int, B61 = 80 bar (1160 psi) cont. -



HIGH PERFORMANCE VANE PUMP VT6ECM

*¢ VELJA

VI6EC *Y -066 - B22 1 R 00 - C 1
Series = Modifications
M=Mobile 1 shaft seal Seal class
P= Mobile 2 shaft seal 1-81 (for mineral oil)
Y - Metric port connection, Omit for UNC 4 - 84 (for fire resistant fluids)
Cam ring for "P1" 5 - S5 (for mineral oil and fire resistant fluids)
Yolumetrlc displacement cm3/rev (in3/rev) Design letter
042/R42 = 132.3 (8.07) 062/R62 = 196.7 (12.00)
045/R45 = 142.4 (8.69) 066/R66 = 213.3 (13.02) Porting combination (see page BM-1-5)
050/R50 = 158.5(9.67)  O072/R72 = 227.1 (13.86) 00 - standard
052/R52 = 164.8 (10.06) 085/R85 = 269.8 (16.46)
057/R57 = 180.7 (11.02) Direction of rotation
*'R'-  for Mobile - spring assisted (view on shaft end)
R - clockwise
Cam ring for "P2" L - counter-clockwise
yolumetric displacement cm3/rev (in3/rev)
BO3/R03 = 10.8 (0.66) ::?;2:? = 50.5(3.08) *Type of shaft Type of shaft
BO5/R = = . K .
SRe — 2o(1s  B20RZ - as 0 P version A
3(1.80) o 3- Splined (no SAE) 2-keyed (no SAE)
B0O8/R08 = 26.4 (1 .61) B22/R22 = 70.3 (4.29) 3 - splined (SAE C)
B10/R10 34.1 (2.08) B25/R25 = 79.3 (4.84) 4 - splined (SAE CC)
B12/R12 37.1 (2.26) B28/R28 = 88.8 (5.42) T - Splined (SAE J718c)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10)
*B'- for Mobile 'R'- for Mobile - spring assisted
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6ECM- 050-B22
(9.0) 36 85
— — 10 cSt ~ Inlet pressure 0.9 bar abs
_ (80 32 24 cSt P17 - Viscosity 32 cSt
3 - 3 n = 1000 RPM
=3 — — n = 1500 RPM
G 028 ~ 8 80 Lw = Lp + 8 db (A) _
g_ ©.0) 24 - £ -
— Ve - — -
£ = -
5.0) 20 = < -
8 (6.0) P P2 s 75 —
g (4.0) 16 // //ﬁ E" /// /
] e —= _— -
X = g - /
3 cone _ = ] -
T @0 s ~ - = - R— 8"
-:‘:’ s - / /// 2 //
T 10 4 - // s [—
0 65
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240

HYDROMECHANICAL POWER LOSS (TYPICAL)

(500)  (1000)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

(1500)
Pressure in bar (psi)

(2000)(2175)(2500) (2700) (3000)  (3500)

(4000) (145) (725) (1500) (2000) (3000)

Pressure in bar (psi)

(2500) (3500)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

Total leakage is the sum of each section loss at its operating

conditions.

PERMISSIBLE RADIAL LOAD

Power loss Ps (kW)

Total hydromechanical power loss is the sum of each section at its

n = 2200 rpm I
- — —n=1500rpm (24 cSt) @s4) 2000
=1
n = 1000 rpm B el o —
B (409) 1800 |
—_— e —— El__>4__ ST
- - Shaft keyed N° 1
p1 (363) 1600 |—
- _—
8
o (318) 1400
=2
-4
£ (272 1200
35 70 105 140 160 175 190 210 240
(500)  (1000)  (1500)  (2000) (2500)  (3000)  (3500) w
(2175)  (2700) ® @) 1000
- — n=2200rpm I 3
— — n =1500 rpm (24 cSt
n = 1000 r::m (248 (181) 800
P2 - =
I — SR ——=— - (136) 600
- e
T | ©1 400
35 70 105 140 160 175 190 210 240 275 2200

(500)  (1000)

operating conditions.

(1500)
Pressure in bar (psi)

(2000(2175) (2500Y2700)(3000)

600 1000 1200 1500 1800 2000

(3500)  (4000)

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



*¢ VELJAN

1/2-13 UNCx0.92 DEEP-4 HOLES 2.44
3/8-16 UNCx0.75 DEEP (M12x23.4 DEEP) (?.69) (61.9) sas
(M10x19.0 DEEP) 275 7.5 2.20 :
4 HOLES 1.406 0.31 55.9 (62.2)
(69.8) (55.9) 0.31
1.031 @5 — | 79 031 79
(26.2) ] [17(7.9) -4
Ran 1.50
‘ (38.17| KEY 0.3126/0.3106 1.50 e
| (7.94/7.89) (38.1) (81.5)
J= )
815 T E - — - 2 7—{774#;— 7—767744;—
A=
Iis KNS g 0.09x45° 4 0.09x45°
= -5 o :r;“ (2.3x45°) (2.3x45°)
32 g
- | oooast g B8 Shaft code 3 Shaft code 4
‘ ] -] (2:3x459 g SAE C splined shaft SAE CC splined shaft
?8%%? ?317'_‘:‘)5 Shaft code 2 Class 1-J498b Class 1-J498b
/811 UNCxt .16 DEEP-4 HOLES (Keyed non SAE) 12/24 dp. 14 teeth 12/24 dp. 17 teeth
- : ~ 30° pressure angle 30° pressure angle
(M16x29.5 DEEP) Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9) 8.386
5.38 ) 4.665 _ 2.06 (213.0)
(136.7) (118.5) (52.3) 0.50 7.125 ‘
‘ 0.31 (12.7) (181.0)
: KEY 0.375/0.373 3.563
1 ‘ (79 e A (9.52/9.47) ©.5) 1
2.00 M10x0.79 DEEP
: _ (50.8)" / (20.0) @
PR ol
<ls | @ <ld A/ ‘
o ¢ g Sz ©
N~ l ol 8 § / N //
o < !
r- 1. |- - ¥ . ___ i I ] Sl© S| N :() _ L
] 8 c § g NN
= » 8|5 N ga
} o o= p |
S€ \g 28 £ 2 8=
)i \ = S 23 & @
( 0.09x45° 3= 2E ‘ /)
- (2.3x45°) 5le
MOUNTING TORQUE 50 ft'.\:bs 0.05x45°° - Shaft co d&e 1 MO‘UNTING TOF‘!QUE 138 ﬂ.ILs (187 Nm)
s 2.44 (68 Nm) (1.3x45°) (Keyed SAE CC) 3.85 Shaft code T
0.31 | 97.7)
79 ( SAE J718C
0.31 540 rpm power take-off
0.09x45° (7.9) For Farm Tractor application ~
(2.3x45°) 3|5
[] 3
VT6ECP Shaft torque limits in3/rev x psi (ml/rev x bar) 0.27 0.34/0.33 & E.
| Shaft Vp x p max. (P1+P2) QW (8.64/8.58) a 5
1 64044 (72306) ) | =
Shaft code 3 q T
no SAE splined shaft 2 30638 (34590) — 3 °
Class 1-J498b & 54207 (61200)
12/24 dp. 14 teeth 4 67582 (76376) T
30° pressure angle i 63256 (70400)
flat root side fit (VIGECE)IS 54207 (61200) ©1.107/1.008
»&M Drain hole between double Shaft seals L (28.14/27.89)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm |
ort Series|Displacement Vp| p = 0 bar (0 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi) [p = 7 bar (100 psi)p = 140 bar (2000 psifp = 240 bar (3500 psi)
P in/rev | cm®/rev | gpm [ Ipm | gpm [ Ipm gpm | Ipm | hp [ kw hp kw hp kw
042 8.07 132.3 52.50 | 198.5 | 49.87 188.5 47.96 181.3 6.97 5.2 66.25 49.4 110.77 82.6
045 8.70 142.4 56.51 213.6 | 53.86 203.6 51.98 196.5 7.24 5.4 70.94 52.9 118.95 88.7
050 9.67 158.5 62.88 | 237.7 | 60.24 | 227.7 58.36 | 220.6 7.64 5.7 78.45 58.5 131.82 98.3
P1 052 10.00 164.8 65.40| 247.2 | 62.75 237.2 60.87 230.1 7.78 5.8 81.53 60.8 136.92 102.1
057 11.02 180.7 71.71| 271.1| 69.07 261.1 67.19 254.0 8.18 6.1 89.04 66.4 143.35 106.9
062 12.00 196.7 78.04 | 295.0 | 75.40 285.0 73.52 277.9 8.58 6.4 96.42 71.9 162.67 121.3
066 13.00 213.3 84.63|319.9| 81.98 309.9 80.11 302.8 8.98 6.7 104.20 77.7 175.94 131.2
072 13.86 2271 90.11| 340.6 | 87.46 330.6 85.58 323.5 9.25 6.9 110.77 82.6 187.07 139.5
085"2| 16.40 269.8 [107.00| 404.7 | 105.21 | 397.7 - - 9.78 7.3 87.56 65.3 - -
B03 0.66 10.8 429| 16.2 2.83 10.7 - - 1.74 1.3 711 5.3 --
B05 1.05 17.2 6.83| 25.8 5.37 20.3 417 15.8 1.88 1.4 10.06 7.5 16.36 12.2
B06 1.30 21.3 844| 319 7.01 26.5 5.82 22.0 2.01 1.5 11.94 8.9 19.71 14.7
B08 1.61 26.4 10.48| 39.6 9.02 34.1 7.83 29.6 2.15 1.6 14.35 10.7 22.93 17.7
B10 2.08 34.1 13.52| 51.1| 12.08 45.7 10.89 41.2 2.28 1.7 18.64 13.4 29.90 22.3
B12 2.26 37.1 14.71| 55.6| 13.28 50.2 12.08 45.7 2.28 1.7 19.31 14.4 32.32 241
- B14 2.81 46.0 18.25| 69.0| 16.79 63.5 15.60 59.0 2.55 1.9 23.60 17.6 39.56 29.5
B15 3.08 50.5 20.00| 75.6| 18.62 70.4 17.46 66.0 2.68 2.0 25.61 19.1 42.91 32.0
B17 3.56 58.3 23.12| 874 | 21.69 82.0 20.50 77.5 2.82 2.1 29.37 21.9 49.48 36.9
B20 3.89 63.8 25.32| 95.7| 23.86 90.2 22.67 85.7 2.95 2.2 31.92 23.8 53.91 40.2
B22 4.29 70.3 27.88| 105.4 | 26.45 100.0 25.26 95.5 3.08 2.3 35.00 26.1 59.14 441
B25 4.84 79.3 31.46| 118.9 | 30.02 113.5 28.83 109.0 3.35 2.5 39.16 29.2 66.38 49.5
B28% 5.42 88.8 35.24| 133.2| 33.78 127.7 32.93 124.5 3.75 2.8 43.85 32.7 65.04 48.5
B31Y 6.10 100.0 39.68| 150.0 | 38.22 144.5 37.38 141.3 3.75 2.8 48.95 36.5 72.95 54.4
1) 085 = 2000 RPM max. 2) 085 = 75 bar (1100 psi) cont. 085 = 90 bar (1300 psi) max. int. 3) B28-B31=210 bar (3000 psi) max. int,

-- Not to use because internal leakage greater than 50% theoretical l/-



HIGH PERFORMANCE VANE PUMP VT6EDM

VIGED* Y - 066 - B38

Series
M= Mobile 1 shaft seal

P= Mobile 2 shaft seal
Y - Metric port connection, Omit for UNC

Cam ring for "P1"

Volumetric displacement cm3/rev (in3/rev)

*042/R42 = 132.3 (8.07) 062/R62 = 196.7 (12.00)
045/R45 = 142.4 (8.69) 066/R66 = 213.3 (13.02)
050/R50 = 158.5 (9.67) 072/R72 = 227.1 (13.86)
052/R52 = 164.8 (10.06) 085/R85 = 269.8 (16.46)
057/R57 = 180.7 (11.02)

*R'- for Mobile - spring assisted

Cam ring for "P2"
Volumetric displacement cm3/rev (in3/rev)

*B14/R14 = 47.6 (2.90) B35/R35 = 110.0 (6.77)

B17/R17 = 58.2 (3.55) B38/R38 = 120.3 (7.34)

B20/R20 = 66.0 (4.03) B42/R42 = 136.0 (8.30)

B24/R24 = 79.5 (4.85) B45/R45 = 145.7 (8.89)

B28/R28 = 89.7 (5.47) B50/R50 = 158.0 (9.64)

B31/R31 = 98.3 (6.00) B61/R61 = 190.5 (11.62)

*B'- for Mobile 'R'- for Mobile - spring assisted

INTERNAL LEAKAGE (TYPICAL)
(00) 36 10 cSt

. 80) 32 24 cSt -

£ -7
8‘ (7.0) 28 /PI -
E 6o 2 <

2 -1

[ = ;e

w 50 20 7
e} // ps /
§, 0 e /// /P/1 ///
T 60 12 z v

= =7 - "

T (20 8

c z

3 27 /

T 00 4 Z

7
Z
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500)  (2000)(2175) (2500)(2700)(3000)  (3500)

Pressure in bar (psi)

Do not operate pump more than 5 s

econds at any speed or

viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating

conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

6 [ = — n=2200rpm
- — —n=1500rpm (24 cSt)
5 n = 1000 rpm P1 R R Epp——
. [ I
[T N D (O
3 S —
P1 -
2 ——
= 1
E]
<3
~ 0
g: 0 35 70 105 140 160 175 190 210 240
@ (500) (1000) (1500) (2000)(2175) (2500)(2700)(3000)  (3500)
2
= ~ — n = 2200 rpm
[ - — —n=1500rpm (24 cSt)
E 5 n = 1000 rpm
o
4 _________E__———————
3
P A S I S I
p2 |
1
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)(2175) (2500)(2700) (3000) (3500)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its
operating conditions.

Load F in N (Lbs)

*¢ VELJA

<]
"

1 *

N

|

Modifications

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

—Type of shaft
P version
3 - Splined (no SAE)

Lp. Noise level {db(A)} 1m ISO 4412

(863)

(772)

(681)

(590)

(500)

(409)

(318)

(227)

(136)

Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

Type of shaft

1 - keyed (SAE CC)

2 - keyed (no SAE)

3 - splined (SAE C)

4 - splined (SAE CC)

T - Splined (SAE J718c)

NOISE LEVEL (TYPICAL)

VT6EDM- 050-B38
85

Inlet pressure 0.9 bar abs

Viscosity 32 ¢St

n = 1000 RPM

— — n = 1500 RPM
Lw =Lp + 8 db (A)

80

75

70

\/

65

10
(145)

240
(3500)

50
(725)

100
(1500)

140 175
(2000) (2500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

210
(3000)

PERMISSIBLE RADIAL LOAD

3800

3400

L. _|.Fa
Shaft keyed N° 1

3000

2600

2200

1800

1400

1000

600

600 1000 1200 1500 1800 2000 2200

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



*¢ VELJAN

5/8-11 UNCx1.18 DEEP-4 HOLES 2.44
(M16x30.0 DEEP) 0.69 (61.9)
7/16-14 UNCx0.94 DEEP (17.5)
(M12x24.0 DEEP)4 HOLES 031 é'szg) 245
1.189 3.06 1.406 79 . (62.2)
(77.8) (85.7)] | ’ o
(30.2) ] _|.0.09x45 0.31 0.31
1 ~(2.3x45°) ) T 79)
| 1.50
NE % B (38.1) | KEY 0.3126/0.3106
(7.94/7.89)
© o
- = = L ] 1] === B
n
= =
& 2‘ g ~ 0.09x45° 0.09x45°
o oY (2.3x45°) (2.3x45°)
T ) ge I8
o118 - ae Shaft code 3 Shaft code 4
(29.5) ©4.00 1.46 SAE C splined shaft SAE CC splined shaft
(101.6 (37.1) Shaft code 2 Class 1-J498b Class 1-J498b
1/2-13 UNC x0.92 DEEP (Keyed no SAE) 12/24 dp. 14 teeth 12/24 dp. 17 teeth
(M12x23.5 DEEP) 4 HOLES 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
14.21 3.58
(361.0) (90.9)
‘ 5.84 ) 5.26 _ 2.06
(148.2) (133.5) (52.3) 0.50
(12.7)
0.31 KEY 0.375/0.373
| | (7.9) ?:5 ;VIAX (9.52/9.47)
‘ 35
/ ‘ \_ —
—T 2.00 M10x0.79 DEEP
s < ‘ j— (50.8) /" (20.0)
<=
gz g B /
ko = o= o
|
gs =8
— 01— 1 —  — - — - I T — — - -t o 88 §§ -
|2 =
] g ol 8 g §2
5B i ECE S
, ~ _ o8 <
P
0.09x45° sle g|@
(2.3x45°) 2= <g
MOUNTING TORQUE 138 ft.Ibs (187 Nm) 0.05x45° | K MOUNTING TORQUE 138 ft.lbs (187 Nm)
(1.3x45°)
a1 G0 VT6EDP Shaft code 1 385 Shaft code T
NI (Keyed SAE CC) ©r.7) SRS
031 |, 2677 540 rpm power take-off
0.09x45° 3 For Farm Tractor application
~(2.3x450) ©l®
™'
B s
Shaft torque limits in3/rev x psi (ml/rev x bar) SR
0.34/0.33 &[5
Shaft Vp x p max. (P1+P2) (8.64/8.58) 5 b
1 64044 (72306) . S
Shaft code 3 2 30638 (34590) =
no SAE splined shaft 3 54207 (61200) @
Class 1-J498b 4 67582 (76376)
12/24 dp. 14 teeth T 63256 (70400) !
30°pressure angle  ["(yTGEDP) 3 54207 (61200)
flat root side fit ©1.107/1.098
021 (5.3) Drain hole between double Shaft seals (28.14/27.89)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
ort Series|Displacement Vp|p = 0 bar (0 psi)[ p = 140 bar (2000 psi)] p = 240 bar (3500 psi) p = 7 bar (100 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi
P in/rev | cm/rev| gpm | Ipm| gpm lpm | gpm lpm | hp [ kw | hp kw hp Tow
042 8.07 132.3 52.50 | 198.5| 49.87 188.5 47.96 181.3 6.97 5.2 66.25 49.4 110.77 82.6
045 8.70 142.4 56.51| 213.6| 53.86 203.6 51.98 196.5 7.24 5.4 70.94 52.9 118.95 88.7
050 9.67 158.5 62.88 | 237.7| 60.24 227.7 58.36 220.6 7.64 5.7 78.45 58.5 131.82 98.3
P1 052 10.00 164.8 65.40 | 247.2| 62.75 237.2 60.87 230.1 7.78 5.8 81.53 60.8 136.92 102.1
057 11.02 180.7 71.71| 271.1] 69.07 261.1 67.19 254.0 8.18 6.1 89.04 66.4 143.35 106.9
062 12.00 196.7 78.04 | 295.0| 75.40 285.0 73.52 277.9 8.58 6.4 96.42 71.9 162.67 121.3
066 13.00 213.3 | 84.63| 319.9| 81.98 309.9 80.11 302.8 | 8.98 6.7 | 104.20 77.7 175.94 | 131.2
072 13.86 2271 90.11| 340.6| 87.46 330.6 85.58 323.5 9.25 6.9 | 110.77 82.6 187.07 139.5
085"?| 16.40 | 269.8 [107.00 | 404.7| 105.21 | 897.7 - - 9.78 | 73 | 8756 | 653 - -
B14 2.90 476 | 18.88| 71.4| 16.42 62.1 14.78 559 | 3.08 2.3 24.81 18.5 41.03 30.6
B17 3.55 58.2 23.1| 87.3 20.6 78.0 18.99 71.8 3.35 2.5 29.77 22.2 49.62 37.0
B20 4.00 66.0 | 26.19]| 99.0| 23.73 89.7 22.08 83.5 | 3.75 2.8 | 33.39 24.9 55.92 41.7
B24 4.80 79.5 31.56| 119.3| 29.10 110.0 27.46 103.8 4.02 3.0 39.69 29.6 66.78 49.8
B28 5.50 89.7 | 35.58| 134.5| 33.12 125.2 31.48 119.0 | 4.29 3.2 | 4452 33.2 74.96 55.9
P2 B31 6.00 98.3 39.00 | 147.5| 36.53 138.1 34.89 131.9 4.42 3.3 48.54 36.2 81.80 61.0
B35 6.80 111.0 44,04 | 166.5| 41.58 157.2 39.94 151.0 4.69 3.5 54.58 40.7 92.13 68.7
B38 7.30 120.3 47.72| 180.4| 45.26 1711 43.62 164.9 4.96 3.7 58.87 43.9 99.64 74.3
B42 8.30 136.0 53.96 | 204.0| 51.50 194.7 49.86 188.5 5.36 4.0 66.25 49.4 112.24 83.7
B45 8.89 145.7 57.80 | 218.5| 55.34 209.2 53.70 203.0 5.50 41 70.81 52.8 120.02 89.5
B50” 9.64 158.0 62.69 | 237.0| 60.23 227.7 59.25 224.0 5.90 4.4 76.44 57.0 113.98 85.0
Be1” | 1162 | 1905 | 76.25| 285.7| 73.54 | 278.0 - - 616 | 46 | 8126 | 606 - -

1) 085 = 2000 RPM max. 2) 085 = 75 bar (1100 psi) cont. 085 = 90 bar (1300 psi) max. int. 3) B50=210 bar (3000 psi) max. int 4) B61 = 120 bar (1740 psi) max. int, B61 = 80 bar (1160 psi) cont.




HIGH PERFORMANCE VANE PUMP VT7BB /VT7BBS

VT7BB or VT7BBS - B10 - B10-1 R 00 - A 1 00 -

L Modifications

VT7BB series-100 A2 HW —————— m m Mounting W/connection variables

ISO 2 bolts 3019-2 mounting flange

VT7BBS series- SAE B 2 bolts VT7BBS | VT7BB-VT7BBS
Mounting flange J744

UNC METRIC

00 | 01 Mo M1
Cam ring for "P1" & "P2" P1| 1" [3/4" 1" 3/4"
Volumetric displacement cm3/rev (in3/rev) Seal class
B02 = 5.7 (0.35) B09 = 28.0 (1.71) 1-51 (for mineral ol
B03 = 9.8 (0.60) B10 = 31.8 (1.94) ) ) .
BO4 = 12.8 (0.78) Bi1 = 34.9 (2.13) 4 - 84 (for fire resistant fluids)
B05 = 15.9 (0.97) B12 = 40.9 (2.50) 5 - S5 (for mineral oil and fire resistant fluids)
B06 = 19.8 (1.21) B14 = 45.1 (2.75) Design letter
B07 = 225 (1.37) B15 = 50.0 (3.05)
B08 = 24.9 (1.52) Porting combination (see page BM-1-5)

Type of shaft VT7BBS

00 - standard

1 - keyed (no SAE) Direction of rotation
2 - keyed (SAE BB) (view on shaft end)
3 - splined (SAE B) R - clockwise

4 - splined (SAE BB) L - counter-clockwise
Type of shaft VT7BB- VT7BBS

5 - keyed (ISO R775)

INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7BB- B10-B04
(20) 8 70
24 ¢St o Inlet pressure 0.9 bar abs
= R e - Viscosity 32 cSt
E 10cst - 3 n = 1200 RPM
o - ] — — n=1800 RPM
E (15) 6 - ] Lw = Lp + 8db (A) _
P1-P2 -
o i E 65 -
[ -~ -
= e —
%) - < e
(] = -
o (10 4 pd - T - -
g nd - - N -
P1-P2 ? N
3 - e g T
o 2 60 ——— =
— ps / o -
S (5 2 = @ ]
= / o /
g - z
E - 5 -
- // ~ —
0 LF 55
0 35 70 105 140 175 210 240 275 0 35 70 105 140 175 210 240 275 310
(500)  (1000)  (1500)  (2000)  (2500)  (3000) (3500) (4000) (500)  (1000) (1500)  (2000)  (2500) (3000)  (3500)  (4000) (4500)
Pressure in bar (psi) Pressure in bar (psi)

Power loss Ps (kW)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
(350) 1557
- — n=2800 rpm
3 — — n=1800 rpm (24 cSt)
n = 1200 rpm o (300) 1335
“P1-P2 R S <
- |Fa
i Shaft keyed N° 1
—_
- _ (250 1100
- 2
2 — 1<
— 7 = =z
- _— 200) 890
- _ —— P1-P2 £ o
- T L
- k-]
-— ©
- _ 4 O (150) 660
. = — |
T —m
_— (100) 440
//
0 (50) 222
0 35 70 105 140 175 210 240 275 600 1000 1400 1800 2200 2600
(5000 (1000)  (1500)  (2000)  (2500) (3000)  (3500)  (4000)
Pressure in bar (psi) Speed n (rpm)
Total hydromechanical power loss is the sum of each section at its Maximum permissible axial load Fa = 800 N (180 Lbs)

operating conditions.



*¢ VELJAN

Ax0.75 DEEP-4 HOLES 2.76
(70.1)
Bx0.88 DEEP-4 HOLES 0.50 VT7BB
(22.4) (12.7)
1.60
Ax0.75 DEEP-4 HOLES 0.31 1.79
L2019 DLET TOLES 40.7
(19.0) 79 | 0.06x45° 0a | Y 031 on
157 | (1.5%45°) 7.9) 7.9)
(39.8)
KEY 0.315/0.276
) (8.00/7.01) § S
B2 ' 93
2% - 53 -
gl % g 0.06x45° 0.06x45°
88 =g (1.5x45%) (1.5x45°)
o Hy 1
2s =&
0.08x45° § s -I=
(2.0x45°) 8|S Shaft code 5 Shaft code 4 Shaft code 3
(22.2) X (63..5) oF 0.35 (Keyed ISO R775) SAE BB splined shaft SAE B splined shaft
(19.05) (8.9) Class 1-J498b Class 1-J498b
16/32 dp. 15 teeth 16/32 dp. 13 teeth
10.59 2.81 30° pressure angle 30° pressure angle
(269.0) (71.4) Flat root side fit Flat root side fit
3.85 ) 4.05 1.50 0.38 6.87
(98.0) (103.0) (38.1) ©.7) VT7BBS (174.5)
0.31 F
79 KEY 0.250/0.248
0.25 MAX (6.35/6.30)
‘ | (6.35)
‘ J ‘ L ‘ 1.50 M8x0.63 DEEP
_ ' - (38.1) /  (16.0) .
ol gl
5g & / _ 3
2 |0 ~
*|Q
- g5 o
’E”*’*’* I N i als §§
S —— 2 % 82
iRE ) g =
RIS sl& -|§
ol s
\E : ooexase | 8IS (&
(1.5x45°) b & 7 ; :
\ MOUNTING TORQUE 57 ft.lbs 0.05x45° \ MOUNTING TORQUE 138 ft.lbs
(80 Nm) N7 Shaft code 2 (187 Nm)
(Keyed SAE BB)
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 12666 (14300) 2.29
2 18972 (21420) (58.2)
3 18246 (20620) 0.31 125 KEY 0.1875/0.1855
4 28937 (32702) (7.9) @1.8) (4.76/4.71)
5 22409 (25325) —
VT7BBS VT7BB /
o0 | o1 Mo M1
A 3/8-16 UNC M10 R
B 1/2-13 UNC M12
c 1.03 (26.2) 0.874 (22.2) | 1.03 (26.2) 0.874 (22.2) oS z
0.09x45° QN =
D 2.06 (52.4) 1.874 (47.6) | 2.06 (52.4) 1.874 (47.6) e S 8 g3
. ')
OE | 1.00(25.4) 0.75 (19.05) | 1.00 (25.4) 0.75 (19.05) 'g & 3&
o
F 5.75 (146.05) 5.51 (140.0 als
(146.05) (140.0) Shaftcode 1 ©
G 2.87 (73.0) 2.75 (70.0) (Keyed no SAE)
OH 0.56 (14.3) 0.55 (14.0)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
ort Series|Displacement Vp|p = 0 bar (0 psi) p = 140 bar (2000 psi] p = 320 bar (4650 psi)| p = 7 bar (100 psi)[p = 140 bar (2000 psi)|p = 320 bar (4650 psi)
P infrev | cmrev| @pm [ Ipm | gpm ipm | gpm Ipm hp kw hp kw hp kw
B02 0.35 5.7 2.76 | 10.4 2.33 8.8 1.73 6.5 0.74 0.55 4.02 2.99 8.59 6.40
B03 0.60 9.8 4.66 | 17.6 4.23 15.9 3.63 13.7 0.85 0.63 6.24 4.65 13.75 10.25
B04 0.78 12.8 6.09 | 23.0 5.66 21.4 5.06 19.2 0.94 0.70 7.90 5.89 17.62 13.13
Bo5 | 0.97 15.9 7.56 | 28.6 7.13 26.9 6.53 24.7 1.02 0.76 9.62 717 21.62 16.12
P1 BO6 1.21 19.8 942 | 35.6 8.99 33.9 8.39 31.7 1.13 0.84 11.79 8.79 26.66 19.88
& B0O7 1.37 22.5 10.70 | 40.4 10.27 38.8 9.67 36.5 1.20 0.89 13.29 9.91 30.14 22.47
p2 Bo8 | 1.52 249 |11.84 | 447 | 11.41 43.1 10.81 40.9 1.27 0.94 14,62 | 10.90 33.24 24.78
B09 1.71 28.0 13.31 | 50.3 12.87 48.6 12.28 46.4 1.36 1.01 16.35 12.19 37.25 27.77
B10 1.94 31.8 15.12 | 57.2 14.69 55.5 14.09 53.4 1.46 1.11 18.45 13.75 4214 31.42
B11"| 2.13 34.9 16.64 | 62.9 16.19 61.2 15.61 59.0 1.55 1.15 20.17 15.04 43.22 32.22
B12 "| 2.50 409 |19.50 | 73.7 | 19.07 721 | 18.54 70.1 1.72 1.28 2355 | 17.56 50.58 | 37.71
B14 " 2.75 451 21.40 | 80.8 20.95 79.2 20.37 77.0 1.83 1.36 25.80 19.23 55.48 41.37
B15 | 3.05 50.0 23.78 | 89.8 23.35 88.3 22.88 86.5 1.97 1.47 28.55 21.28 57.35 42.76

1) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm




HIGH PERFORMANCE VANE PUMP VT7QCC

VvT7QCC 1 W -022 -008 -1 RO0O-B 1-00 *
Series m P2 E
Mounting Modifications
1-SAEB Mounting W/connection variables
2-SAEC P1=1"-5=3P1=1"- 5=2"
Use for severe duty shaft only P2 1" |34 1 |34 "
i voan o noen . Unc 00 01 10 11
Cam ring for "P1" & "P2 |C Metric| OM | wo 1M W1
Delive 0 bar & 1500 rpm
*( e pm) ) 1) for 46 ml/rev max.
003/B03/Y03 = 16.2I/min 015/B15/Y15 = 75.1 I/min 2) for 126 mi/rev max
005/B05/Y05 = 25.8/min 017/B17/Y17 = 87.41/min The large cartridge must be always
006/B06/Y06 = 31.9 I/min 020/B20/Y20 = 95.7 l/min mounted in the front.
008/B08/Y08 = 39.6 |/min 022/B22/Y22 = 105.4 |/min
010/B10/Y10 = 51.11min  025/B25/Y25 = 118.9 min — Sealclass
012/B12/Y12 = 55.6 |/min 028/B28/Y28 = 133.2|/min 1-81 (for mineral oil)
014/B14/Y14 = 69.0 |/min 031/B31/Y31 = 150.0 I/min 4 - 84 (for fire resistant fluids)
*i0'- Uni- directional 'B'- Bi - directional 'Y'- Bi - directional 5 - 85 (for mineral oil and fire resistant fluids)
for cold start i
Design letter
Type of shaft 9
1- keyed (no SAE) Severe duty Porting combination (see page BM-1-5)
3 - splined (SAE BB) 2 - keyed (SAE BB) 00 - standard
5 - splined (SAE B) B - keyed
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
o VT6QCC - 020-020
Inlet pressure 0.9 bar ab§
30 N Viscosity 32 cSt
e o n = 1000 RPM
7 f: ::: - g — — n = 1500 RPM _ -
e P = -
£ P12 g o Lw = Lp + 8.db (A) _
o o1 - = -
s P = T
18 < -
] - -y 60
o % -
g5 - e - -
8 == 2 -7
-— = > -
3 . b 8 - e
£ 9 - 8 s —
o _ // 3 . —
£ 6 -7 ] =
s ] -
3 e 5
P
0 0 35 70 105 140 160 175 190 210 240 275 300 %0 10 50 100 140 175 210 240 270 300
Pressure p (bar) Pressure p (bar)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5
- — n=2800rpm 1400
— — n=1500 rpm (24 cSt)
n = 1000 rpm

4 1200 —

E [
Shaft ke
= __ 1000
® o == z
@ P1-P2 _ _— - T w 800
o S H]
5 2 - SRS S
g P1-P2__ _ ——— 600
- [

o == P1P2 | — |

1 400

_
200
0
0 35 70 105 140 160 175190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
Pressure p (bar) Speed n (rpm)

Total hydromechanical power loss is the sum of each section at its Maximum permissible axial load Fa = 800 N

operating conditions.




*¢ VELJAN

2.29
3/8-16 UNCx0.75 DEEP-4 HOLES (58.2)
(M10x19.0 DEEP) A4
1.60
; 0.31
E-4HOLES E-4HOLES 1.031 7.9) (40.7)
(26.2) 0.31
£ ] (7.9)
1.25
£ (31.7)| KEYO0.1875/0.1855
(4.762/4.712)
0 b\ 0.965
/| (24.5)

o 28 % _ 0.06x45° 0.06x45°
TN P (1.5x45°) (1.5x45°)
SIN 93
X 5ld 2
E e g a o=
C STk
B B o1.00| . N Shaft code 3 Shaft code 5
(254) %¢ Shaft code 1 SAE BB splined shaft SAE B splined shaft
oc : (Keyed non SAE) Class 1-J498b Class 1-J498b
ac 16/32 dp. 15 teeth 16/32 dp. 13 teeth
30° pressure angle 30° pressure angle
10.59 2.81 Flat root side fit Flat root side fit
(269.0) (71.4)
3.85 4.05 1.50 Al
(98.0) (103.0) (38.1) 0.38
©.7) A2
031 _| |
79 KEY 0.250/0.248 A3
0.25 MAX (6.35/6.30)
: ) } N (6.35) .
: 150 M8x0.63 DEEP
(38.1) / (16.0) 7@» .
- ol&
p / /—\ ag
7 g -
e i e R L« 3T 8 S¢S
o $ — g \
5|3 2le 2 Q ‘
o 3 & =~
Sls r|§
0.06x45° SIS Tl ’@
(1.5x45°) ] E - < \ ‘ \
\Moumme TORQUE 57 ft b 0.05x45° Sl MOUNTING TORQUE 138 ft.Ibs
®0 ,;,ms) (1.3xa5°)  Shaft code 2 (187 Nm)
(Keyed SAE BB)
Shaft torque limits in3/revxpsi(ml/revxbar)
Shaft Vp x p max. (P1+P2)
1 12666 (14300)
2 18972 (21420)
: f:gi; gsg;g; | vrracci vI7QCC2
Mounting| SAE B SAEC
PORT A B ® D E oDi | 4000 (101.60) | 5.000 (127.00)
s | 219 1064 244 619 500 (762 5/8-11UNCxd.12 DEEP 3.998 (101.55) | 4.997 (126.94)
' ' ’ ' ' ’ (M16x28.4 DEEP) oD2 0.56 (14.3) 0.69 (17.5)
s | ss0689 200 (508) 250 635 1/2-13UNCx0.94 DEEP A1 6.87 (174.5) 8.36 (212.5)
) ) ) ) ) ) M12x24.0 DEEP A2 5.75 (146.0) 7.13 (181.0)
P2 | 1874 (476) | 0874(222) | 0.75(19.0) | 3.00 (76.2) 3/8-16UNCx0.75 DEEP A3 2.87 (73.0) 3.56 (90.5)
P2 | 2.06 (52.4) 1.03 (26.2) 1.00 (25.4) | 2.94 (74.7) (M10x20.0 DEEP) A4 05 (12.7) 0.62 (15.7)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

X Volumetric Flow q (Ipm) & n = 1500 rpm Input power p (kW) & n = 1500 rpm
Series Displacement Vpp = 0 bar [p = 140 bar | p = 240 bar|p = 300 bar| p = 7 bar | p = 140 bar| p = 240 bar| p = 300 bar
003 10.8 ml/rev 16.2 11.9 8.1 - 1.3 5.3 7.8 -
005 17.2 mifrev 25.8 215 17.7 13.7 1.4 7.5 12.2 14.9
006 21.3 mi/rev 31.9 26.5 22.0 18.0 1.5 8.9 14.7 18.0
008 26.4 ml/rev 39.6 34.1 29.6 25.6 1.6 10.7 17.7 21.8
010 34.1 ml/rev 51.1 45.7 41.2 37.2 1.7 13.4 22.3 27.5
012 37.1 ml/rev 55.6 50.2 45.7 41.7 1.7 14.4 24.1 29.8
014 46.0 ml/rev 69.0 63.5 59.0 55.0 1.9 17.6 29.5 36.5
015 50.5 ml/rev 75.1 69.6 65.1 61.1 2.0 18.0 32.0 39.5
017 58.3 ml/rev 87.4 82.0 775 73.5 2.1 19.0 36.9 457
020 63.8 ml/rev 95.7 90.2 85.7 81.7 22 23.8 40.2 49.8
022? 70.3 ml/rev 105.4 100.0 95.5 91.5 2.3 26.1 441 50.3
025"% 79.3 ml/rev 118.9 113.5 109.0 - 25 29.2 49.5 -
028"* 88.8 ml/rev 133.2 127.7 124.5 - 2.8 327 48.5 -
031" 100.0 ml/rev 150.0 144.5 141.3 - 2.8 36.5 54.4 -

1) 025-028-031 = 2500 R.PM. max. 2) 022= 275 bar max. int,
-- Not to use because internal leakage greater than 50% of theoretical flow.

3) 025 = 240 bar max. int, 4) 028-031 = 210 bar max. int.




HIGH PERFORMANCE VANE PUMP VT7DB /VT7DBS

VT7DB or VI7DBS - B42 - B10 -1

RO0-A 1

VT7DB series-125 A2 HW
ISO 2 bolts 3019-2 mounting flange

P P2

VT7DBS series- SAE C 2 bolts
Mounting flange J744

Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)

B14 = 43.9 (2.68) B31 = 99.1 (6.05)
B17 = 55.0 (3.36) B35 = 113.4 (6.92)
B20 = 66.0 (4.03) B38 = 120.6 (7.36)
B22 = 70.3 (4.29) B42 = 137.5 (8.39)
B24 = 81.1 (4.95) 045 = 1457 (8.89)
B28 = 89.9 (5.49) 050 = 157.9 (9.64)

Cam ring for "P2"

Volumetric displacement cm3/rev (in3/rev)

\ 00 -
= Modifications

Mounting W/connection variables
UNC METRIC
VT7DBS | VT7DB-VT7DBS
00 | 01 Mo M1

P2 | 1" [3/4"] 1" 3/4"

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)
Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

B02 = 5.7 (0.35) B09 = 28.0 (1.71) (view on shaft end)
B03 = 9.8 (0.60) B10 = 31.8 (1.94) .
BO4 = 12.8(0.78 B11 = 34.9 (2.13 R - clockwise
= 128(079) = 349(213) L - counter-clockwise
B05 = 15.9(0.97) B12 = 40.9 (2.50)
BO6 = 19.8 (1.21) B4 = 45.1 (2.75) Type of shaft VT7DBS
BO7 = 225 (1.37) B15 = 50.0 (3.05) 1-keyed (SAE C)
B08 = 24.9 (1.52) 2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (spec. SAE C)
Type of shaft VT7DB- VT7DBS
5 - keyed (ISO 3019-2-G32M)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7DB- B31-B10
(6.0) 24 75 ‘ ‘
24 cSt o
— 10cst P/1 < I Inlet pressure 0.9 bar abs
(5.0) 20 € < Viscosity 32 cSt _ -
£ o 8 n = 1200 RPM _-7
s e = - — — n=1800 RPM P ~
o (40) 16 ~ E 70 Lw = Lp + 8db (A) -
o Ve -~ —
s g g o
© (3.0) 12 - 2 e L —
§ P P kA - e —
= s T>, N ~ I
g @20 8 = — 2
g P2 _ - 9
£ .7 / = -
(1.0) 4 L= E—— 3 =z
- [ )
s i 4 - ’/// P2 _|°' \ /
L= -
0
0 35 70 105 140 175 210 240 275 0 35 70 105 140 175 210 240
(500) (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000) (500) (1000) (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
T — n = 2500 rpm I 1 -
6 — — n=1800rpm (24 cSt) =
3 n = 1200 rpm - ="
J—=-" p1 o (450) 1980
4 ==
. | L _—+
s - Pt (400) 1760 -
= 2 /_—/ - . _|.[Fa
1 Shaft keyed N° 1
& - (350) 1540
0
3 0 35 70 105 140 175 210 240 ﬂ
k-] (500) (1000)  (1500)  (2000)  (2500)  (3000)  (3500) ; (300) 1320
a; 5 ‘ [=
= - — n=2500 rpm I.l-.
g 4 — — n=1800rpm (24 cSt) o (250) 1100
n = 1200 rpm 8
3 -
2 [ R —— (200) 880
2 —_ = - J—
— = N I Bl A (150) 660
1 e = P2 E—
- ]
0 (100) 440
35 70 105 140 175 210 240 275

(500)  (1000)

operating conditions.

(1500)  (2000)

(2500)

(3000)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its

(3500)

(4000)

600 900

1200

1500 1800 2100 2400

Speed n (rpm)

Maximum permissible axial load Fa = 1200 N (270 Lbs)



5/8-11 UNCx1.12 DEEP

7/16-14 UNCx0.88 DEEP- 4 HOLES

(M16x28.4 DEEP) 4 HOLES

(M12x22.4 DEEP)

*¢ VELJAN

Shaft code 4

SAE *C splined shaft
Class 1-J498b

12/24 Dp. 14 Teeth
30° Pressure angle
Flat root side fit

3.46
(87.8)
0.31
7.9)
KEY 0.394/0.315
i 197 | /110.00/8.00)
(50.0)
+4-- - <Eii§\r7
3= 2
) s
oz e
g 78
glg -2
- |
M10x0.79 DEEP /| Q|2
(20.0)
Shaft code 5

(keyed ISO/R775-G32M)

8.365

(212.4)

3.25
(82.6)

@D,

0.62 2.88
(15.7) (73.2)
2.441
1.188 0.31 0.31
A (62.0) (30.2) —| @9 (7.9)
Y 1.50
‘ @8.1) | KEY 0.3126/0.3106
| (7.94/7.89)
GRES)
<
o o (] = _
©
i) s x
‘ 3% 3
== =|~
: : 0.09x45° ge g
09X N ow
[ Ji [T — o) NIZ o
oc ©3.00 01.25 -0 (2.3x45°) 5 TI®
(76.2) 31.8) - 9= Shaft code 3
SAE C splined shaft
3/8-16 UNCx0.75 DEEP-4 HOLES Shaft code 2 Class 1.34‘9813
(M10x19.0 DEEP) (keyed no SAE)
12/24 Dp. 14 Teeth
11.26 3.29 30° Pressure angle
(286.0) (83.6) Flat root side fit
4.31 4.50 1.50
(109.5) (114.3) (38.1) w
0.31
(7.9) KEY 0.3126/0.3106
0.25 MAX
/k ; ©6.35) / (7.94/7.89)
| [ ™
< |d — 1.94 M10x0.79 DEEP
3 | 32 (49.3) (20.0)
s |0 7
N 1 py e N — g Ba o
_____ 8 RS Q
N —~
o g 0.09x45° | R[S ;
JE \H @3a5) N %
e 2
E 3|12 ~
ol e
/ ex45° S 28
MOUNTING TORQUE 50 ft.Ibs |=
(68 Nm) Shaft code 1
MOUNTING TORQUE 138 ft.lbs (Keyed SAE C)
(187 Nm)
Alternate mounting flange
Serles oS ex45° w K oD
MAX. Min.
VT7DB | 4.921(124.99) | 4.919 (124.94) 0.079 (2.0) | 0.374 (9.49) | 7.087 (180.0) | 0.709 (18.0)
VT7DBS | 5.00 (127.00) 4.998 (126.94) 0.051 (1.3) 0.50 (12.7) 7.126 (181.0) | 0.689 (17.5)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for on

Shaft torque limits in3/revxpsi(ml/revxbar)
Shaft Vp x p max. (P1+P2)
1 38299 (43240)
2 30638 (34590)
3 54207 (61200)
4 54207 (61200)
5 37644 (42542)
Alternate connect.variables
00 & MO 01 & M1
A[1.031 (26.2) [0.874 (22.2)
B|2.06 (52.4) [1.874 (47.6)
e cartridge only) [C[100 (254) |0.75 (19.05)

Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
rt Series|Displacement Vp|p = 0 bar (0 psi)|p = 140 bar (2000 psi)|p = 250 bar (3630 psi)| p = 7 bar (100 psi)[p = 140 bar (2000 psi)|p = 250 bar (3630 psi)
po in3/rev__| cm3rev | gpm Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
B14 2.68 43.9 20.92 79.1] 19.18 72.5 17.81 67.3 3.46 2.6 27.77 20.7 47.03 35.0
B17 3.36 55.0 26.16 98.8| 24.41 92.3 23.04 87.0 3.77 2.8 33.88 25.3 57.71 43.0
B20 4.03 66.0 31.39 | 118.6| 29.64 112.0| 28.27 106.8 4.07 3.0 39.98 29.8 68.39 50.9
B22 4.29 70.3 33.43 | 126.4| 31.69 119.8 | 30.32 104.6 4.19 3.1 42.37 31.6 72.57 54.0
B24 4.95 81.1 38.57 | 145.8| 36.82 139.2 35.45 134.0 4.49 3.4 48.36 36.1 83.06 61.9
P1 B28 5.49 89.9 42.80 | 161.8| 41.06 155.2 39.69 150.0 4.74 35 53.30 39.7 91.70 68.3
B31 6.05 99.1 4718 | 178.3| 45.43 171.7 44.06 166.5 4.99 3.7 58.41 43.6 100.63 75.0
B35 "| 6.92 113.4 53.93 | 203.9| 52.18 197.2 50.81 192.0 5.39 4.0 66.29 49.4 114.42 85.3
B38| 7.36 120.6 57.35| 216.8| 55.61 210.2 54.24 204.9 5.59 4.2 70.28 52.4 121.42 90.5
B42?| 8.39 137.5 65.39 | 247.2| 63.65 240.6 62.28 235.4 6.05 4.5 79.66 59.4 137.83 102.7
045°%| 8.89 145.7 69.29 | 262.0| 67.11 253.6 65.31 246.8 6.74 5.0 83.75 62.4 145.79 108.7
050 ?| 9.64 157.9 75.14 | 284.0| 72.96 275.8 71.78 271.3 7.08 5.3 90.58 67.5 134.50 100.3
p = 0 bar (0 psi)|p = 140 bar (2000 psi)| p = 300 bar (4350 psi)| p = 7 bar (100 psi)|p = 140 bar (2000 psi)| p = 300 bar (4350 psi)
B02 0.35 57 2.76 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.04
B03 0.60 9.8 4.66 17.6 4.23 15.9 3.70 14.0 0.85 | 0.63 6.24 4.65 12.93 9.64
B04 0.78 12.8 6.09| 23.0 5.66 21.4 5.13 19.4 0.94 | 0.70 7.90 5.89 16.55 12.34
B05 0.97 15.9 7.56 28.6 713 26.9 6.60 25.0 1.02 | 0.76 9.62 717 20.29 15.13
B06 1.21 19.8 942| 356 8.99 33.9 8.46 32.0 1.13 | 0.84 11.79 8.79 25.00 18.64
B0O7 1.37 22.5 10.70 | 40.4| 10.27 38.8 9.74 36.8 1.20 | 0.89 13.29 9.91 28.26 21.07
P2 B08 1.562 24.9 11.84 | 447 11.41 43.1 10.88 411 1.27 | 0.95 14.62 10.90 31.15 23.23
B09 1.71 28.0 13.31| 50.3| 12.87 48.6 12.35 47.0 1.36 1.01 16.35 12.19 34.92 26.04
B10 1.94 31.8 1512 | 57.2| 14.69 55.5 14.16 53.5 1.46 | 1.09 18.45 13.75 39.48 29.44
B11 ° 2.13 34.9 16.64 62.9| 16.19 61.2 15.68 59.3 1.55 1.16 20.17 15.04 43.22 32.23
B12 K 2.50 40.9 19.50 73.7| 19.07 721 18.54 70.1 1.72 1.28 23.55 17.56 50.58 37.71
B14°| 275 451 | 21.40| 80.8| 20.95 79.2 | 20.44 77.0 1.83 | 1.36 2580 | 19.24 | 55.48 | 41.37
B15°| 3.05 50.0 23.78 | 89.8| 23.35 88.3 22.88 86.5 1.97 | 1.47 28.55 21.28 57.35 42.76

1) B35-B38 = 280 bar (4060 psi) max.int.

2) B42 = 260 bar (3770 psi) max.int.

5) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

3) 045 = 240 bar (3500 psi) max. int.

4) 050 = 210 bar (3000 psi) max. int



HIGH PERFORMANCE VANE PUMP VT7QDC

VT7QDC - B38 - 022 1

%

Series

Cam ring for "P1"
Volumetric displacement cmd/rev (in3/rev)

B14 = 43.9 (2.68) B31 = 99.1 (6.05)
B17 = 55.0 (3.36) B35 = 113.4 (6.92)
B20 = 66.0 (4.03) B38 = 120.6 (7.36)
B22 = 70.3 (4.29) B42 = 137.5 (8.39)
B24 = 81.1 (4.95) 045 = 145.7 (8.89)
B28 = 89.9 (5.49) 050 = 157.9 (9.64)

Cam ring for "P2"
Volumetric displacement cmd/rev (in3/rev)

*¢ VELJA

00 - A 100 *

L=

Modifications
Mounting W/connection variables

UNC METRIC

00 |01 [ MO| M1
P2 | 1" [3/4" [ 1" [3/4"
Seal class

1-81 (for mineral oil)
4 - 84 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08)
005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56)
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 (2.81) 031/B31/Y31 =100.0 (6.10)
*10'-  Uni - directional 'B'- Bi - directional 'Y'- Bi - directional

for cold start

INTERNAL LEAKAGE ( TYPICAL)

(6.0) 24
24 cSt
10 cSt P1 P
(5.0) 20 —
7
P e
£ -,
a
S0 16 S
[}
[¢] -
[ pa
g o 12 ~ o
g 7 s
© ~ e _ -
o i P2_—
5 @0 8 s —
e
c
yard
c (10 4
= ~ —
7
Z //
0
0 35 70 105 140 175 210 240 275
(500)  (1000) (1500)  (2000)  (2500)  (3000) (3500)  (4000)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
7. — n=2500rpm 1 B
6 n = 1800 rpm (24 cSt) —— -
5 n = 1200 rpm — ]
4 = e — P S
3 e — =1
s , — — Pt
< —
[
o,
a 0 35 70 105 140 175 210 240
k-] (500)  (1000)  (1500)  (2000)  (2500)  (3000)  (3500)
E') 5 - —n=2500 rpm
S 4 n = 1800 rpm(24 cSt)
2 n = 1200 rpm P2
P2
3 P —— ’_‘—_ E———
I e et gt S gl S R
— ——:'/""_'__/./ P2
1
0
0 35 70 105 140 175 210 240 275

(500)  (1000) (1500)  (2000)  (2500)  (3000) (3500)  (4000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

Load F in N (Lbs)

Type of shaft

1 - keyed (SAE C)
2 - keyed (SAE CC)
3 - splined (SAE C)

NOISE LEVEL ( TYPICAL)
VT7QDC- B31-022

80 ‘
Inlet pressure 0.9 bar abs

N Viscosity 32 cSt

3 n = 1200 RPM |

o © n = 1800 RPM =

D Lw=Lp + 8db (A) a7

£ L~

- - T

~~— ~

< 70 —— = E—

5 ————— —

T

>

°

>

o 65

[] /

2

o

4 \\/

2

0 35 70 105 140 175 210 240

(500) (1000) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

i

Shaft keyed N° 1

(450) 1980

1760

(400)

(350) 1540

(300) 1320

(250) 1100

(200) 880

(150)

(100)

600 900 1200 1500 1800 2100 2400

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)



*¢ VELJAN

7/16-14 UNCx0.88 DEEP- 4 HOLES (3-58)
91.0
5/8-11 UNCx1.12 DEEP (M12x22.4 DEEP) 075
(M16x28.4 DEEP) __244 1.188 — (19.0) 2.20
4 HOLES (62.0) (30.2) 0.31
A < i KEY 0.375/0.373 9
LELZSOM0.908 0.09x45°
ﬂ 2.00 (9.52/9.47) 230159
| (50.8) M10x0.79 DEEP.
7Y (20.0)
A4
o -
m| b EH ‘ ‘
@ i
] 0.09x45 D F X
(2.3x45°) 2|2 g Shaft code 3
§ S 2|8 SAE C splined shaft
1p :3 g Class 1-J498b
ac  0.05x45° [SIRE 12/24 Dp. 14 Teeth
o (1.3x45°) 30° Pressure angle
. 1.25 Flat root side fit
3/8-16 UNCx0.75 DEEP (76.2) @1.8) 0.50 Shaft code 2
(M10x19.0 DEEP) [12.7) (KeyedISAECC) 8.386
4 HOLES (213.0)
12.09 3.30 7.126
(307.2) (84.0) (181.0)
4.34 5.06 1.50 0.38
2 L 4.508
(110.3) T (128.5) @8.1) 7.9) 145
‘ 0.25 MAX KEY 0.3126/0.3106 :
I I I M I — ey WIRAA.
T T W (6.35) (7.94/7.89)
| I‘ ‘ ‘ 1.94
gl |~ \ — 194 }“M10x0.79 DEEP
sg 35| f ‘ ' ‘ (49.3) 20.0)
= 1 N o|F |
[ < 53 .
| ©
A | <> —~ ] =Tl s 3Ig =
by | — - o g 5
P VELJAN — 91 8
> || ‘ J 0.09x45° g | S <
NE ‘ (2.3x45%) 5 X
Sl =&
IN N
- NE Qg
; -
MOUNTING TORQUE 57 ft.Ibs Shaft code 1
(80 Nm) (Keyed SAE C) (14.3) MOUNTING TORQUE 138 ft.Ibs
T T = (187 Nm)
Shaft torque limits in3/revxpsi(ml/revxbar)
Shaft Vp x p max. (P1+P2) Alternate connect.variables
1 38299 (43240) 00 & MO 01&M1
2 30638 (34590) A[1.031 (262) |0.874 (22.2)
3 54207 (61200) B[2.06 (52.4) |1.874 (47.6)
c|1.00 (25.4) [0.75 (19.05)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm

Series|Displacement Vplp = o bar (0 psi)[p = 140 bar (2000 psi)[ p = 250 bar (3630 psi) | p = 7 bar (100 psifp = 140 bar (2000 psi)[p = 250 bar (3630 psi

port in¥rev | cmsrev | gpm | Ipm | gpm lpm | gpm Ipm hp kw | hp kw hp kw
B14 2.68 439 | 20.92| 79.1| 19.18 725 | 17.81 67.30 3.46 2.60| 27.77 | 20.70 | 47.03 | 35.00
B17 3.36 55.0 | 26.16| 98.8| 24.41 923 | 23.04 87.00 3.77 2.80| 33.88 | 25.30 57.71 | 43.00
B20 4.03 66.0 | 31.39| 118.6 | 29.64 112.0 | 2827 |106.80 4.07 3.00| 39.98 | 29.80 | 68.39 | 50.90
B22 4.29 70.3 | 33.43| 126.4| 31.69 119.8 | 30.32  |104.60 4.19 3.10| 4237 | 3160 | 7257 | 54.00
B24 495 81.1 38.57| 145.8| 36.82 139.2 | 35.45 |134.00 4.49 3.40| 48.36 | 36.10 | 83.06 | 61.90

P1 B28 5.49 89.9 | 42.80| 161.8| 41.06 1552 | 39.69 [150.00 4.74 3.50| 53.30 | 39.70 | 91.70 | 68.30
B31 6.05 99.1 47.18| 178.3 | 45.43 171.7 | 44.06 |166.50 4.99 3.70| 58.41 | 43.60 | 100.63 | 75.00
B35" 6.92 113.4 | 53.93| 203.9| 52.18 197.2 | 50.81 |192.00 5.39 4.00| 66.29 | 49.40 | 114.42 | 85.30
B38" 7.36 120.6 | 57.35| 216.8| 55.61 210.2 | 54.24  [204.90 5.59 420| 7028 | 52.40 |121.42 | 90.50
B42? 8.39 1375 | 65.39| 247.2| 63.65 2406 | 62.28 [235.40 6.05 450| 79.66 | 59.40 | 137.83 [102.70
045°% 8.89 1457 | 69.29| 262.0| 67.11 2536 | 65.31 |246.80 6.74 5.00| 83.75 | 62.40 | 14579 [108.70
050 ¥ 9.64 157.9 | 75.14| 284.0 | 72.96 2758 | 71.78 |271.30 7.08 5.30| 90.58 | 67.50 | 134.50 |100.30

p = 0 bar (0 psi)|p = 140 bar (2000 psi)| p = 300 bar (4350 psi) [p = 7 bar (100 psi)p = 140 bar (2000 psi)|p = 300 bar (4350 psi

003 0.66 10.8 514 196| 3.85 14.6 - - 2.1 157| 845 6.30 - -
005 1.05 17.2 8.18| 30.9| 6.89 26.0 4.34 16.44 2.29 1.70| 12.00 894 | 2397 | 17.88
006 1.30 213 | 10.13| 38.3| 884 33.4 5.71 21.60 2.40 1.78| 1428 | 1064 | 28.96 | 21.60
008 1.61 26.4 | 1255| 47.4| 11.26 42.6 8.12 30.72 2.54 1.89| 17.11 | 1275 | 35.08 | 26.16
010 2.08 34.1 16.22| 61.3| 14.93 56.4 11.81 44.64 2.76 2.06| 21.38 15.94 4425 | 33.00
012 2.26 37.1 17.64| 66.7| 16.35 61.8 | 13.24 50.04 2.84 211| 23.05 | 1718 | 47.47 | 35.40

P2 014 2.81 46.0 | 21.88| 82.7| 20.59 77.8 | 17.46 66.00 3.09 2.30| 27.99 | 20.87 | 58.73 | 43.80
015 3.08 505 | 23.99| 90.7| 2283 86.3 | 19.39 73.32 3.21 240| 30.30 | 2260 | 63.56 | 47.40
017 3.56 58.3 | 27.73| 104.8| 26.44 99.9 | 23.33 88.20 3.43 255| 34.81 | 2595 | 7354 | 54.84
020 3.89 63.8 | 30.34| 114.7| 29.05 109.8 | 25.93 98.04 3.58 266| 37.86 | 2823 | 80.14 | 59.76
022° 4.29 70.3 | 33.43| 126.4| 32.14 1215 | 29.05 |109.80 3.76 2.80| 41.47 | 3092 | 80.94 | 60.36
025°"| 484 79.3 37.71| 1425 | 36.42 137.6 4.01 2.99| 46.46 | 34.64
028%%| 5.42 88.8 | 42.23| 159.6 | 40.94 154.7 4.27 3.18| 51.74 | 3858
031°%| 610 | 1000 | 47.56| 179.7| 46.27 174.9 458 3.41| 57.95 | 43.21

1) B35-B38 = 280 bar (4060 psi) max.int. 2) B42 = 260 bar (3770 psi) max.int. 3) 045 = 240 bar (3500 psi) max. int.
5) 025-028-031 = 2500 R.PM. max. 6) 022= 275 bar max. int,

7) 025 = 240 bar max. Int,

-- Not to use because internal leakage greater than 50% of theoretical flow

8) 028-031 = 210 bar (3000 psi) max. int.

4) 050 = 210 bar (3000 psi) max. int




HIGH PERFORMANCE VANE PUMP VT7DD /VT7DDS

VT7DD or VT7DDS

Series
VT7DD series-ISO 4 bolts 3019-2
Mounting flange 125 B4 HW

VT7DDS series- SAE C 6 bolts
Mounting flange J744

Camring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

B14 = 43.9 (2.68) B31 = 99.1 (6.05)
B17 = 55.0 (3.36) B35 = 113.4 (6.92)
B20 = 66.0 (4.03) B38 = 120.6 (7.36)
B22 = 70.3 (4.29) B42 = 137.5 (8.39)
B24 = 81.1 (4.95) 045 = 145.7 (8.89)
B28 = 89.9 (5.49) 050 = 157.9 (9.64)
Type of shaft VT7DDS

1 - keyed (SAE C)

2 - keyed (SAE CC)

3 - splined (SAE C)

4 - splined (SAE BB)

Type of shaft VT7DD - VT7DDS
5 - keyed (ISO 3019-2-G32M)

INTERNAL LEAKAGE (TYPICAL)

B42 - B22 -1 R 00-A 1 MO -

L

Modifications

Mounting w/connection variables
4 bolts SAE flange (J518)

P1 & P2=1-1/4" S =4"
UNC |[METRIC
VT7DD MO
\VT7ZDDS | 00 MO
—————— Seal class

1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

———— Design letter

Porting combination (see page BM-1-5)
00 - standard

(6.0) 24
— — 10cSt - o
—— 24cst - 3
R (5.0) 20 o
e
H e -
@ 40 16
& PIP2 =
o i <
[=2) ~ ~
2
g (3.0) 12 > 3
3 - - ey
= - - [
© e
c @08 P1-P2 2
:Ij _ - / g
E - ] S
(1.0 4 S — 2
-3
e / ]
-~
0
0 35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50%of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
8 I ‘ (450)
- — n=2500rpm
7 — — n=1800rpm (24 cSt) (a00)
n = 1200 rpm o
s ° P1-P2 o= -
E PPz — & (350
= 5 _ — E-]
0 - =
a S oz 6o
a ¢ P12 _ ——— £
bl - L (250
o 3 —_— °
E ——= 3
3 R I
L P1-P2___— = oo
/
s _— (150)
—
0

35
(500)

70 105 140
(1000) (1500) (2000)

Pressure in bar (psi)

175
(2500)

210
(3000)

Total hydrodynamic power loss is the sum of each section at its
operating conditions.

(100)
240

(3500)

80

75

70

65

60

1980

1760

1540

1320

1100

880

Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

NOISE LEVEL (TYPICAL)
VT7DDS- B31-B31

Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1200 RPM
— — n = 1800 RPM
Lw = Lp + 8 db (A)

\/

35
(500)

70
(1000)

105
(1500)

140
(2000)

175
(2500)

210
(3000)

240
(3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

B S ..
Shaft keyed N° 1

600 900 1200 1500 1800 2100 2400

Speed n (rpm)

Maximum axial load permissible Fa = 800 N (180 Lbs)



5/8-11UNCx1.18 DEEP

7/16-14 UNCx0.94 DEEP-4 HOLES

(M12x24.0 DEEP)

(M16x30.0 DEEP)/4-HOLES 2.20
0.31 (56.0)
7/16-14UNCx0.94 DEEP 4 HOLES 7.9
(M12x24.0 DEEP) 1.19 0.25 MAX.
1.19 3.06 (30.2)
(30.2) (77.8)
\ J\ L T

7.17 (182.0)
6.39 (162.0)

i

(58.7)

:

@31.8)

f
| 104,

(101.6)

0.09x45°
(2.3x45°)

Shaft code 3

SAE C splined shaft

Class 1-J498b
12/24 dp. 14 teeth

30° pressure angle

flat root side fit

*¢ VELJAN

2.68
(68.0)
031 KEY 0.394/0.315
& 5] (10.00/8.00)
1.97
(50.0) M10x0.79 DEEP
{ (20.0)
o=
@8 é
=2 INIS)
0.09x45° | gl g
(2.3x45%) o8
Shaft code 5

(Keyed ISO 3018/2-G32M)

8.386
331 (213.0)
(84.1) K1
) w K2
’ KEY 0.3126/0.3106
‘ (7.94/7.89)
0.31
(7.9) M10x0.79 DEEP
(20.0)
g@ { 1 1.94
<2 (49.3) /
/
A/ B9 o
— 11— — —|----—-r- — -t—= - =l — - EHER qlg ©
P I
ol
N 0.09x45° || o~ 5
oo (2.3x45°) § R S
il | B o —
. B8 olw
| exss° QR Zle
82
MOUNTING TORQUE 140 ft.Ibs MOUNTING TORQUE 140 ftb .
Ibs 91.0
o1 (190 Nm) 190 Nm) Shaft code 1 o8t |, ©1.0) KEY 0.375/0.373
01 (@6.0) (Keyed SAE C) 7.9) 2.00 (9.52/9.47)
79— M (50.8)
|| M10x0.79 DEEP,
(20.0)
0.97
(24.5)
4 . — o
-- Shaft torque limits in3/rev x psi (ml/rev x bar) =
ml = Shaft Vp x p max. (P1+P2)
oo ohalt code 4 1 38299 (43240) 83 g ~
(1.5x45%)  SAE BB splined shaft 2 63552 (71822) o o8 (@
Class 1-J498b %¢ Sls @y
12/24 dp. 15 teeth 3 54207 (61200) : 2 TIT
— 30° pressure angle 4 31780 (28120) Shaft code 2 9=
flat root side fit 5 40035 (35424) (Keyed SAE CC)
Alternate mounting flange
Series %13 ex45° w K1 oD1 K2 oD2
MAX. Min.
VT7DD | 4.921(124.99) | 4.919(124.94) | 0079 (2.0) | 0374 (9.49) | 7.087 (180.0) | 0.709 (18.0) | 4.454 (113.1) | 0551 (13.9)
VT7DDS | 5.00 (127.00) | 4.998 (126.94) | 0.059 (1.5 | 050 (12.7) | 7.126 (181.0) | 0.689 (17.5) | 4.508 (114.5) | 0.563 (14.3)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
ort Series|Displacement Vp| p = 0 bar (0 psi) [ p = 140 bar (2000 psi)jp = 250 bar (3630 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)|p = 250 bar (3630 psi
P in3/rev cm3rev| gpm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

B14 2.68 439 |[2092 | 791 | 19.18 72.5 17.81 67.3 | 346 | 26 | 27.77 20.7 47.03 | 35.07
B17 3.36 55.0 |26.16 | 98.8 | 24.41 92.3 23.04 87.0 | 377 | 2.8 | 33.88 25.3 57.71 | 43.03
B20 4.03 66.0 |31.39 (1186 | 29.64 112.0 2827 | 106.8 | 4.07 | 3.0 | 39.98 29.8 68.39 | 50.99
B22 4.29 70.3 | 33.43 |[126.4 | 31.69 119.8 30.32 | 1046 | 4.19 3.1 | 42.37 31.6 7257 | 54.11

P1 B24 495 811 | 3857 |145.8 | 36.82 139.2 35.45 | 1340 | 4.49 | 34 | 4836 36.1 83.06 | 61.93

& B28 5.49 89.9 |42.80 [161.8 | 41.06 155.2 39.69 | 150.0 | 474 | 35 | 53.30 39.7 91.70 | 68.38
B31 6.05 99.1 | 47.18 |178.3 | 45.43 171.7 4406 | 1665 | 499 | 3.7 58.41 436 | 100.63 | 75.03

P2 B35"| 6.92 113.4 | 53.93 |203.9 | 52.18 197.2 50.81 | 192.0 | 539 | 4.0 | 66.29 494 | 114.42 | 85.32
B38"| 7.36 120.6 | 57.35 |216.8 | 55.61 210.2 5424 | 2049 | 559 | 42 | 7027 524 | 121.42 | 90.54
B42?| 8.39 1375 | 65.39 |247.2 | 63.65 240.6 6228 | 2354 | 6.05 | 45 | 79.66 59.4 | 137.83 |102.77
045%| 8.89 1457 | 69.29 |262.0 | 67.11 253.6 65.31 | 246.8 | 674 | 50 | 83.75 62.4 | 145.79 | 108.71
050 “| 9.64 157.9 | 75.14 |284.0 | 72.96 275.8 7178 | 2713 | 7.08 | 53 | 90.58 67.5 | 134.50 |100.30

1) B35-B38 = 280 bar (4060 psi) max.int.

2) B42 = 260 bar (3770 psi) max.int.

3) 045 = 240 bar (3500 psi) max. int.

4) 050 = 210 bar (3000 psi) max. int



HIGH PERFORMANCE VANE PUMP VT7EB /VT7EBS

Series
VT7EB series-ISO 4 bolts 3019-2
Mounting flange 125-A2 HW
VT7EBS series- SAE C 2 bolts
Mounting flange J744

Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)

042
045
050
052
054

Cam ring for "P2"
Volumetric displacement cm3/rev (in3/rev)

= 1322 (8.07) 057 = 183.2 (11.18)
= 1425 (8.70) 062 = 196.6 (12.0)
= 158.5 (9.67) 066 = 213.0 (13.0)
= 163.8 (10.0) 072 = 227.1 (13.86)
= 170.9 (10.43) 085 = 268.7 (16.40)

VT7EB or VTI7EBS - 042 - B12 -1

*¢ VELJA

0 -A 101 *

j - Modifications

Mounting W/connection variables

P1=1-1/4" P2= 3/4" S=3-1/2"
VT7EBS| VT7EB-VT7EBS
Type | UNC METRIC
code 01 M1
Seal class

1-81 (for mineral oil)
4 - 84 (for fire resistant fluids)
5 - 85 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

B02 = 5.7 (0.35) B09 = 28.0 (1.71) Direction of rotation
B03 = 9.8 (0.60) B10 = 31.8(1.94) (view on shaft end)
BO4 = 12.8 (0.78) Bi1 = 34.9 (2.13) R - clockwise
B05 = 15.9 (0.97) B12 = 40.9 (2.50) L - counter-clockwise
B06 = 19.8 (1.21 B14 = 45.1 (2.75
BO7 = 225 21 .37; B15 = 50.0 23.05; Type of shaft VI7EBS
BO8 — 24.9 (1.52) Type of shaft VT7EB- VT7EBS 1 - keyed (SAE CC) 3 - splined (SAE C)
T 5 - keyed (ISO/R775 -G38M) 2 -keyed (no SAE) 4 - splined (SAE CC)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7EBS- 050-B03
(9.0) 36 80 ‘ i
—— 24 ¢St /Pl’ o
_ ol Inlet pressure 0.9 bar abs
5_(7.5) 30 — T tocst g Viscosity 32 cSt
5 pid 9 n = 1200 RPM
€ s = 75 - — — n=1800 RPM _——
S0 24 E Lw = Lp + 8 db (A) /,,—”
£ P - -
& P < =7
31(4'5) h s P1 _ §- . ——— T
g =
§(3 0) 12 .~ % /
% . s / E 65 /
[ P 2
8 6 s P2_ - 2 T
£ s e - 3
s 4_—/’1_—;’—//// -
. — L == 60
0 35 70 105 140 175 210 240 275 0 35 70 105 140 175 210 240
(500)  (1000)  (1500) (2000)  (2500)  (3000) (3500) (4000) (500) (1000) (1500) (2000)  (2500) (3000)  (3500)

Power loss Ps (kW)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

7

6 p——

5 S P -

n = 2200 rpm

n = 1800 rpm

n = 1200 rpm

o \

0 35 70 105

s (500)  (1000)  (1500)
- — n=2200rpm ‘

4 — — n=1800 rpm

n = 1200 rpm

(24 cst)

140 175 210 240
(2000)  (2500)  (3000)  (3500)

(24 cSt)

P2

2 P

= - T P2 _

P2

L

I

0 35
(500)

70
(1000)

105 140 175 210
(1500)  (2000)  (2500)  (3000)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its
operating conditions.

240
(3500)

275
(4000)

Load F in N (Lbs)

(450)

(400)

(350)

(300)

(250)

(200)

(150)

(100)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

1980

1760 [

7 Sha;! k:y;d N°1

1540

1320

1100

660

440

600 1000 1400
Speed n (rpm)

Maximum permissible axial load Fa = 2000 N (449 Lbs)

1800 2200




Ax0.92 DEEP-4 HOLES

*¢ VELJAN

Bx1.16 DEEP- 4 HOLES (234 0.69 3.54 VT7EB
(29.5) (17.5) (89.9) KEY 0.394/0.315 2.20 245 2.44
10.00/8. 55.9 .
Cx0.75 DEEP- 4 HOLES 2.75 w (10.0078.00) ©5:9 €22 ©19) 0.09x45°
(19.0) (69.8) 1.406 0.31 _ 0.31 031 —p A
0.874 35.7 (7.9) M10x0.79 DEEP ; (7.9) (2.3x45°)
(35.7) (7.9)
(22.2) 1.97 (20.0) ] ] M
. L KEY 0.313
— (50.0) 1.50 0.311
- / (38.1) 1(7.94/7.89)
|
o9
Bl +| - I 8 - - =
e ]
] o[° 0.09x45° 8 % 0.09x45° |°-09x45°‘ 2z %
= |l Goanasy i [P (2.3x45°%) (2.3x45°%) 8@ g
tc : Sy §° 512 9|8
i Je AT g~ g
5& L] L] L] h P )
0075 exas® sh sh SI%
(19.05) — aft code 3 aft code 4 Shaft code 2
Shaft code 5 SAE C splined shaft SAE *CC splined shaft (Keyed non SAE)
(Keyed ISO/R775-G38M) Class 1-J498b Class 1-J498b Y
12/24 dp. 14 teeth 12/24 dp. 17 teeth
13.06 258 30° pressure angle 30° pressure angle
@316) (9'0.9) Flat root side fit Flat root side fit
5.38 ) 4.665 2.06 VT7EBS (2'133?3)
(136.7) | (118.5) (52.3) w K
| ! | (‘;"’;; 0.25 MAX. KEY 0.375/0.373
‘ ! oM 6.35) (9.52/9.47)
| ; ‘ 2.00 M10x0.79 DEEP
— _ j- [~ 50.8) ] (20.0)
‘ = -
Je e 83 82 ]/
o\ g = ®2 %
N~
~ ﬁ I o| ~ \ AN
— | N \ V/ ‘\ ”
—H =T —- i i — - — € §g 8 . ’\ ) I\\ " -
gy > o= X 4 )
SN B3 —828 2 ‘
\ — 352 28
3|8 8lai \ -
0.09x45° Blm QF S | /)
o _0.09x45° | o =T
/ (23459 8¢ Shaft torque limits in%/ i (mi/rev x bar)
a orque limits in°/rev X psi (mi/rev X bar,
MOUNTING TORQUE 50 ft.Ib:
(68 Nmsi | ex45° Shaft code 1 Shaft Vp x p max. (P1+P2)
(Keyed SAE CC) 1 60673 (68568)
MOUNTING TORQUE 138 ft.Ibs 2 30638 (34590)
(187 Nm) 3 54207 (61200)
Alternate mounting flange 4 60673 (68568)
Serios os exa5® w K oD 5 60673 (68568)
MAX Min Alternate connect.variables
- . 01 M1
VT7EB 4.921 (124.99) 4.919 (124.94) 0.079 (2.0) | 0.374 (9.49) 7.087 (180.0) | 0.709 (18.0) A| 1/2-13UNC M12
VT7EBS | 5.00 (127.00) 4998 (126.94) | 0.051 (1.3) | 050(12.7) | 7.126 (181.0)| 0.689 (17.5) B| 5/8-11 UNC M16
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only) C| 3/8-16 UNC M10
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm |
rt Series|Displacement Vp|p = 0 bar (0 psi) [p = 140 bar (2000 psi)[p = 240 bar (3500 psi)[p = 7 bar (100 psi)[p = 140 bar (2000 psi]p = 240 bar (3500 psi)
po in%/rev | cmd/rev | gpm | Ipm | _gpm | Ipm | gpm [ Ipm hp kw hp kw hp kw
042 8.07 132.2 62.92 | 237.8| 60.37 | 2282 | 5852 | 2212 8.09 6.03 78.44 | 58.49 133.80 | 99.77
045 8.70 142.5 67.72 | 255.9 65.17 246.3 63.32 239.3 8.37 6.24 84.04 | 62.66 143.60 | 107.08
050 9.67 158.5 75.38 | 284.9| 72.83 | 2753 | 70.98 | 268.3 8.82 6.58 92.97 | 69.32 159.24 | 118.75
052 | 10.00 163.8 78.37 | 296.2| 75.82 | 286.6 | 73.97 | 279.6 8.99 6.70 96.47 | 71.94 165.36 | 123.31
P1 054 | 10.43 170.9 81.27 | 307.2| 78.72 | 297.6 | 76.87 | 290.6 9.17 6.84 99.75 | 74.38 177.46 | 132.33
057 11.18 183.2 87.12 | 329.3 84.57 319.7 82.72 312.7 9.51 7.09 106.57 | 79.47 189.84 | 141.56
062 12.00 196.6 93.54 | 353.6 90.99 343.9 89.14 336.9 9.88 7.37 11417 | 85.13 196.34 146.41
066 13.00 213.0 101.44 | 383.4 98.89 373.8 97.04 366.8 10.34 7.71 123.38 92.0 212.46 | 158.43
072 13.86 2271 108.00 | 408.2| 105.45 398.6 |103.60 391.6 10.72 7.99 131.04 | 97.71 225.86 | 166.42
085 "| 16.40 268.7 127.79 | 483.0| 126.13 476.7 -- - 11.88 8.85 101.66 | 75.80 - -
p = 0 bar (0 psi) [p = 140 bar (2000 psi)|p = 300 bar (4350 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)p = 300 bar (4350 psi
B02 0.35 5.7 2.76 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.04
B03 0.60 9.8 4.66 17.6 4.23 15.9 3.70 14.0 0.85 0.63 6.24 4.65 12.93 9.64
B04 0.78 12.8 6.09| 23.0 5.66 21.4 5.13 19.4 0.94 0.70 7.90 | 5.89 16.55 12.34
B05 0.97 15.9 7.56 28.6 713 26.9 6.60 25.0 1.02 0.76 9.62 717 20.29 15.13
B06 1.21 19.8 9.42 35.6 8.99 33.9 8.46 32.0 1.13 0.84 11.79 8.79 25.00 18.64
B07 1.37 22.5 10.70 40.4 10.27 38.8 9.74 36.8 1.20 0.89 13.29 9.91 28.26 21.07
P2 B08 1.52 24.9 11.84 44.7 11.41 43.1 10.88 411 1.27 0.94 14.62 | 10.90 31.15 23.22
B09 1.71 28.0 13.31| 50.3| 12.87 486 | 12.35 47.0 1.36 1.01 16.35 | 12.19 34.92 | 26.03
B10 1.94 31.8 15.12 57.2 14.69 55.5 14.16 53.5 1.46 1.09 18.45 | 13.76 39.48 29.44
B11?| 213 34.9 1664 | 629| 16.19 61.2 | 15.68 | 59.3 155 | 1.5 | 20.17 | 15.04 4322 | 32.23
B12?| 250 40.9 1950 | 73.7| 19.07 721 | 18.54 70.1 1.72 1.28 23.55 | 17.56 50.58 37.71
B14?| 275 45.1 21.40| 80.8| 20.95 79.2 | 20.44 77.0 1.83 1.36 25.80 | 19.23 55.48 | 41.37
B15?| 3.05 50.0 23.78 89.8 23.35 88.3 22.88 86.5 1.97 1.47 28.55 | 21.28 57.35 42.76

1) 085 = 90 bar (1300 psi) max.int. & 085 = 2000 rpm max.

2) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm



HIGH PERFORMANCE VANE PUMP VT7QEC

*¢ VELJA

VT7QEC*-066-022 1 R0 - A 1 -
ri iee .
Series Modifications
Y- Metric port connection, Omit for UNC Seal class
Cam ring for "P1" 1-81 (for mineral oil)
Volumetric displacement cmd/rev (in3/rev) 4 - 84 (for fire resistant fluids)
042 = 132.3(8.07) 062 = 196.7 (12.00) 5 - S5 (for mineral oil and fire resistant fluids)
045 = 142.4 (8.69) 066 = 213.3 (13.02)
050 = 158.5(9.67) 072 = 227.1 (13.86) .
——————— Design letter
052 = 164.8 (10.06) 085 = 269.8 (16.46) 9
057 = 183.2(11.18) Porting combination (see page BM-1-5)
Cam ring for "P2" 00 - standard
Volumetric displacement cm?/rev (in3/rev) . ) A
*003/B03/Y03 = 10.8 (0.66) 015/B15/Y15 = 50.5 (3.08) Direction of rotation
005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56) (view on shaft end)
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89) R - clockwise
008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29) L - counter-clockwise
010/B10/Y10 = 34.1(2.08)  025/B25/Y25 = 79.3 (4.84) T
e of shaft
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42) yP
014/B14/Y14 = 46.0 (2.81)  031/B31/Y31 = 100.0 (6.10) 1- keyed (SAE CC)
2 - keyed (no SAE)
*10'- Uni - directional 'B'- Bi - directional 'Y'- Bfi - dirlectional 3 - splined (SAE C)
or cold start 4 - splined (SAE CC)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7QEC- 050-022
(9.0) 36 80 ‘ i
24 cst /
o Inlet pressure 0.9 bar abs
E(7.5) 30 10.cst ; Viscosity 32 cSt
(% .7 - n = 1200 RPM -
= s 8 75 n = 1800 RPM P A
g_(e.m 24 = E Lw= Lp + 8 db (A) - - /
E d / o - 1 /
7 ~ P2 =z -
O 45) 18 > s
° s - P1 S
j=2] -
g .7 - g — ° /
S 30) 12 - - 3
= s - P2 > 65
gm 5 6 ad //// // %
o (1 ~
E = =] =
- P /é | s
0 60
0 35 70 105 140 175 210 240 275 300 0 35 70 105 140 175 210 240
(500)  (1000)  (1500) (2000)  (2500)  (3000) (3500) (4000)  (4350) (500) (1000) (1500) (2000)  (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
7
P
s [ __
s -1 e 1 __ (450) 1980 R
N —— i
4 L
[T I B — (400) 1760 |
- — | Fa
§‘ 3 - Shaft keyed N° 1
= @ (350) 1540
w - =)
4 - —— n =2200 rpm
o 1 n = 1800 rpm (24 cSt) Z (300 1320
17} c
° n = 1200 rpm u—_
8 % 35 70 105 140 175 210 240 B (%0) 1100
g (500)  (1000)  (1500) (2000)  (2500)  (3000) (3500) S
& - —— n=2200 rpm (200) 880
n =1800 rpm (24 cSt) P2 __| ——
3 n = 1200 rpm —— —/_:‘_'_T.— ——P-z—"‘"d-’
, I T —— ——] (150) 660
T P
1 (100) 440
0

600
35

(500)

70
(1000)

105
(1500)

140
(2000)

175
(2500)

210
(3000)

240
(3500)

275
(4000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

1000

1400 1800 2200

Speed n (rpm)

Maximum permissible axial load Fa = 2000 N (449 Lbs)



*¢ VELJAN

1/2-13 UNCx0.92 DEEP-4 HOLES

(M12x23.4 DEEP) 2.44
3/8-16 UNCx0.75 DEEP 4 HOLES (?'762) (61.9) 2.20 2.45
(M10x19.0 DEEP) 2.75 : (55.9) (62.2)
0.31 0.31
; (69.8) 1.406 7.9 .
031 @7 |— . (7.9)
(26.2) | ‘ |- M
1T N L 1.50
[38.1) | KEY 0.313/0.311 (;'12‘;)
/ (7.94/7.89) :
4l ’ -
S T Fel - — e =
i 3 % 0.09x45° Hi 0.09x45°
b HER (2.3x45%) (2.3x45°)
H 32 gN
U ; ! oooxase || B &g
- | (2.3x45° =5 =
T Q|2
23.50 Joras £ — Shaft code 3 — Shaft code 4
(88.9) (37.1) Shaft code 2 SAE C splined shaft SAE CC splined shaft
(Keyed non SAE) Class 1-J498b Class 1-J498b
5/8-11 UNCx1.16 DEEP-4 HOLES
(M16))((29_5 DEEP) 12/24 dp. 14 teeth 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9) 8.386
‘ (159;2?7) ‘ (‘11'1656.2) ‘ (gf.g) 2130)
8-253) 7.125
. (181.0)
\ 0.31 KEY 0.375/0.373 3.563
\ : (7.9) 0.25 MAX. : - 90.5
‘ ; ! 6.35) (9.52/9.47) (90.5)
\ j 2.00 M10x0.79 DEEP ‘
i . (50.8) / (20.0) 1Y),
< <= § )
P gs 53 ]/
o g = ® &
NS |/ o 8
L o ©
- . gla £
T -1 —- i i | g|g §§ ST
=) & g8 2l
o€ \§ 88 — o - sls
= & 8o % sI=
\ j—l — Slo o
g 2|8
38 8l
— B2 8|
0.09x45° g ~
MOUNTING TORQUE 50 ft.Ibs 0.05x45° . o MOUNTING TORQUE 138 ft.Ibs
(68 Nm) “1.3xa59) Shaft code 1 (187 ,'qm)
(Keyed SAE CC)
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only) 2 67582 (76376)
Pressure _ Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
ort Series|Displacement Vp|p = 0 bar (0 psi)| p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)|p = 240 bar (3500 psi)
P in3/rev cm3/rev | 9pm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
042 8.07 132.2 62.92| 237.8| 60.37 | 228.2 58.52 221.2 8.09 | 6.03 78.44 | 58.49 133.80 | 99.77
045 8.70 142.5 67.72(255.9 | 65.17 | 246.3 63.32 239.3 8.37 | 6.24 84.04 | 62.66 143.60 |107.08
050 9.67 158.5 75.38/284.9 | 7283 |275.3 70.98 268.3 8.82 | 6.58 9297 | 69.32 159.24 |118.75
052 10.00 163.8 78.37|296.2 | 75.82 | 286.6 73.97 279.6 8.99 | 6.70 96.47 | 71.94 165.36 | 123.31
P1 054 10.43 170.9 81.27/307.2| 78.72 |297.6 76.87 290.6 9.17 | 6.84 99.75 | 74.38 177.46 |132.33
057 11.18 183.2 87.12/329.3| 84.57 | 319.7 82.72 3127 951 | 7.09 | 10657 | 79.47 189.84 |141.56
062 12.00 196.6 93.54/353.6 | 90.99 |343.9 89.14 336.9 9.88 | 7.37 | 114.17 | 85.13 196.34 | 146.41
066 13.00 213.0 [101.44/383.4| 98.89 |373.8 97.04 366.8 10.34 | 7.71 | 123.38 | 92.00 212.46 |158.43
072 13.86 227.1 |108.00| 408.2 | 105.45 | 398.6 |103.60 391.6 10.72 | 7.99 | 131.04 | 97.71 225.86 | 166.42
085" | 16.40 268.7 [127.79483.0 | 126.13 | 476.7 - - 11.88 | 8.85 | 101.66 | 75.80 - -
p = 0 bar (0 psi)| p = 140 bar (2000 psi)|p = 300 bar (4350 psi) |p = 7 bar (100 psi)(p = 140 bar (2000 psi) |p = 300 bar (4350 psi)
003 0.66 10.8 5.14| 19.6 385 | 146 - - 211 | 1.57 8.45 6.30 -- --
005 1.05 17.2 8.18| 30.9 6.89 | 26.0 4.34 16.44 2.29 | 1.70 12.00 8.94 23.97 | 17.88
006 1.30 21.3 10.13| 38.3 8.84 | 33.4 5.71 21.6 2.40 | 1.78 14.28 | 10.64 28.96 | 21.60
008 1.61 26.4 12.55| 47.4| 1126 | 42.6 8.12 30.72 254 | 1.89 1711 | 12.75 35.08 | 26.16
010 2.08 34.1 16.22| 61.3| 14.93 | 56.4 11.81 44.64 276 | 2.06 21.38 | 15.94 44.25 | 33.00
012 2.26 37.1 17.64| 66.7| 16.35 | 61.8 13.24 50.04 284 | 211 23.05 | 17.18 47.47 | 35.40
P2 014 2.81 46.0 21.88| 82.7| 2059 | 77.8 17.46 66.00 3.09 | 2.30 27.99 | 20.87 58.73 | 43.80
015 3.08 505 | 23.99] 90.7| 2283 | 86.3 19.39 73.32 3.21 | 2.40 30.30 | 22.60 63.56 | 47.40
017 3.56 58.3 27.73/104.8 | 26.44 | 99.9 23.33 88.2 3.43 | 2.55 3481 | 25.95 73.54 | 54.84
020 3.89 63.8 30.34/ 114.7| 29.05 | 109.8 25.93 98.04 3.58 | 2.66 37.86 | 28.23 80.14 | 59.76
022° 4.29 70.3 | 33.43[126.4| 32.14 | 1215 29.05 109.8 3.76 | 2.80 41.47 | 30.92 80.94 | 60.36
02529 4.84 79.3 37.711 1425 36.42 | 137.6 - - 4.01 | 2.99 46.46 34.64 - -
028*7| 542 88.8 | 42.23/150.6| 40.94 | 1547 427 | 318 | 51.74 | 3858
031*7| 6.10 100.0 | 47.56179.7 | 46.27 | 174.9 458 | 341 | 57.95 | 43.21

1) 085 = 90 bar (1300 psi) max.int. & 085 = 2000 rpm max. 2) 025-028-031 = 2500 R.PM. m:

ax. . -
-- Not to use because internal leakage greater than 50% of theoretical flo
3) 022= 275 bar max. int, 4) 025 = 240 bar max. Int, 5) 028-031 = 210 bar max. int. Y usel 9o g ° ! v




HIGH PERFORMANCE VANE PUMP VT7ED /VT7EDS

VT7E

D or VTI7EDS - 042 -

Series

VT7ED series-125-A2 HW

ISO 2 bolts 3019-2 mounting flange

VT7EDS series- SAE C 2 bolts
Mounting flange J744

Cam ring for "P1"

0

-A

101 *

L=

Volumetric displacement cm3/rev (in3/rev)

042 = 1322 (8.07) 057 = 183.2 (11.18)
045 = 142.5 (8.70) 062 = 196.6 (12.0)
050 = 158.5 (9.67) 066 = 213.0 (13.0)
052 = 163.8 (10.0) 072 = 227.1 (13.86)
054 = 170.9 (10.43) 085 = 268.7 (16.40)

Cam ring for "P2"

Volumetric displacement cm3/rev (in3/rev)

*¢ VELJA

Modifications
Mounting W/connection variables
4 bolts SAE flange J518
P1=1-1/2" P2= 1-1/4" S=4"
VT7EDS|VT7ED-VT7EDS
UNC METRIC
01 M1

Type
code

-~ Seal class

1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

————————— Design letter

Porting combination (see page BM-1-5)

B14 = 43.9 (2.68) B31 = 99.1 (6.05) 00 - standard
B17 = 55.0 (3.36) B35 = 113.4 (6.92) Direction of rotation
B20 = 66.0 (4.03) B38 = 120.6 (7.36) (view on shaft end)
B22 = 70.3 (4.29) B42 = 137.5 (8.39) R - clockwise
B24 = 81.1 (4.95) 045 = 145.7 (8.89) L - counter-clockwise
B28 = 89.9 (5.49 050 = 157.9 (9.64
(5:49) (9.64) Type of shaft VT7EDS
Type of shaft VT7ED- VT7EDS 1 - keyed (SAE CC) 3 - splined (SAE C)
5 - keyed (ISO/R775 -G38M) 2 - keyed (no SAE) 4 - splined (SAE CC)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7EDS- 050-B31
©.0) 36 ~ 80 \ \
24 cSt P 7 N
—_ _ h Inlet pressure 0.9 bar abs
g. (7.5) 30 10est 7 3 Viscosity 32 cSt
& PL- 8 n = 1200 RPM -
€ P = — — n = 1800 RPM /,//
2 (6.0) 24 — E 75 Lw = Lp + 8 db (A) _ _
£ - -~ = -1
@ - - < _-
c _ P2 < L
2 (45 18 ~ —— - 2 - /
=] ~7 - :: _ -
2 e -7 P1 T e B /
E (3.0) 12 ~ _ - 2 70
- - - [
g - P2 @
5(1-5) ] ////// // 2 /
c - ;
£ e — 4 /
P N
0 65
0 35 70 105 140 175 210 240 0 35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500) (500) (1000) (1500) (2000) (2500) (3000)  (3500)

Do not operate pump more than 5 seconds at any speed or

Pressure in bar (psi)

viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

(875) 3850

PERMISSIBLE RADIAL LOAD

(800) 3520

Fa

(725) 3190

Shaft keyed N° 1

(650) 2860

(575) 2530

(500) 2200

Load F in N (Lbs)

(425) 1870

(350) 1540

(275) 1210

(500) (1000) (1500) (2000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

(2500)

8
7
Pl__
6 S R — _ . F
_ - — - | E
s [ S .
4 I 4 E———
, I —
E 2 - — n=2200rpm
x 4 ——n= 1800 rpm (24 cSt)
P —— n = 1200 rpm
a 0
Py 0 35 70 105 140 175 210 240
4 (500) (1000) (1500) (2000) (2500) (3000) (3500)
E 7. — n=2200rpm
H 6| — — n=1800rpm (24 cSt)
2] - P2 R
s 5 n = 1200 rpm R L=
. =T " P2 ———
8 -——-T " e P2 -
N = R
; P ——
0
0 35 70 105 140 175 210 240

(3000)

(200) 880

600 1000

(3500)

Maximum permi

1400 1800 2200
Speed n (rpm)

ssible axial load Fa = 2000 N (449 Lbs)



*¢ VELJAN

Bx(:3 .013)DEEP-4 HOLES 0,69 354 VT7ED
(17.5) (89.9)
Cx0.94 DEEP-4 HOLES w KEY 0.394/0.315 2.20 2.44
(24.0) (10.00/8.00) (55.9) 2.45 (61.9)
1 180 0.39 ’ (62.2) 031 — 009450
50.2) ©9) M10x0.79 DEEP 0.31 0.31 1T e | @34
] 1.97 (20.0) Ly ) ) —
|| | H KEY 0.313
(60.0) 1.50, 0.311
5N 7‘7 T 1.50 1.24 (38-1)}(7.94/7.89)
Q (38.1) (31.5)
=) i © _
&l s - — a=y- g teee +I <= +{1+-— <«
o : : 0 o
° 1 ooz | §8 g 0.09xd5: | 0.00x45° | R %
G‘ ‘ (2.3x45% =5 o8 (2.3x45°) (2.3x45°) S22k
1 \ |- g8 gz g% 85
21.25 %_ — a8 L] 3 -8
o 1.46 Shaft code 5 Shaft code 3 Shaft code 4 Shaft code 2
(37.1) (Keyed ISO/R775-G38M)  SAE C splined shaft SAE CC splined shaft (Keyed non SAE)
Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
14.21 3.58 Flat root side fit Flat root side fit
(361.0) (90.9)
5.84 5.6 W VT7EDS 8.386
(148.2) (133.5) (@1 2'0)
KEY 0.375/0.373
| ‘ 0.25 MAX. (9.52/9.47)
‘ , \_ (6.35)
/ I 2.00 M10x0.79 DEEP
—~ g ‘ _ (50.8) (20.0)
ol® " oS
3z R | /
o8 o|S
5 o Tolo %
- H = |38 %
0.09x45° =18 2lg
| (2.3x45°) § S 8|2
MOUNTING TORQUE 138 ft.Ibs | ex45° S 8 < Shaft torque limits in3/rev x psi (ml/rev x bar)
(187 Nm) Shaft V] . (P1+P2
Shaft code 1 1 pg4%3rga)z7(2372) )
MOUNTING TORQUE 138 ft.lbs (Keyed SAE CC)
(187 Nm) 2 30638 (34590)
- 3 54207 (61200)
Alternate mounting flange 2 60673 (68568)
Series [+13 ex45° w K oD 5 60673 (68568)
MAX. Min. Alternate connect.variables
01 M1
VT7ED | 4.921 (124.99) 4919 (124.94) | 0.079 (2.0) | 0.374 (9.49) | 7.087 (180.0) | 0.709 (18.0) AT 573 UNG iz
VT7EDS | 5.00 (127.00) 4,998 (126.94) | 0.051(1.3) | 050 (12.7) | 7.126 (181.0) | 0.689 (17.5) B| 5/8.11 UNC 16
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only) C| 7/16-14 UNC M12
Pressure Volumetric Flow g & n = 1800 rpm Input power p & n = 1800 rpm |
ort Series|Displacement Vp|p = 0 bar (0 psi) [p = 140 bar (2000 psi)[ p = 240 bar (3500 psi) p = 7 bar (100 psi)|p = 140 bar (2000 psi) p = 240 bar (3500 psi)
P in¥/rev_| cm3/rev | gpm | Ipm| gpm | ipm | gpm [ Ipm hp kw hp kw hp lw
042 8.07 132.2 62.92 | 237.8| 60.37 228.2 58.52 | 221.2 8.09 6.03 78.44 | 58.49 133.80 99.77
045 8.70 142.5 67.72 | 255.9| 65.17 246.3 63.32 | 239.3 8.37 6.24 84.04 | 62.66 143.60 | 107.08
050 9.67 158.5 75.38 | 284.9| 72.83 275.3 70.98 | 268.3 8.82 6.58 92.97 | 69.32 159.24 | 118.75
052 10.00 163.8 78.37 | 296.2| 75.82 286.6 73.97 | 279.6 8.99 6.70 96.47 | 71.94 165.36 | 123.31
P1 054 10.43 170.9 81.27 | 307.2| 78.72 297.6 76.87 | 290.6 9.17 6.84 99.75 | 74.38 177.46 | 132.33
057 11.18 183.2 87.12 | 329.3| 84.57 319.7 82.72 | 312.7 9.51 7.09 106.57 | 79.47 189.84 | 141.56
062 12.00 196.6 93.54 | 353.6| 90.99 343.9 89.14 | 336.9 9.88 7.37 114.17 | 85.13 196.34 | 146.41
066 13.00 213.0 101.44 | 383.4| 98.89 373.8 97.04 | 366.8 10.34 7.71 123.38 92.0 212.46 | 158.43
072 13.86 227.1 [108.00 | 408.2| 105.45 398.6 |103.60 | 391.6 10.72 | 7.99 | 131.04 | 97.71 225.86 | 166.42
085" | 16.40 268.7 [127.79 | 483.0| 126.13 | 476.7 - - 11.88 | 8.85 | 101.66 | 75.80 - -
p = 0 bar (0 psi) [p = 140 bar (2000 psi)|p = 250 bar (3630 psi) p = 7 bar (100 psi){p = 140 bar (2000 psi) p = 250 bar (3630 psi)
B14 2.68 43.9 20.92 | 79.1| 19.18 72,5 17.81 67.3 3.46 2.6 27.77 | 207 47.03 | 35.07
B17 3.36 55.0 26.16 | 98.8| 24.41 92.3 23.04 87.0 3.77 28 33.88 | 253 57.71| 43.03
B20 4.03 66.0 | 31.39 | 118.6| 29.64 | 1120 | 28.27 | 106.8 4.07 3.0 39.98 | 2938 68.39 | 50.99
B22 4.29 70.3 | 3343 |126.4| 3169 | 119.8 | 30.32 | 104.6 419 31 4237 | 316 7257 | 5411
B24 4.95 81.1 3857 | 145.8| 36.82 | 139.2 | 35.45 | 134.0 4.49 34 4836 | 36.1 83.06 | @1.93
P2 B28 5.49 89.9 | 42.80 | 161.8| 41.06 | 1552 | 39.69 | 150.0 474 35 53.30 | 397 91.70 | @838
B31 6.05 99.1 | 47.18 | 178.3| 4543 | 171.7 | 44.06 | 1665 4.99 37 58.41 | 436 100.63 | 75.03
B35 2 6.92 113.4 53.93 | 203.9| 52.18 197.2 50.81 | 192.0 5.39 4.0 66.29 | 494 114.42 | g530
B38?| 7.36 120.6 | 57.35 | 216.8| 55.61 | 210.2 | 54.24 | 204.9 5.59 4.0 70.28 | 504 12142 | 9054
B42 ¥ 8.39 137.5 65.39 | 247.2| 63.65 240.6 62.28 | 235.4 6.05 45 79.66 | 594 137.83 | 102.77
045 ¥ 8.89 145.7 69.29 | 262.0| 67.11 253.6 65.31 | 246.8 6.74 5.0 83.75 | @24 145.79 | 108.71
050%| 9.64 157.9 | 75.14 | 284.0| 72.96 | 2758 | 71.78 | 271.3 7.08 53 9058 | 675 134.50 | 100.3

1) 085 = 90 bar (1300 psi) max.int. & 085 = 2000 rpm max.

4) 045 = 240 bar (3500 psi) max. int.

2) B35-B38 = 280 bar (4060 psi) max.int.
5) 050 = 210 bar (3000 psi) max. int

3) B42 = 260 bar (3770 psi) max.int.



HIGH PERFORMANCE VANE PUMP VT67BB

Cam ring for "P1" and "P2"

*¢ VELJAN

VT67BB W - B10- B10-1 R 00- A 1-M1 -
Series-SAE B 2 bolts —_’_

Mounting flange J744c
Use for severe duty shaft only.

iy

Volumetric displacement cm®/rev (in*/rev)

B02 = 5.7 (0.35)
B03 = 9.8 (0.60)
B04 = 12.8 (0.78)
BO5 = 15.9 (0.97)
BO6 = 19.8 (1.21)
BO7 = 22.5 (1.37)

B09 = 28.0 (1.71)
B10 = 31.8 (1.94)
B11 = 34.9 (2.13)
B12 = 40.9 (2.50)
B14 = 45.1 (2.75)
B15 = 50.0 (3.05)

BO8 = 24.9 (1.52)

L Modifications

Mounting W/connection variables
11 = 4 bolts SAE flanges

(J518c) UNC thread

M1 = 4 bolts SAE flanges

(J518c) Metric thread

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)
5 - 85 (for mineral oil and fire
resistant fluids)

Type of shaft

1 - keyed (no SAE)
3 - splined (SAE BB)

5 - splined (SAE B)

Type of shaft- W version
2 - keyed (SAE BB)

Design letter

Porting combination (see page BM-1-5)
00 - standard

INTERNAL LEAKAGE ( TYPICAL)

Direction of rotation (view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL ( TYPICAL)
VT67BB- B10-B03

(6.0) 24 75
_ s o [T T 1
<
g. (5.0) 20 10cst < Inlet pressure 0.9 bar abs
S 8 Viscosity 32 ¢St
c = 70| — n = 1200 RPM
s g |- n = 1800 RPM
2 4.0 16 - lw=Lp+8db(A | | | |
£ B T Ry |
) <
3 @3.0) 12 2 65
T
g =
x s T
E ©0) 8 E) P /
= P1-P2| . 8 60—
- e T R IR i = I e ——
E (10 4t ] T~
------------ — .
e R N L PR [
o e 55
0 35 70 105 140 175 210 240 275 300 0 10 50 105 140 175 210 240 275 300
(500)  (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350) (145)  (725) (1500)  (2000) (2500) (3000) (3500) (4000) (4350)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow. at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
PERMISSIBLE RADIAL LOAD
HYDROMECHANICAL POWER LOSS (TYPICAL)
(350) 1540 —
5 L
IF
------- n = 2800 rpm (300) 1335 .
4 |- n = 1800 rpm (24 cSt)
E n = 1200 rpm Shaft keyed N° 1
~ (250) 1100
< 2
& ~
" = (200) 900
H £
g ° 3 (50
3 'g (150) 660
o -]
[ |
1 (100) 440
%% 35 70 105 140 175 210 240 275 300 (60) 222
(500)  (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section

at its operating conditions.

600 1000 1200 1800 2000

Speed n (rpm)

1500 2500 2800

Maximum permissible axial load Fa = 800N (180 Ibs)



HIGH PERFORMANCE VANE PUMP VT67BB

3/8-16 UNCx0.75 DEEP -4 HOLES
(M10x19.0 DEEP)

1/2-13 UNCx0.94 DEEP -4 HOLES 0.50 2.81
(M12x24.0 DEEP) (12.7) (71.4) VT67BBW 1.79 1.60
0.874 (45.5) (40.7)
(22.2) 1.031 0.31 _031 | 0.31
’ (26.2) — | @9 (79 7.9
/t_... KEY 0.250/0.248
......... (6.35/6.30)
‘_"@' 7] 1.50 M8x0.63 DEEP 0965 pon
T XD 245 (24.5)
(38.1) 160) (24.5) r—
o[ o
o5 = 0.06x45° 0.06x45°
) (1.5x45°) (1.5x45°)
35 g
s|8 Il
A 0.06x45° glg =< Shaft code 3 Shaft code 5
(1.5x45°) =9 - SAE BB splined shaft SAE B splined shaft
/ 2,00 Q= Class 1-J498b Class 1-J498b
(19.05) ©2.50 (50.8) 16/32 dp. 15 teeth 16/32 dp. 13 teeth
(63.5) 30° pressure angle 30° pressure angle
Shaft code 2 Flat root side fit Flat root side fit
3/8-16 UNCx0.75 DEEP -4 HOLES (Keyed SAE BB)
(M10x19.0 DEEP)
10.46 2.29 6.87
(265.6) (58.2) (174.5)
3.47 4.00 1.50 0.38 5.75
88.2 101.6 38.1 9.7 (146.0)
(88.2) ( ) (0 .31) (9.7 0875
(7.9) 0.25Max.| KEY 0.1875/0.1855 (73.0)
——| 635 |/ (4.762/4.712)
5% ola [ 1.25 8
=& Zle ¢ — 7 e _ g
- / 8|8
[] | 8la 9|8
N p— : 82 §|3
I 33
R e 0.06x 45" S ©
SE T — (o) g
28 “
T o | N ;
0.05x5° S E s
MOUNTING TORQUE 53 ft.lbs T aas) 5|8 gls
(72 Nm) gla 8¢
a o
MOUNTING TORQUE 138 ft.lbs Shaft code 1
(188 Nm) (Keyed no SAE)
Shaft torque limits in’/rev x psi(ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 12666 (14300)
2 18972 (21420)
3 28937 (32670)
5 18246 (20600)
P Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
’:f:_:"e Series | Displacement Vp [p = 0 bar (0 psi)| p = 140 bar (2000 psi) | p = 300 bar (4350 psi) |p = 7 bar (100 psi)|p = 140 bar (2000 psi) p = 300 bar (4350 psi)
in’/rev cm’/rev gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
B02 0.35 5.7 2.76 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.40
B03 0.60 9.8 4.66 17.6 4.23 15.9 3.70 14.0 0.85 0.63 6.24 4.65 12.93 10.25
B04 0.78 12.8 6.09 23.0 5.66 21.4 5.13 19.4 0.94 0.70 7.90 5.89 16.55 13.13
B05 0.97 15.9 7.56 28.6 713 26.9 6.60 25.0 1.02 0.76 9.62 717 20.29 16.12
B06 1.21 19.8 9.42 35.6 8.99 33.9 8.46 32.0 1.13 0.84 11.79 8.79 25.00 19.88
P1 B07 1.37 225 10.70 | 404 10.27 38.8 9.74 36.8 1.20 0.89 13.29 9.91 28.26 22.47
& B08 1.52 24.9 11.84 | 447 11.41 43.1 10.88 411 1.27 0.94 14.62 10.90 |31.15 24.78
P2 B09 1.71 28.0 13.31 | 50.3 | 12.87 48.6 | 12.35 | 47.0 1.36 1.01 | 16.35 | 1219 [34.92 |27.77
B10 1.94 31.8 1512 | 57.2 14.69 55.5 14.16 53.5 1.46 1.11 18.45 13.75 |[39.48 31.42
Bi1"| 213 34.9 16.64 | 62.9 | 16.19 612 | 1568 | 59.3 1.55 1.15 | 20.17 | 15.04 |43.22 | 32.22
B12"| 250 40.9 19.50 | 73.7 | 19.07 | 721 | 1854 | 70.1 1.72 128 | 2355 | 17.56 [50.58 | 37.71
B14 " 2.75 451 21.40 | 80.8 20.95 79.2 20.44 77.0 1.83 1.36 25.80 19.23 | 55.48 41.37
B15 " 3.05 50.0 23.78 | 89.8 23.35 88.3 22.88 86.5 1.97 1.47 28.55 21.28 57.35 42.7

1) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm




HIGH PERFORMANCE VANE PUMP VT67CB

VT67CB W - 012 - B08 -1 |
Series- SAE B 2 bolts j
P1 P2
Cam ring for "P1"

Mounting flange J744c
Volumetric displacement cm3/rev (in3/rev)

|1
=)

1

Use for severe duty shaft only

*003/B03 = 10.8 (0.66)  015/B15 = 50.5 (3.08)

005/B05 = 17.2 (1.05) 017/B17 = 58.3 (3.56)
006/B06 = 21.3 (1.30) 020/B20 = 63.8 (3.89)
008/B08 = 26.4 (1.61) 022/B22 = 70.3 (4.29)
010/B10 = 34.1 (2.08) 025/B25 = 79.3 (4.84)
012/B12 = 37.1 (2.26) 028/B28 = 88.8 (5.42)
014/B14 = 46.0 (2.81) 031/B31 = 100.0 (6.10)
*'0'-  Uni - directional 'B'- Bi - directional

Cam ring for "P2"

*¢ VELJA

-11 -

L Modifications

Mounting W/connection variables
P1=1"P2=3/4" S=2%

|
1

UNC METRIC
11 M1
-~ Seal class

1-S1 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Volumetric displacement cm3/rev (in3/rev)

Porting combination (see page BM-1-5)
00 - standard

B02 = 5.7(0.35) B09 = 28.0 (1.71)
B03 = 9.8(0.60) B10 = 31.8 (1.94)
B04 = 12.8(0.78) B11 = 34.9 (2.13)
B05 = 15.9 (0.97) B12 = 40.9 (2.50)
B06 = 19.8 (1.21) B14 = 45.1 (2.75)
B07 = 22.5(1.37) B15 = 50.0 (3.05)
B08 = 24.9 (1.52)

Type of shaft

1- keyed (no SAE) W version

3- splined (SAE BB)
5- splined (SAE B)

2- keyed (SAE BB)

INTERNAL LEAKAGE ( TYPICAL )

(6.0) 24
24 cSt
- -
3 -— — 10cSt -
S (50 20
) 2
1
2 (40) 16 =~
£ -
8 o
g, (3.0) 12
© P2 - —
= - Pl__—
o (20) 8 - 1
= - / L ——
© P2 — =
c - / — =
S (10 4 - =7
2 = =
c - _ - L —
— pe —_ —
P ey P2
0 L=
0 35 70 105 140 175 210 240 275 300
(500) (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000)  (4350)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
7
~ — n=2800rpm I
6 |- — —n=1800rpm (24 cSt)
n = 1200 rpm
5
= 4 P1 -
; =
=3 L - — - 2 -
3 = . ——
4 e P -
0 2 = - I— 2
2 o =)
T ! z
[ c
H 0 -
[+ 0 35 70 105 140 175 210 240 275 w
o (500) (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000) g
S — n = 2800 rpm I 3
4 | -— —n=1800rpm (24 cSt)
n = 1200 rpm
3 —pp = ——
5 _ |- —
— - — T P2 =
; —_— —-_—;‘:;:;—// P2

0 35
(500)

70
(1000)

105
(1500)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section
at its operating conditions.

140
(2000)

175
(2500)

210
(3000)

240
(3500)

275
(4000)

300
(4350)

Direction of rotation
(view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL ( TYPICAL)
VT67CB- 014-B03

75 ‘

Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1200 RPM
- — — n= 1800 RPM
Lw = Lp + 8 db (A)

70

65

60

Lp. Noise level {db(A)} 1m ISO 4412

55
0 10
(145)

50
(725)

105
(1500)

140
(2000)

175
(2500)

210
(3000)

240
(3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(350) 1540

(300) 1335

Fa

Shaft keyed code 1

(250) 1100

(200)

(150)

(100)

(50) 222

600 1000 1200
Speed n (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs)

1500 1800 2000 2500 2800



*¢ VELJAN

3/8-16 UNCx0.75 DEEP -4 HOLES
(M10x19.0 DEEP)

1/2-13 UNCx0.94 DEEP -4 HOLES 0.50 2.81
(M12x24.0 DEEP) (12.7) (71.4) VT67CBW
0.874 179 1.60
22.2) 1.031 (07'_?;1) (40.7)
(26.2)) [— 0.31 031
i -1 KEY 0.250/0.248 797 7.9)
,,,,,, iy (6.35/6.30)
‘ — i 150 |/
TE @8.1) M8x0.63 DEEP
6 @ , ’ (16.0)
N = | A '
Sy T 8] . -
. ~ s 0.06x45° 0.06x45°
o 85 gg = (1.5%45°) (1.5x45°)
- g8 I8
ST ; ooexase | 8 E =
[ (1.5x45°) s& - Shaft code 3 Shaft code 5
00.75 2.00 01.00 o SAE BB splined shaft SAE B splined shaft
(19.05) 02.50 (50.8) (25.4) Shaft code 2 Class 1_:59'22 e Class 1.1498b
(63.5) (Keyed SAE BB) 16/32 dp. 15 teeth 16/32 dp. 13 teeth
3/8-16 UNCx0.75 DEEP -4 HOLES 30° pressure angle S RO AT
(M10x19.0 DEEP) Flat root side fit Flat root side fit
10.46 2.29 6.87
(265.6) (58.2) (174.5)
3.47 4.00 1.50 0.38 5.75
(88.2) (101.6) (38.1) 9.7) (146.0)
2.875
0.25MAX.| KEY 0.1875/0.1855 (730
(6.35) /T (4.762/4.712)
5% sl 1.25/ g&
s & [ gy — B . e
- 7 8|8
- g& 98
- — == = - - - = —= sls §§ —
~ P Sl S
g[S — ooas | olg T g
NE {1.5x45°) 5 =
— 35 3
/ Lo g2
0.05x45° g m 2 & Shaft torque limits in3/rev x psi(ml/rev x bar,
MOUNTING TORQUE 45 ft.lbs (1.3x45°) Qla Shaft Vp x p max. (P1+P2)
(61 Nm) Shaft code 1 1 12666 (14300)
(Keyed no SAE) 2 18972 (21420)
MOUNTING TORQUE 117 ft.lbs 3 28937 (32670)
(159 Nm)
5 18246 (20600)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
ort Series|Displacement Vp|p = 0 bar (0 psi) [p = 140 bar (2000 psi)| p = 275 bar (4000 psi)| p = 7 bar (100 psi)[p = 140 bar (2000 psi)p = 275 bar (4000 psi
P in/rev | cmyrev| 9pm | Ipm | gpm Ipm gpm_| Ipm hp kw hp kw hp kw
003 0.66 10.8 514 19.6 3.85 14.6 - - 2.11 1.57 8.45 6.30 - -
005 1.05 17.2 8.18 | 309| 6.89 26.0 568 | 215 2.29 1.70 12.00 8.94 19.81 | 14.77
006 1.30 21.3 |10.13| 383| 8.84 33.4 763 | 28.8 2.40 1.78 1428 | 10.64 | 23.79 | 17.74
008 1.61 26.4 12.55 474 11.26 42.6 10.05 37.9 2.54 1.89 17.11 12.75 28.75 21.43
010 2.08 341 16.22 61.3| 14.93 56.4 13.71 51.8 2.76 2.06 21.38 15.94 36.22 27.00
P1 012 2.26 37.1 17.64 66.7 | 16.35 61.8 15.14 57.2 2.84 2.11 23.05 17.18 39.14 29.18
014 2.81 46.0 21.88 82.7 | 20.59 77.8 19.37 73.2 3.09 2.30 27.99 20.87 47.78 35.62
015 3.08 50.5 23.99 90.7 | 22.83 86.3 21.56 81.5 3.21 2.40 30.30 22.60 51.36 38.30
017 3.56 58.3 27.73 | 104.8| 26.44 99.9 25.22 95.3 3.43 2.55 34.81 25.95 59.73 44.54
020 3.89 63.8 30.34 | 114.7 | 29.05 109.8 27.84 105.2 3.58 2.66 37.86 28.23 65.07 48.52
022 4.29 70.3 33.43 | 126.4| 32.14 1215 30.93 116.9 3.76 2.80 41.47 30.92 71.38 53.22
025" 4.84 793 | 37.71| 1425| 3642 | 137.6 3521 | 133.1 401 | 299 | 4646 | 3464 | 8012 | 59.74
028 "% 5.42 88.8 |42.23| 159.6| 40.94 | 154.7 40.32 | 1524 4.27 3.18 51.74 | 3858 | 76.73 | 57.22
031"%  6.10 100.0 |47.56 | 179.7| 46.27 | 174.9 4565 | 1725 4.58 3.41 57.95 | 43.21 | 86.06 | 64.17
p = 0 bar (0 psi) |p = 140 bar (2000 psi)| p = 300 bar (4350 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)p = 300 bar (4350 psi
B02 0.35 57 2.76 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.40
B03 0.60 9.8 4.66 17.6 4.23 15.9 3.70 14.0 0.85 0.63 6.24 4.65 12.93 10.25
B04 0.78 12.8 6.09 23.0 5.66 21.4 5.13 19.4 0.94 0.70 7.90 5.89 16.55 13.13
B05 0.97 15.9 7.56 28.6 713 26.9 6.60 25.0 1.02 0.76 9.62 717 20.29 16.12
B0O6 1.21 19.8 9.42 35.6 8.99 33.9 8.46 32.0 1.13 0.84 11.79 8.79 25.00 19.88
B0O7 1.37 22.5 10.70( 404 | 10.27 38.8 9.74 36.8 1.20 0.89 13.29 9.91 28.26 22.47
P2 B08 1.562 24.9 11.84| 447 11.41 43.1 10.88 411 1.27 0.94 14.62 10.90 31.15 24.78
B09 1.71 28.0 13.31 50.3| 12.87 48.6 12.35 47.0 1.36 1.01 16.35 12.19 34.92 27.77
B10 1.94 31.8 15.12| 57.2| 14.69 55.5 14.16 53.5 1.46 1.11 18.45 13.75 39.48 31.42
B11® 2.13 34.9 16.64| 629 | 16.19 61.2 15.68 59.3 1.55 1.15 20.17 15.04 43.22 32.22
B12 ¥ 2.50 40.9 19.50| 73.7| 19.07 72.1 18.54 70.1 1.72 1.28 2355 | 17.56 | 50.58 37.71
B14 ¥ 2.75 451 21.40| 80.8| 20.95 79.2 20.44 77.0 1.83 1.36 25.80 19.23 55.48 41.37
B15 3.05 50.0 |23.78| 89.8| 23.35 88.3 2288 | 86.5 1.97 1.47 2855 | 21.28 | 57.35 | 42.76

1) 025-028-031 = 2500 rpm max. 2) 028-031 = 210 bar (3000 psi) max. int
3) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

---- Not to use because internal leakage greater than 50 % theoretical flow.




HIGH PERFORMANCE VANE PUMP VT67DB

——Sever duty (VT67DBW only)——

*¢ VELJA

L

Modifications

Mounting W/connection variables
P1=1-1/4" P2=3/4" S=3"

UNC METRIC
11 M1
Seal class

1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

5 - keyed (no SAE)

75

70

65

60

Lp. Noise level {db(A)} 1m ISO 4412

55

(500) 2200

(450) 1980
(400)
(350) 1540
(300) 1320

(250) 1100

Load F in N (Lbs)

(200) 880

(150) 660

(100) 440

VT67DB W - 038 - BO8 1 R
Series- SAE C 2 bolts j
Mounting flange J744c m P2
severe duty shaft only
Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)
*014/B14 = 47.6 (2.90)  035/B35 = 111.0 (6.77)
017/B17 = 58.2 (3.55)  038/B38 = 120.3 (7.34)
020/B20 = 66.0 (4.03) 042/B42 = 136.0 (8.30)
024/B24 = 79.5 (4.85) 045/B45 = 145.7 (8.89)
028/B28 = 89.7 (5.47) 050/B50 = 158.0 (9.64)
031/B31 = 98.3 (6.00) 061/B61 = 190.5 (11.62)
*0'-  Uni - directionalB' - Bi - directional
Cam ring for "P2"
Volumetric displacement cm3/rev (in3/rev)
B02 = 5.7(0.35) B0O9 = 28.0 (1.71)
B03 = 9.8 (0.60) B10 = 31.8 (1.94)
B04 = 12.8 (0.78) B11 = 34.9 (2.13)
B05 = 15.9 (0.97) B12 = 40.9 (2.50)
BO6 = 19.8 (1.21) B14 = 45.1 (2.75)
B07 = 22.5(1.37) B15 = 50.0 (3.05)
B08 = 24.9 (1.52)
INTERNAL LEAKAGE ( TYPICAL)
CC A - 10 cSt
E 6022 24 cSt Pl
o Ve
O (7.0 28 ~
7
560 24 7
f= 7
@ (50) 20 ‘
(¢ s
[ 7
81(4.0) 16 _ PL
£
8o .
= s
©
£ (208 —
‘2(10)4 R P2
S e
o L =
0 35 70 105 140 175 210 240 275 300
(500)  (1000) (1500)  (2000)  (2500) (3000) (3500) (4000) ~ (4350)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
8 — n = 2400 rpm I
7| — —n=1800rpm (24 cSt)
6 n = 1200 rpm
— = = - — - — . _P1_
s =
4
= P1
£ 0 e — ==
< 2 P1 —
O ——
[7]
a0
o° 0 35 70 105 140 175 210 240
H (500)  (1000)  (1500)  (2000)  (2500) (3000) (3500)
g 5= — n = 2400 rpm [
o 4 | — —n=1800rpm (24 cSY)
n = 1200 rpm
3
2 pp_— - —
B el G
e
0 0 35 70 105 140 175 210 240 275 300

(500)  (1000) (1500)  (2000)

(2500) (3000) (3500) (4000)  (4350)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section

at its operating conditions.

1760 |—

(view on shaft end)
R - clockwise
L - counter-clockwise

Type of shaft

1 - keyed (SAE C)

2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (no SAE)

NOISE LEVEL ( TYPICAL)
VT67DB- 038-B04

Inlet pressure 0.9 bar abs ~
—
Viscosity 32 cSt P
n = 1200 RPM -7
- — — n=1800 RPM -
Lw = Lp + 8db (A) —
r g /
-
— — /
_ -
~ _ -
-
10 50 100 140 170 210 240
(145) (725) (1500) (2000) (2500) (3000) (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

. _|[Fa
Shaft keyed N° 1

600 1000 1200 1500 2500

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)

1800 2000



*¢ VELJAN

7/16-14 UNCx0.88 DEEP- 4 HOLES
5/8-11 UNCx1.12 DEEP 4 HOLES (M12x22.3 DEEP)

(M16x28.4 DEEP! 0.62 288 VT67DBW
X . 3.28
(15.7) (73.2) 217 - (83.3)
0.874 26;3‘:)1 1,188 0.31 0.31 (55.2) .
(22.2) (62.0) (30.2) (]| (79 (7.9) —— (07-%1)
} ' | g - 1.50 |KEY 0.313/0.311 F IR
lC ' S ' 1 (38.1) (7.95/7.89) 1.93 (7.95/7.89)
iF | 4 ‘ ‘ (48.9)
0.0 © 9 A
EG.,, | R gf— -lHl- — - — @a I — — & <
ool e : i
0/ © s % 0.09x45° N9 %
ﬂ i / [ IR 2o (2.3x45°%) i ;; s
‘ ‘ 0.09x45° S EI 32 o
e B I=3 0
2075 | /' o300/ | o125/ | [ (23w b o2 A8
(19.05) (76.2) (31.8) - 3 Shaft code 3 Shaft code 4 M8x0.63 DEEP/ S|
i i 16.0)
: : Shaft code 2 SAE C splined shaft no SAE splined shaft (
3/8-16 UNCx0.75 DEEP-4 HOLES (Keyod o SAE) Class 1-J498b Class 1-J498b Shaft code 5
(M10x19.0 DEEP) 12/24 Dp. 14 Teeth 12/24 Dp. 14 Teeth (keyed no SAE)
30° Pressure angle 30° Pressure angle
11.26 3.29 Flat root side fit Flat root side fit
(286.0) (83.6)
4.31 4.50 1.50 0.50 (3'13263)
. 114.3 . 12.7
(109.5) (114.3) (38.1) (12.7) 7.125
0.31 (181.0)
7.9 1] 5,25 max KEY 0.313/0.311 ?ég.esa)
/k ‘ 635 (7.95/7.89)
| [ ™ /
— = _ 194 M10x0.79 DEEP =
3% |H 32 @9.3) 20.0) _ Qs ! :
Qs |0 4 @ ) (it
7 e O [ A
1 i e A — - —a3 qs o5 {Q - — €
SICS] A U
N 0.09%45° 25 % 8|8 | -
e \E @3xa50 % £ - = ‘ S
32 o N =
£ gL ols
0.05x45° - 5 —2
MOUNTING TORQUE 50 ftlbs (1.3x45°) Slied Shaft torque limits in3/revxpsi(ml/revxbar)
(68 Nim) Shaft code 1 Shaft Vp xp max. (P1+P2)
(Keyed SAE C) 1 38299 (43240)

MOUNTING TORQUE 138 ft.Ibs 2 30638 (34590)
(187 Nm) 3 54207 (61200)
4 54207 (61200)
5 49247 (55600)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi) p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
port in3rev_| cmdrev | gpm Ipn) _gpm Ipm gpm Ipm hp kw hp kw hp kw
014 2.90 476 | 2264 | 85.0/ 20.46 77.4 18.8 7141 4.02 | 299 29.31 21.85 49.34 36.79
017 3.55 58.2 23.1 87.3 20.6 78.0 18.99 71.8 3.35 25 29.77 22.2 49.62 37.0
020 4.03 66.0 |31.39 |11.8.6] 29.29 101.4 27.57 104.2 453 | 3.38 39.52 29.47 67.21 50.11
024 4.85 79.5 37.81| 142.8| 35.63 134.6 33.99 128.5 491 | 3.66 47.02 35.06 80.32 59.89
028 5.47 89.7 | 4266 | 161.3] 40.48 153.0 38.84 146.8 519 | 3.87 52.68 39.28 90.23 67.28
031 6.00 98.3 | 46.75 | 176.7| 44.57 168.5 42.93 162.3 543 | 4.09 57.45 42.84 98.58 73.51
P1 035 6.77 111.0 | 52.79 | 199.6] 50.61 191.3 48.97 184.1 5.78 4.31 64.50 48.09 110.91 82.70
038 7.34 120.3 57.21| 216.3| 55.03 208.1 53.39 201.8 6.04 | 4.50 69.66 51.94 111.94 83.47
042V 8.30 136.0 |64.68 | 244.5| 6250 | 236.3 | 60.86 | 230.1 6.47 | 4.83 | 7837 | 58.44 135.19 | 100.81
045" 8.89 145.7 69.29 | 261.9 67.11 253.7 65.47 2475 6.74 5.02 83.75 62.45 144.61 |107.83
050 2| 9.64 158.0 7514 | 2841 72.96 275.8 71.78 271.3 7.08 5.27 90.58 67.54 134.54 |100.32
061 %2 | 11.62 190.4 75.6 | 285.8] 73.54 278.0 - - 7.37 | 5.50 97.49 72.69 - -
p = 0 bar (0 psi)|p = 140 bar (2000 psi)|p = 300 bar (4350 psi) p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 300 bar (4350 psi),
B02 0.35 5.8 2.76 10.4 2.33 8.8 1.80 6.8 0.74 | 0.55 4.02 2.99 8.10 6.40
B03 0.60 9.8 4.66 17.6 4.23 15.9 3.70 14.0 0.85 | 0.63 6.24 4.65 12.93 10.25
B04 0.78 12.8 6.09 | 23.0 5.66 21.4 5.13 19.4 0.94 | 0.70 7.90 5.89 16.55 13.13
B05 0.97 15.9 7.56 | 28.6 7.13 26.9 6.60 25.0 1.02 | 0.76 9.62 7.17 20.29 16.12
B06 1.21 19.8 942 | 356 8.99 33.9 8.46 32.0 113 | 0.84 11.79 8.79 25.00 19.88
B07 1.37 22.5 10.70 40.4| 10.27 38.8 9.74 36.8 1.20 0.89 13.29 9.91 28.26 22.47
P2 B08 1.52 24.9 11.84 447 11.41 43.1 10.88 411 1.27 0.94 14.62 10.90 31.15 24.78
B09 1.71 28.0 13.31| 50.3| 12.87 48.6 12.35 47.0 1.36 1.01 16.35 12.19 34.92 27.77
B10 1.94 31.8 | 1512 | 57.2| 14.69 55.5 14.16 53.5 1.46 1.11 18.45 13.75 39.48 31.42
B119 2.13 34.9 16.64 62.9| 16.19 61.2 15.68 59.3 1.55 1.15 20.17 15.04 43.22 32.22
B12% 2.50 40.9 19.50 73.7| 19.07 721 18.54 701 1.72 1.28 23.55 17.56 50.58 37.71
B144 2.75 451 |21.40 | 80.8 20.95 79.2 20.44 77.0 1.83 | 1.36 25.80 19.23 55.48 41.37
B15* 3.05 50.0 | 23.78 | 89.8] 23.35 88.3 22.88 86.5 1.97 | 1.47 28.55 21.28 57.35 42.76

1) 042-045-050-061=2200 RPM max. 2) 050=210 bar (3000 psi) max. int, 3) 061 = 120 bar (1740 psi) max. int, 061 = 80 bar (1160 psi) cont.
4) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm




HIGH PERFORMANCE VANE PUMP VT67EB

*¢ VELJA

VT67EB - 066 - B08 *1* R 99 - A 1 M1 -
Series- SAE C 2 bolts m ng L Modifications
Mounting flange J744c Mounting W/connection variables
Cam ring for "P1" P1=1-1/2" P2=3/4" S=3-1/2"
Volumetric displacement cm3/rev (in3/rev) UNC METRIC
042 = 132.3 (8.07) 062 = 196.7 (12.00) 01 M1
045 = 142.4 (8.69) 066 = 213.3 (13.02)
050 = 158.5 (9.67) 072 = 227.1 (13.86) Seal class
052 = 164.8 (10.06) 085 =269.8 (16.46) 1-S1 (for mineral oil)
057 = 180.7 (11.02) 4 - 84 (for fire resistant fluids)
Cam ring for "P2" 5 - 85 (for mineral oil and fire resistant fluids)
Volumetric displacement cm3/rev (in3/rev) Design letter
B02 = 5.7(0.35) B09 = 28.0 (1.71) . -
B03 = 9.8 (0.60) B10 = 31.8 (1.94) Porting combination (see page BM-1-5)
BO4 = 12.8 (0.78) B11 = 349 (2.13) 00 - standard
BO5 = 15.9 (0.97) B12 = 40.9 (2.50) Direction of rotation
B06 = 19.8 (1.21) B14 = 45.1 (2.75) (view on shaft end)
B07 = 22.5(1.37) B15 = 50.0 (3.05) R - clockwise
B08 = 24.9 (1.52) L - counter-clockwise
Type of shaft
1 - keyed (SAE CC)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (SAE CC)
NOISE LEVEL ( TYPICAL)
o0 INTERNAL LEAKAGE ( TYPICAL) . VT67EB- 050-B03
.0) 36
- — — 10cSt p o Inlet pressure 0.9 bar abs
ACES 24 cst P1 by Viscosity 32 cSt
s - < n = 1200 RPM
G (7.0 28 s Q . -~ — n=ts0ReM -
c 4 = Lw = Lp + 8 db (A) =
8602 - E 77
£ s - -
@ (5.0) 50 d < -
(4 v P1_~ g e =
() 7 - N
3(4.0) 16 P %‘ /
X a > /
S6or 2 /
5 pid 3 e
£ (20 g — 5 ——
2 v 7 P2 _——— =z
£ (104 —=—r=T — [
s - —F7 | -
0 == 55
0 35 70 105 140 175 210 240 275 300 10 50 100 140 170 210 240
(500)  (1000) (1500) ~ (2000)  (2500) (3000) (3500) (4000) (4350) (145) (725) (1500) (2000) (2500) (3000) (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)
8

- — n =2200 rpm [
7 |- — —n=1800rpm (24 cSt)
6 n = 1200 rpm | P L
s — 1T ° N I (500) 2200
L
I I A . W (450) 1980
3 ——
= 2 (400)
; 1 i
g 2
o =1 (350) 1540
0 =
o 0 35 70 105 140 175 210 240 =
a (500)  (1000)  (1500)  (2000)  (2500)  (3000) (3500) S (300) 1320
g . £
= w
= _
5 - — n=2200rpm S
2 4 -——n=1800rpm (24cSt) g (250) 1100
° -
S n = 1200 rppm 4
3 (200) 880
2
oLk — - [— T T (150) 660
; e P2_ L —————"7T
== 100) 440
o :;_::J// P2 (100)
0 35 70 105 140 175 210 240 275 300

(500) (1000) (1500) (2000) (2500) (3000)
Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section

at its operating conditions.

(3500)  (4000)  (4350)

1760 —

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed N° 1

600 1000 1200 1500 1800 2000 2500

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



*¢ VELJAN

1/2-13 UNCx0.92 DEEP-4 HOLES
(M12x23.4 DEEP)

3/8-16 UNCx0.75 DEEP 0.69 244 2.20 245

(M10x19.0 DEEP)4 HOLES 275 (17.5) (61.9) (55.9) (62.2)

(69.8) 1.406 0.31 0.31 0.31

0.874 (7.9)
(22) | (35.7) = (7.9) ) )|

‘ o 1.50
~38.1) | KEY 0.313/0.311 1.50 1.24
| ﬁ (3? (7.95//7.89) % (38.1) (31.5)
— - — aq- ,{ < _—_—C E HI———=
25 3 Hi 0.09x45° HJ 0.09x45°
e = (2.3x45°) (2.3x45°)
| Q [}
‘ ooouse || Bl 8a
‘ | (2.3x45° s T
‘M — Shaft code 3 — Shaft code 4
(19.05) (889) (@8.1) Shaft code 2 SAE C splined shaft SAE CC splined shaft
_ Y (Keyed non SAE) Class 1-J498b Class 1-J498b
56 11(:\],"\1‘2:21;56 SEEE)“' HOLES 12/24 dp. 14 teeth 12/24 dp. 17 teeth
’ 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9)
5.38 ) 4.665 __2.06 0.50
(136.7) | (118.5) (52.3) (12.7)
| ! | (‘7’-3)1 0.25 MAX. KEY 0.375/0.373
‘ ! o 6.35) (9.52/9.47)
1 . 2.00 M10x0.79 DEEP
_ j— "(50.8)" / (200)
PR ol ol T
— o .
35 |4 S £H] S
N | o|D
: ~ 2lg
E-—F-—-4-—- —H-—--= — -] —f—{:::—:/ §$ gi= -
- 85 g
o|lN — wIN ols
S| o|® —_ . Q|+~ ©
Je \g ] — 88 % - 8=
=8 =~
E \ Sle g
SRR v o9
0.09x45° | gl ~'~
(2.3x45°)
MOUNTING TORQUE 50 ft.Ibs 0.05x45° Shaft code 1 MOUNTING TORQUE 138 ft.Ibs
(68 Nm) “Aaxas0) (Keyed SAE CC) (187 Nm)
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm |
ort Series| Displacement VP p = 0 bar (0 psi)| p = 140 bar (2000 psi) p = 240 bar (3500 psi)| p = 7 bar (100 psi)p = 140 bar (2000 psi)J_p = 240 bar (3500 psi)|
P in3/rev | cm3rev | gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
042 8.07 132.3 62.92 | 237.8 60.37 228.2 58.52 | 221.2 8.09 6.03 78.44 58.49 | 133.80 99.78
045 8.69 142.4 67.72| 256.0 65.17 246.3 63.32 | 239.4 8.37 6.24 84.04 62.67 | 143.60 | 107.08
050 9.67 158.5 75.38 | 285.0 72.83 275.3 70.98 | 268.3 8.82 6.58 92.97 69.30 | 159.24 118.7
052 10.06 164.8 78.37 | 296.2| 75.82 | 286.3 73.97 | 279.6 899 | 6.70 96.47 | 71.94 | 165.36 | 121.31
P1 057 11.02 180.7 71.70 | 325.3 69.07 261.1 80.63 | 304.8 9.40 7.00 114.30 85.14 [ 172.10 [128.30
062 12.00 196.7 93.54 | 353.6 90.99 344.0 89.14 | 337.0 9.88 7.36 11417 84.00 | 196.34 146.41
066 13.02 213.3 101.44 | 383.4 98.89 373.8 97.04 | 366.8 10.34 7.71 123.38 92.01 | 212.46 | 158.43
072 13.86 2271 108.00 | 408.2| 105.45 400.0 103.60 | 391.6 10.72 8.00 131.04 97.72 | 225.86 | 168.42
085"?| 1640 | 268.7 |127.08| 483.0| 126.13 | 4767 - - 11.66 | 870 | 87.56 | 65.30 - -
p = 0 bar (0 psi)| p = 140 bar (2000 psi} p = 300 bar (4350 psi)| p = 7 bar (100 psi)p = 140 bar (2000 psi)[p = 300 bar (4350 psi)
B02 0.35 5.7 2.76| 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.40
B03 0.60 9.8 466| 176 4.23 15.9 3.70 14.0 0.85 0.63 6.24 4.65 12.93 10.25
B04 0.78 12.8 6.09| 23.0 5.66 21.4 5.13 19.4 0.94 0.70 7.90 5.89 16.55 13.13
B0O5 0.97 15.9 7.56| 28.6 713 26.9 6.60 25.0 1.02 0.76 9.62 717 20.29 16.12
B06 1.21 19.8 942| 35.6 8.99 33.9 8.46 32.0 1.13 0.84 11.79 8.79 25.00 19.88
BO7 1.37 225 10.70| 40.4| 10.27 38.8 9.74 36.8 1.20 | 0.89 13.29 991 | 28.26 22.47
P2 B08 1.52 24.9 11.84| 447 11.41 43.1 10.88 41.1 1.27 | 0.94 1462 | 1090 | 31.15 24.78
B09 1.71 28.0 13.31| 50.3| 1287 48.6 12.35 47.0 1.36 1.01 16.35 | 1219 | 34.92 27.77
B10 1.94 31.8 15.12| 57.2 14.69 55.5 14.16 53.5 1.46 1.11 18.45 13.75 39.48 31.42
B11 Y 2.13 34.9 16.64| 62.9| 16.19 61.2 15.68 59.3 1.55 1.15 20.17 | 15.04 | 43.22 32.22
B12 ¥ 2.50 40.9 1950 | 73.7| 19.07 72.1 18.54 70.1 172 | 1.28 23.55 | 17.56 | 50.58 37.71
B14¥ | 275 45.1 21.40| 80.8| 20.95 79.2 20.44 | 77.0 1.83 | 1.36 25.80 | 19.23 | 55.48 | 41.37
B15 ¥ 3.05 50.0 23.78| 89.8 23.35 88.3 22.88 86.5 1.97 1.47 28.55 21.28 57.35 42.76

1) 085 = 2000 RPM max. 2) 085=75 bar (1087 psi)cont. 085=90 bar (1300 psi) max. int.
3) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm




HIGH PERFORMANCE VANE PUMP VT67EC

*¢ VELJA

VI67EC - 062-010 1 R 00 - A 1 00-*
Series-SAE C 2 bolts j m % L Modifications
Mounting flange J744c Mounting W/connection variables
Cam ring for "P1" 4 bolts SAE flange J518
Volumetric displacement cm® /rev (in® /rev)
= 140 = 140
042 = 132.2 (8.07) 057 = 183.2 (11.18) P1. 1% & §=3%
045 = 142.5 (8.70) 062 = 196.6 (12.00) TYPE Metric thread UNC thread
050 = 158.5 (9.67) 066 = 213.0 (13.00) CODE | Mo M 00 4l
052 = 163.8 (10.00) 072 = 227.1 (13.86) P2 1 3/ 1 3
054 = 170.9 (10.43) 085 = 268.7 (16.40) Seal class
Cam ring for "P2" 1-81 (for mineral oil)
Volumetric displacement cm® /rev (in® /rev) 4 - 84 (for fire resistant fluids)
003 = 10.8 (0.66) 015 = 50.5 (3.08) 5 - S5 (for mineral oil and fire
005 = 17.2 (1.05) 017 = 58.3 (3.56) resistant fluids)
006 = 21.3 (1.30) 020 = 63.8 (3.89) Desian lett
008 = 26.4 (1.61) 022 = 70.3 (4.29) ~—————————————— Design letter
010 = 34.1 (2.08) 025 = 79.3 (4.84) Porting combination (see page BM-1-5)
012 = 37.1 (2.26) 028 = 88.8 (5.42) 00 - standard
014 = 46.0 (2.81) 031 = 100.0 (6.10)
Type of shaft Direction of rolatl . haft end
1 - keyed (SAE CO) irec |on. of rotation (view on shaft end)
2 - keyed (no SAE) R - clockwise .
3 - splined (SAE C) L - counter-clockwise
4 - splined (SAE CC)
NOISE LEVEL ( TYPICAL)
INTERNAL LEAKAGE ( TYPICAL
( ) VT67EC- 050-022
(9.0) 36 80
"""""" 10 cSt _ o~ Inlet pressure 0.9 bar abs
T —— 248t P1 b Viscosity 32 ¢St
8. (7.5) 30 by n=1200RPM | | |
S S _| |- n=1800RPM | | L
€ 2 75 Lw=Lp + 8db (A)
8 6024 E 0
£ ; ________________ /
s P2 < | T ]
CORE S 0
=3 3 T -
&“ / P1 ° /
S (30) 12 H
= P2 o /
] = 8 65
c L 2
5 09 6 /y‘, - S
< e .
. 7 5
0 60
0 35 70 105 140 175 210 240 275 0 35 70 100 140 170 210 240
(500) (1000) (1500)  (2000) (2500) (3000) (3500) (4000) (500)  (1000)  (1500) (2000)  (2500)  (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow. at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS PICAL,
a ) PERMISSIBLE RADIAL LOAD
L pr— n = 2200 rpm
7 | ====ee=---n = 1800 rpm (24 cSt)
n = 1200 rpm
6 - =
5 (500) 2200 L
. F
(450) 1980 |
3 Fa
g 2 g (400) 1760 |~ Shaft keyed N° 1
< =
£ o Z  (350) 1540
@ 0 35 70 105 140 175 210 240 i
o (500) (1000) (1500) (2000) (2500) (3000) (3500) < (300) 1320
3 5 ]
------- = 2200 4
§ 4 | : = 1800 :E: (24 cSY) (250) 1100
n = 1200 rpm
3 (200) 880
2 (150) 660
1
(100) 440
0
0 35 70 105 140 175 210 240 275 300 600 1000 1400 1800 2200
(500) (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section
at its operating conditions.

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)



HIGH PERFORMANCE VANE PUMP VT67EC

1/2-13 UNCx0.92 DEEP-4 HOLES
(M12x24 DEEP)

2.44

*¢ VELJA

3/8-16 UNCx0.75 DEEP 075 (1'7.5) 619 2.23 245
(M10x19.0 DEEP) 69.8) 1.41 0.31 (55.9) 031 (62.2)
4 HOLES 1.03 1.38 07 (35.8) (7.9) 0.31 (7' )
0.52 (26.1) 35.0) (17.8) | @9 R
13.2) L |
- 1.50
ol 38.1) KEY 0.318/0.311 1.50 1312:
8|5 AT A (7.95/7.89) (38.1) (81.5)
=S < ﬁ /
o|® o {
S8 I AN il =n 5
O o .09x45°
O ) S | oovus 0.09x
§ g Z|e (2.3x45°) (2.3x45°)
B 00oxes | o =Y
|VA— P R ]
@ 150 ko 8l ” ~ Shaft code 3 Shaft code 4
(88.9) (38.1) SAE C splined shaft SAE CC splined shaft
Class 1-J498b Class 1-J498b
5/8-11 UNCx1.16 DEEP-4 HOLES Shaft code 2 12/24 dp. 14 testh 16/32 dp. 17 testh
(M16x30 DEEP) (Keyed non SAE) 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9)
5.38 4.67 2.06 0.50 8.39
(136.7) [ (118.5) (52.3) (12.7) (213.0)
0.31 7.12
7.9 (181.0)
@9 0.25 MAX. KEY 0.375/0.373 3.56
(6.35) (9.52/9.47) | (90.4) |
2.00 M10x0.79 DEEP I 0
3— 50.8) (20.0) @ 7o
e 3|3 5lE A7 NN
SIS H <= 2| @
Q|8 = °1Z L/ 2|8 ;
- N : ole ¢ 7N \/
g | E— S 5
R ~ 9 H 4
N 8= g U\ \)
o|N —~ Q| / o =
Sls  \§ 3@ ©|0
ol Y| 0 o~
f T i 3l . or———7y °°
18 ¥e % S
0.09x45° S|o =l
2.5 ~ 3|z 8|2 MOUNTING TORQUE 138 ft.Ibs
MOUNTING TORQUE 59 ft.Ibs 0.05x45° i gle = (187 Nm)
(80 Nm) (1.3x459) Shaft code 1 Shaft torque limits in’/rev x psi (ml/rev x bar)
(Keyed SAE CC) Shaft Vp x p max. (P1+P2)
1 64039 (72306)
2 30638 (34590)
3 54207 (61200)
. 4 67582 (76376)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
P Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
’i?:'e Series | Displacement Vp [p = 0 bar (0 psi) | p = 140 bar (2000 psi) | p = 240 bar (3500 psi) |p = 7 bar (100 psi)p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
in’/rev cm’/rev gpm Ipm gpm Ipm gpm lpm hp kw hp kw hp kw
042 8.07 132.2 62.92 | 237.8 60.37 228.2 | 58.52 221.2 8.09 6.03 78.44 58.49 133.80 | 99.77
045 8.70 142.5 67.72 | 255.9 | 65.17 | 246.3 | 63.32 |239.3 8.37 6.24 | 84.04 | 62.66 | 143.60 [107.08
050 9.67 158.5 75.38 | 284.9 72.83 275.3 | 70.98 268.3 8.82 6.58 92.97 69.32 159.24 [118.75
052 10.00 163.8 78.37 | 296.2 75.82 286.6 | 73.97 279.6 8.99 6.70 96.47 71.94 165.36 |123.31
P1 054 10.43 170.9 81.27 | 307.2 | 78.72 | 297.6 | 76.87 |290.6 9.17 6.84 | 99.75 | 74.38 | 177.46 [132.33
057 11.18 183.2 87.12 | 329.3 84.57 319.7 | 82.72 312.7 9.51 7.09 |[106.57 | 79.47 189.84 [141.56
062 12.00 196.6 93.54 | 353.6 90.99 343.9 | 89.14 336.9 9.88 7.37 |114.17 | 85.13 196.34 [146.41
066 13.00 213.0 101.44 | 383.4 98.89 373.8 | 97.04 366.8 10.34 7.71 123.38 | 92.01 212.46 [158.43
072 13.86 227.1 108.00 | 408.2 | 105.45| 398.6 | 103.60 | 391.6 10.72 7.99 [131.04 | 97.71 225.86 [166.42
085"%| 16.40 268.7  |127.79 | 483.0 | 126.13 | 4767 - - 11.88 | 8.85 |101.66 | 75.80 - -
p = 0 bar (0 psi) | p = 140 bar (2000 psi) | p = 275 bar (4000 psi) |p = 7 bar (100 psi)|p = 140 bar (2000 psi)| p = 275 bar (4000 psi)
003 0.66 10.8 5.14 19.6 3.85 14.6 - - 2.11 1.57 8.45 6.30 - -
005 1.05 17.2 8.18 30.9 6.89 26.0 5.68 215 2.29 1.70 12.00 8.94 19.81 14.77
006 1.30 21.3 10.13 | 38.3 8.84 33.4 7.63 28.8 2.40 1.78 14.28 10.64 23.79 | 17.74
008 1.61 26.4 1255 | 47.4 11.26 42.6 10.05 379 2.54 1.89 17.11 12.75 28.75 | 21.43
010 2.08 34.1 16.22 | 61.3 14.93 56.4 13.71 51.8 2.76 2.06 21.38 15.94 36.22 | 27.00
012 2.26 37.1 17.64 | 66.7 16.35 61.8 15.14 57.2 2.84 2.11 23.05 17.18 39.14 | 29.18
P2 014 2.81 46.0 21.88 | 82.7 20.59 77.8 19.37 73.2 3.09 2.30 27.99 20.87 47.78 | 35.62
015 3.08 50.5 23.99 | 90.7 22.83 86.3 21.56 81.5 3.21 2.40 30.30 22.60 51.36 | 38.30
017 3.56 58.3 27.73 | 104.8 26.44 99.9 25.22 95.3 3.43 2.55 34.81 25.95 59.73 | 44.54
020 3.89 63.8 30.34 | 114.7 29.05 109.8 27.84 105.2 3.58 2.66 37.86 28.23 65.07 | 48.52
022 R 4.29 70.3 3343 | 1264 | 32.14 121.5 30.93 116.9 3.76 2.80 41.47 30.92 71.38 | 53.22
025%%|  4.84 79.3 37.71 | 1425 | 36.42 | 137.6 | 3521 | 133.1 | 4.01 299 | 46.46 | 34.64 | 80.12 |59.74
028%%| 542 88.8 4223 | 159.6 | 40.94 | 154.7 | 40.32 | 1524 | 427 3.18 | 51.74 | 3858 | 76.73 |57.22
031*?]  6.10 100.0 | 47.56 | 179.7 | 46.27 | 1749 | 45.65 | 1725 | 458 | 341 |57.95 |43.21 | 86.06 | 64.17

1) 085 = 90 bar (1300 psi) max . int

2) 085 = 2000 RPM max.

5) 025 = 240 bar max. int, 6) 028-031 = 210 bar max. int,

3) 025-028-031 = 2500 R.PM. max.

4) 022= 275 bar max. int,

-- Not recommended to use as the internal leakage is over 50 of theoretical flow.



	Button5: 
	Button11: 


